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BIEE 3
SMLBRA 2 ¥ A (BREFZ2%RE)

<Taml version="1,0" encoding="UTF-8"7>
CHCCT_TNZ001004VD1 ITSVersion="XML_L. 0" xsi:schemalocation="urn:h17-org:v3d MCCI_IN200100UVOL, xsd” xmins="urn:hl7-org!v3” xmlne:xsi="http://wwe. wd. org/
2001/ Schema-instance ™) ’
(id extension="N. 1. 2" root="2.16,840. 1, 113863, 3. 980. 2, 1. 3.28"/>
(b N 1.2 Bateh Number —»
{creationTime value="201012141516177/>
<=~ N.1.5: Date of Batch Transmission —>
{respenseModeCode code="D"/>
Cinteractionld extension="HCCI_IN200100UVO1” root="2. 16. 8B40, 1, 113883.1.67/> .
<name code="N. 1, 1" codeSystem="2. 16.840. 1. 113883, 3,980, 2, L. 1. t"/>
l=- N, 1, 1: Type of Hessages ib Batch —->
|- Message #1 —>
<PORR_INO4SG16UY> R
<id extension="N, 2.r. 17 root="2. 16. 840, 1. 113883.3.988.2. 1.3.1"/>
(e N, 2ox, t: Message Identifier -=>
(oreationTime value="20101214161617"/>
{1-- N.2,r.4: Date of Message Creation —>
<interactionld extension="PORR.IND49016LY" root="2. 16.840. {. 113883.1.6"/>
{processingCode code="P"/>
<processingModeCode code="T"/>
{acceptAckCode code="AL"/>
{receiver typeCode="RCV">
<device classCade="DEV” determinerCode="INSTANCE™>
<id extension="N. L. r. 3" root="2. 15, 840.1. 113883. 3. 580, 2. 1. 3. 12 7
Clom N 2. 1030 Message Rece:lver !dennfzer —
{/device>
<{freceiver?
¢sender typeCode="SND™>
(device classCode="DEV” determinerCode=" INSTANCE™>
¢id extension="N. 2.1.2" root="2.16. 840. 1. 113883, 3,989, 2, 1. 3. 11"/>
¢|-— M. 2.r.2° Message Sender Identifier —>
/device>
</sender>
leontrolActProcess classCode="CACT” moodCode="EVYN™>
¢oode codes PORR_TEO49016UV" codeSystem="2, }6. 840. 1. 113883, 1. 187/>
¢l BLT Trigger Event 1D ——>
{effectiveTime value="201012143516177/>
¢1= C.1,2: Date of Creation —>
{subject typeCode="SUBJ">
(investigationBvent ¢lagsCode="INVSTG" meodCode="EV¥N™>
¢id extension="C. 1, 1”7 root="2, 16,840, 1. 113883.3.989.2. 1.3, 1"/>
(== ¢ 1.1 Sender’s {case) Safety Report Unique Identifier —>
(id extension="C. 1. 8. 17 root="2.16.840.1.113883.3.989,2.1.3.2"/"
A= £, 1,8 11 Torldwide Unique Case fdentiffcation Number ——2
id extension="J2. 1b” root="2. 16.840, 1. 113883, 3,985.5, 1.3.2.3. 17/>
- gaeye. 1b: WMEUES (BH) >
<eode code="PAT_ADV_EVNT" codeSysten="2. 16, 840, 1. 113883.5.4"/>
Ctent . 1¢/text>
<I-- H. 1! Case Narrative Including C]xmcal Course, Therapeutic Measures, Qutcome and Addn}onal Reievant Infermation ——>
(statusCode code="active”/>
- 80872.7.1 BT, RETES —
(effectiveFime
<lew value="20090101"/>
¢I— €. 1.4 Date Report Was First Received from Source —>
{feffectiveTime>
CavailabilityTime value="20090101"/>
<l ¢, 1,5: Date of Most Recent Information for This Report ——
<reference typeCode="REFR™>
{doctment classCode="DOC” moodCode="EVN">
<code code="1" codeSysterw="2. 16, 840, 1, 113883, 3,089, 2. 1.-1, 27" displayNane="documentsieldBySender”/>
(citle>C. 1.6, L r. 13/title>
¢J~- €. L6, Lz 1! Documents Held by Sender (repeat as necessary) §1 -->
(toxt mediaType="application/pdf” representation="B64">C.1.6.1.r. 2</tuxt>
{l- . 1.6.1.r. 2! Included Documents #$i —> .
{/document?
{/reference>
<referehce typelode="REFR™>
<docunent classCode="DOC" moodCode="EVN">
<code code="1" codeSysten="2, 16,840, 1, 112883, 3.989. 2. 1. 1. 27" displayName="documentsHeldBySender”/>
<titlerC. 1 B. 1. r. 1</titler
¢l-— €. 1.6.1, 1. i* Documents Held by Sender (repeat ss necessary} #2 -3
<text mediaType="image/jpeg” representation="B64" compression="DF">C. L. 6. L. r. 2{/Textd
(I (1.6, 1.1.2: Included Documents #2 —>
</document>
</reference’



(reference typeCodes"REFR™>
<document classCode="DOC” moodCode="EVN">
{cade code="2" codeSysten="2. 16, 846¢. 1, 113883, 3. 989, 2. 1. 1. 27" displayNawe=" 11:eraturekeference >
<titlery2. 17, r</titiel .
¢t @@ETZ. 17. ¢ BER /RO #1
{text mediaType="appiication/pdf” representation="B64">C. 4.r, 2{/text>
G £ 4.7 20 Ineluded Documents #I —>
¢bibliographicDesignationText>C. 4, r. i¢/bibliographicDesignationText>
{1—- {.4.1r.1: Literature Reference(s} #1 —>
<{participation typeCode="AHT
<assignedBntity classCode="ASSIGNED™>
¢regresentedOrganization classCode="ORG” determinerCode="INSTANCE™
<asLocatedBntity classCode="LOCE™
<location classCode="COUNIRY” determinerCode="INSTANCE™>
(oode code="J2.156. 2" codeSysten="1, 0, 3166.1.2.2"/>
i @RBT2. 16, r AFE M -
</location>
{/asLocatedEntity>
<{/representoddrganizationd
</assignedEntity?
{/participation?
</document>
<freference?
{reference typeCode="REFR™>
{document ¢lassCode="T0C" moodCode="EVN">
Ceode ecode="2" codeSystem="%, 16, 840, 1, 113883. 3. 989. 2 18277 dlsplayName— literstureReference” />
{titlerJ2 17, r</titler
<l 8087217y REB/HREOHE 2 —
<text mediaType="application/pdf” representation="B64">C. 4. r. 2</text>
U= C 4. r. 2t Included Documents #2 —>
<biblicgraphicDesignationText>C. 4. r. 1</bibliograpkiclesignationText>
<l—— C.4,7.1: Literature Reference{s) #2 -->
{participation typeCode="AUT">
{assignedBntity elassCode="ASSIGNED™>
{representedOrganization classCode="0RG™ determinerCode="INSTANCE™>
¢aslocatedintity clagsCode="LOCE™>
<location classCode="COUNTRY” daterminerCode="INSTANCE™>
{eode codo="J2. 15. 1" coadeSysten="1. 0. 3166. 1. 2. 27/>
1-- @8@72, 15. r AE #2
<{/location>
{/asLocatedBntity>
{/representedOrganizationd
</assignedBntity>
{/participation>
</ document>
{/referenced
(component typeCode="COMP™>
CadverseBventhssessment classCode="INVSTG” moodCode="RVN">
{subjectl typeCode="SBJ">
{primaryRole classCode="INVSB}">
<playerl classCode="PSN” determinerCode=" INSTANCE" >
<name>d, 1{/nane>
e Do Lt Patient (name or initials) -3
{administrativeGenderCode code="l) 5" codeSystem="1, 0.5218"/>
i DS Sex —>
<hirthTime value="204901017/>
{3 D, 2, 17 pate of Birth ——>
¢deceasedTime value="20090101"/>
{1-— D.9.1: Date of Death -—>
CasIdentifiedBntity classCodex”IDENT™>
<id extension="D. 1.1 17 root="2. 16, 840. 1. 113883, 3.985.2. 1,3, 7"/>
<t D.1.1.1: Patient Medical Record Number(s) and Source(s) of the Record Number (6P Medical Record Number} —->
Coode code="1" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. L. 1. 4* dlsplayName- GPT
{/asldentifiedBntity>
<asJdentifiedEntity classCode=”{DENT™>
<id extension="D. 1. 1. 2" roct="2. 16, 84C. L. 113888, 3.9892.2.1,3.8"/>
{3~ B:1.1. 2 Patient Medical Record Number(s) and Source(s) of the Record Mumber (Specialist Record Number} —>
Ceode code="2" codeSysten="2, 16, 840, 1. 113883, 3. 889, 2, 1. 1. 4" displayName="Specialist”/>
{/asIdentifiedBntity>
<asldentifiedEntity classCode="IDENT">
Cid extension="p.1.1.3" root="2. 16.840. §, 113883.3.989,2.1,3.9"/>
¢l— D. 1.1 3: Patient Medical Record Number(s) and Source{s} of the Record Number (Hespital Record Number} —>
Coode code="3" codeSysten="2. 16. 840. 1, 133883, 3. 089. 2. 1. 1. 4" 'dispiayNane="Hospital Record”/>
<{/asldentifiedEntity>
CasIdentifiedEntity classCode="IDENT">



<id extension="D. 1. 1. 4" root="2. 16, 840, 1. 113883. 3. 989. 2, 1. 3. 10 el
3 0, 1.1.4: Patient Medical Record Number(s) and Source{s} of the Record Number (Invest1gat10n Bugber) =~
{code code="4" codeSysten="2. 16. 840, 1. 113883, 3. 986. 2.1, 1. 4" displayName=" Investigation”/>
{/asidentifiedEntity>
{role classCode="PRS™>
(eode code= PRI codeSystem="2. 16. 840, 1, 113883. 5, 1117/>
<associatedPerson classCode="PSN” determlnerCode-”INSTANCF >
<name>D. 10. 1¢/name>
<i-— D, 10, §: Parent Identification —
CadwinistrativeGenderCode code="T), 10,8" codeSystem="1. 0. 5218"/>
¢i-- 9.10.6: Sex of Parent —3
<birthfiee value="200801017/>
¢l T, 10,2 1: Date of Birth of Parent —>
{/associntedPerson’
{subjeat0f2 typeCode="SBJ">
{chservation ¢lassCode="0BS" moodCode="EVN™>
Coode code="3" cadeSysten="Z. 16. 840, 1. 113883. 3. 989, 2. L. L. 19" displayName="age"/>
Cvalue xsiitype="PQ” value="10" wnit="D, 10.2.2b"/>
- D.10.2.2a: Age of Parent (pumber) —>
(#-~ B, 10.2.2b: hge of Parent f{uniz) —>
{/obgervation>
</subjectOf2>
{subjectOf2 typeCode="SBI">
{observation classCode="08S" moodCode="EVN">
Ceode code="23" codeSystem="2. 16. 840, 1. 113883, 3, 988, 2, 1. 1. 187 displayName=" lastMenstrualper1odDate”/)
<value xsi:type® T8” value="200801017/>
{l-- D, 10.3: Last Menstrual Period Date of Parent —>
<{fobservation>
{/subjectOf2>
{subjectf? typeCode="SB]">
{ohservation classCode="0BS" moodCode="EVN™>
Ceode code="T" codeSysten="2. 16, 840, 1. 113883, 3. 989, 2. 1. 1. 19" displaylame="bodyWeight"/>
Cvalue xsiitypes"PQ” vaiue="50" unit="kg"/>
<l== 1,10, 4: Body Weight (kg) of Pareamt ——>
¢{/observation> :
</subjoctOfZ>
{subject0f? typeCode="SB}">
lobservation classCode="0BS" moodCode="EVN™
Zeade code="1T" codeSysten="2, 16. 846. 1. 113883. 3.689. 2. 1, 1, 18" displayName="keight”/>
<value xsi:type="PQ” value="160" unit="cm"/>
¢l 1,10, 5: Height (em) of Parent ——>
</observation>
£/subject0f2>
<subjectOf2 typeCode="SBI">
{organizer classCode="CATEGORY” moodCode="BVN">
¢oade code="1" codeSysten="2, 16. B40. 1. 113883. 3. 688, 2. 1, 1. 20" displayName=" reievantMe&1caIH1atoryﬁn&ConcurrentCond1t1ons /7
{component typeCode="COMP”>
{observation c¢lassCode="0BS" moodCode="EVN™>
¢eode code="D, 10. 7. 1. 1b* codeSystem="2. 16. B4C. 1. 113883, 6. 163" codeSystenVersion="D. 10.7. L. r: ta"/>
(== D, 10. 7. L. r. la: MedDRA Version for Medical Histery 1 -—>
Zlew D, 30.7. 1. 1. 1h? Medical History (disease / surgical procedure/ etc.) {MedDRA code) #1 ->
<effectiveTime xsi:types"IVL_TS™>
(low value="200001017/>
{— D 10,7, 1. 21 Start Date #1 —>
Chigh values"2000031017/>
(iee BU10.T. Lor 4! End Date HL -
effectiveTime> )
(outboundRelationship2 typeCode="COMP™>
<observation ciassCode="085" moodCode="EVN">
(eode sode="18" codeSystem="2, 16, 840. 1. 113883.3.98%. 2. 1. 1, 18" displayName="comment”/>
Cvalue xsi:type="ED™OD, 10.7, 1. r. 6</value>
== D, $0. 7, L. r. 6 Comments #1 —>
</obgervation>
{/outboundRelationship2y
(inboundRelationship typeCode="REFR™>
<observation classCodes"0BS” moodCode="EVN">
<gode -code="13" codeSystem="2. 16. 840, {, 113883. 3.989. 2. 1. 1. 19” displayName="continuing™/>
(value xsiztype="BL" value="true”/>
r=0010.7. Lx. 80 Cont}nu1ng #1 >
</observat10n>
<{/inboundRelationship?
{/observation>
</component>
{component typeCode="COMP”>
(observation classCode="0BS" moodCode="EVN™> '



Zcode code="D, 10.7. 1. 7. 16" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystenVersion="D.10.7. 1. x. 1a"/>
Clem B 10, 7. L 1. 12t MedDRA Version for Medical Wistory #2 -
Cle D10 7.1 x. 1bt Medical History {disemse / surgical procedure/ etc.) {MedDRA code) #2 -->
<effectivelime xsi:itype="IVL_TS™>
Clow value="20080301"/>
== 0, 10,7, L 1. 21 Start Date 2 ——>
<high value="2009010:"/>
<t D, 10.7.1. r. 4: End Date #2 -2
</effectiveTime>
<outhoundRelationship? typeCode="COMP™>
{obsexrvation classCode="0BS”™ moodCode="EVN">
¢code code="10" codeSysten="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 19" displayName=" comment”/>
Cvalue xeiitype="ED">D, 10, 7. L. 1. 5¢/value>
A=~ D.10.7. 5, r. 6 Comments #2 —>
</observation>
</outhoundRelationship2>
<inboundRelationship typeCode="REFR™>
Cobservation classCode="0BS" moodCode="EVN™> | . .
Coode code="13" codeSystem="2. 16. 840, 1, 113883, 3. 980, 2. 1, 1. 19" displayNeme="continuing”/>
<value xsiitype="BL" value="true”/>
Qo= p.10.7. 1. £.30 Continuing #2 >
{/observation>
{/inhoundRelationship>
{/observation?
{/component>
{campenent typeCode="COMP™>
Lohservation classCode="0BS" moodCode=" EVN >
Coode code="18" codeSystem="2. 16. 840, 1. 113883, 3. 98¢, 2, 1. 1. 19" d1sp1ayName— hxstoryAndConcurrentCond1t&onText 12l
yalue xsi:type="ED">D, 10. 7. 2{/value>
<fem §,10.7.20 Text for Relevant Medical History and Concurrent Conditions of Parent -->
</observation’ ’
</component>
<ferganizer>
</subject0f2>
<stthjectOf2 typeCode="SB]">
{organizer ciassCode="CATEGORY” moodCode="EVN">
{ecode code="2" codeSystem="2. 16. 849, 1. 113883, 3, 889. 2. 1. 1. 20" displayName="drugHistory”/>
{companent typeCode="COMP™>
<eubstanceAdninistration classCode="SBADM" moodCode="EVN">
CeffectiveTime xsiitype="IVL_T8">
T {low value="20000101"/
(A== D, 16. 8.x. 4: Start Date #i ~->
<high value="200901017/>
(4o D.10.8.1. 50 Bnd Date #$1 >
Seffectivelime?
{consumable typeCode="CSH™>
<instanceOfKind classCode="INST">
¢kindOfProduct classCode="WHAT" determinerCode="KINI">
Ccode codes"D. 10. 8. r. 2b* codeSystem="TBD-MPID” codeSystemVersion="I. 10 8 r.2a"/>
¢l D10, 8.1, 222 MPID Version Date / Number #1 -—>
(e D, 1, &1, 2b° Medicinal Product Identifier (MPID) #1 —>
<{napel 10. 8. r. 1¢{/nams>
-~ D10 8. x. 1! Name of Drug ss Reported #1 >
kind0fProducty
<{/instanceCfKind>
</consumable>
<eutboundRelationship? typeCode="RSGH™>
<obgervation classCode="0BS" moodCode="EVN">
<code code="19" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19”7 &1spiayName— indication”/>
¢yalue xsi:type="CE" code="D, 10, 8.r.6b" codeSystem="% 16, 840, 1, 113883, 6, 163" codeSysten¥ersion="D. 10. 8, . 6a" />
¢}— D, 0. 8. r. Ga: MedDRA Version for Indication #1 —>
(i DL ED.B.x.6b Indication (MedDRA code} #1 —>
</observation> ’
</outhoundRelationship2>
<outhoundRelationship? typeCodes”CAUS™>
{observation clasaCode="0B3” moodCode="EVN">
Ceode ‘code="20" codeSystem="2. 16, 840, 1; 113883. 3.989. 2. 1: 1. 19" displayNeme="reaction”/>
<value xsiitype="CE” code="D. 10.8.1.7b” codeSystem="2. 16. 840. L. 113883, 8, 163" codeSystemVersion="f. 10.8. 1. 7a"/>
¢i— D 1008, 1. Tat WedBRA Yersion for Reaction #1 —
<l D, 10.8. 1, 7b: Reactions (MedDRA code) #i —>
{/chservation>
</outhoundRelationship2>
</substanceAdministration>
</oomponenty
{component typeCode="COMP™>



{substanceAdministration classCodé="SBADN” moodCode="EVN"2
. ¢effectivelime xsi:type="IVL 18"
" ow value="20080101°/>
¢i— D, 10,8 r. 4! Start Date #2 —>
<high value="20090101"/>
A D.10.8.1. 57 End Date B2 —>
<feffectiveTime>
{constwable typeCode="CSH™>
<instance0fKind classCode="INST">
<kind0fProduct: classCode="MMAT” determinerCode=" KIND"> ,
<code code="D, 10. 8. r. 3b" codeSysten="TBD-PhPID” codeSystemVersion=". 10. 8. 1. 3a"/>
<t D, 10.8. 1. 3a; PHPID Version Date / Number #2 -—>
Y D, 10.8. 1. 300 Pharmaceutical Product Identifier (PRPID) #2 —>
{name>D. 10, 8. x. 1{/name>
{l— B.10,8,r. 1: Name of Drug as Reported #2 —>
/kind0fProducty
</instance0fKind> '
{/consumabler
<outboundRelationship? typeCode="RSON™>
<observation classCode="0BS” moodCode="EVN">
Coode code="10" codoSystem="2. 16, 840, 1. 113883, 3.989. 2. 1, 1, 18" displayNemes”indication™/>
<value xsiitype="CE® code="D.10.8.r.6b" codeSystem="2.16. 840. i, 113883. 6. 163" codeSystemVersion="I. 10.8.r.6a"/>
3— D, i3 8. v. 627 MedDRA Version for Indication #2 —>
<i=~ D, 10,8 x,6b: Indication {MedDRA code) #2 ~>
{/observation?
{fouthoundRelationship2> :
<outboundRelationship? typeCode="CAUS™>
(observation classCode="0BS" meodCade="EVN">
Ccode code="29" codeSystewm="2. 16. 840, 1. 113883, 3, 989. 2. 1. 1. 19" displayName="reaction”/>
Cvalue xsitype="CE" code="D, 10.8,1.7h” codeSystem="2, 16. §40. 1. 113883, 6. 163" codeSystenVersion="D, 10. 8, r. Ta"/>
£~ D.10.8.x. Ta: MedDRA Version for Reaction #2 —D
<I— D.10.8 1. 76: Reactions (MedDRA code} #2 ~->
{/ohservation?
¢/outboundielationship2>
¢/substanceAdministration>
</compohent>
{/organizer>
</ sub jectOf 2>
{/role>
</playerl>
<subjectOf] typeCode="SBY™>
¢researchStudy classCode="CLNTRL" moodCode="EVN™>
¢id extension="C.5.3" root="2, 16.840. 1. 113883, 5.989. 2. 1.3.5"/>
<l €. 5.5 Sponsor Study Number ——>
Ceode code="C, 5.47 codeSysten="2. 16, 840, 1. 113863. 3. 98%. 2. 1. L. 8"/>
¢l-— €. 5.4 Study fype Where Reaction(s) / Event(s) Were Observed >
<titiedC. 5, 2</titler
4 00820 Study Nawe ——
Cauthorization typeCode="AUTH™
¢studyRegistration classCode="ACT" moodCode="EVN™>
<id extension="C, % 1.1.1" root="2.16.840. 1. 113883.3.989. 2. 1. 3.6"/>
d— £.8 1. r. 1! Study Registration Number #1I —>
Cauther typeGodes"AUT™> p
<territorialAuthority classCode="TERR">
<governingflace classCode="COUNTRY” determinerCode=" INSTANCE ¥
{code code="C. 5. L. r.2" codeSystem="}.0.3166.1.2.27/>
(i~ C. 5 L1.2! Study Registration Country #1 —>
</governingPlace>
{/terrviterialAuthority>
</author>
{/studyRegistration>
</authorization?
<authorization typeCode="AUTH">
{studyRegistration classCode="ACT" moodCode="EVN™>
Zid extension="C.5. 1. r. 1" root="2. 16.840. 1. 113883. 3. 988, 2. 1. 3.67/>
{l-- C. 5 t.r. 1 Study Registration Number #2 -
<author typeCodew AUT™>
CterritorialAuthority classCode="TERR™>
¢governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<cade code="C. 5. 1. 1. 2" codeSysten="L 0. 3186, 1. 2.27/>
{l— €. 1.y 2 Study Registration Country #2 -->
{/poverningPlace?
{/territorialAuthority>
{/author>
¢/studyRegistration?



</atthorization’
{/researchStudy>
</subjectOfi>
{subjectOf? typeCode="SBI™>
{observation classCode="08S" moodCode="EVN">
<code code="" codeSystem="2, 16,840, 1, 113883, 3,969, 2. 1. 1. 197 displayNaue="age”/>
Cvalue xeiltype="PQ” value="10" unit="D. 2. 2b"/>
¢t D, 2 221 Age at Time of Onset of Reaction / Event (number} -->
¢l D.2.2b: Age at Time of Onset of Resction / Event (unit) >
{/observation? )
</subject(f2)
<{subjectdf? typefode="SBI">
{ohservation classCode="0BS" woodCode="EYN">
Ccode code="18" codeSystem="%, 16, 840. 1, 113883. 3. 989, 2, 1. 1. 197 d1splayNamew gestationPeriod” />
(valte xsi:type="PQ” vaiue="10" unit="D. 2. 2. 1b"/>
¢f— D, 2.9 la: Gestation Periocd When Reaction / Bvent Was Observed in the Foetus (number) —>
<4~ D.2.%.1b: Gestation Period When Reaction / Event Was Observed in the Foetus (unit) —->
{/observation>
{/sul jectGF2>
{subjectOf2 typeCode=" SB_T >
{observation classCede="0BS" moodCode="EVN">
<oode code="4" codeSystem="2. 16. 84G. 1. 113883, 3,989, 2. 1. 1. 19" displayName="ageGroup”/>
<value xsiitype="CE” code="D. 2. 3" codeSystem="2. I5. 540. 1. 13884, 3,989.2. 1. 1.9"/>
¢l . 2.3: Patient Age Growp (as per reperter) —3>
{fohaervation
{/sub jectOf 2>
{subject0f? typeCode="SBI">
{observation classCode="0BS" moodCode="EVN">
{code code="7" codeSystem="2. 16, 840. 1. 113883, 3.980. 2, L. 1. 18" d1sp1ayNamav bodyWe1ght )
<value xsi:type="PQ” value="48.2" unit="kg"/>
<l D, 3: Body Weight (kg) -—
</observation '
</subject0f2>
CeubjectOf? typeCode="SB]">
(observation classCode="0BS™ moodCode="EVN™>
¢code code="17" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 18" displayName="height”/>
dyalue Xsiitype="PQ” value="152" unit="cm"/>.
{I— B. 4: Height {cm} —>
¢fobservationd
¢/sub jectOf2>
- dsubject0f2 typeCode= "SRI7Y
" (ebservation classCode="0BS" macdCode="EVN">
(oode code="22" codeSystem="2. 16. 840, 1. 113883, 2. 989. 2. 1. 1. 19" displayName=" lastMenstrualPerzedDate "/
<value xailtype="T5" value="200901017/>
¢1— 1,87 Last Menstrual Period Date ——>
{/observation>
/aubjectCf2>
{subject0f2 typeCode="SBI™>
<organizer classfode="CATEGORY” moodCode="BYN™
{eode code="1" codeSystem="2, 16. 840. 1. 113883, 3.989.2, [, 1. 20" displayName= relevanthadlca1H1storyAnanncurrent€ond1t1ons )
{gomponent tyhbeCode="COMP“>
Cobservation classCode="0BS" moodCode="EVN™>
Ccode code="D, 7. 1. v, Ib” codeSystem="2. 16. 840. 1. 313883, 6. 163" codeSystenVersion="D. 7. L r. La"/>
{1== D. 7.1 r. la’ MedDRA Version for Medical History #1 —>
- D, 7.1 v 1b Medical History {(disease / surgical procedare 7 ete, ) (MedDRA code) #1 -~
{effectiveTime xsi:type="{VL_T5">
<low value="20090101"/>
<lem 9. 7.1, 1. 20 Staxt Date #i —~>
Chigh value="26090101"7/>
<1-- 5,7, 1, r.4; End Date #i —>
{/effectiveTime>
<outhoundRelationship? typeCode=" COMF bl
<observation classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2. 16. 840, 1. 113883, 3,989, 2, L, 1, 197 displayName="comment /)
{value xsi:type="ED™D, 7.1 r 5</value?
<t D 1. 1.r. 57 Comments #1 —>
{/observation>.
<fouthoundReiationship2>
<outboundRelationship? typeCode="EXPL">
(observation classCode="0BS” meodCode="EVN">
Coode code="38" codeSystem="2. 16, 840, L. 113883, 3. 989, 2. 1. £, 19" displayName=" famllyHlstory Fad
(value xsiitype="BL" value="true”/>
T 7. . 1.6 Pamily History #I ——
¢/observation?
{foutboundReiationship2>



<inboundRelatichship typeCode="REFR™>
(observation classCode="0BS" moodCode="EVN™>
{eode code="13" codeSystem="2. 16, 840, 1. 113883, 3,980, 2. 1. £. 197 displayName="continuing”/>
<value xsi:type="8L" value="true”/> ‘
Ko B7 L p. 8 Contiming 1 —>
</observation?
</inboundRelationship>
{fobservationd
<{/component?
{companent typeCode="COMP™>
<observation classCode="0BS" moodCode=" EVN >
<code code="D. 7.1 ¥. 1b" codeSystem="2. 16, 8490, 1. 113883. 6. 163" codeSystenVersion="D. 7.1, r. 12"/>
(e D7 B r. 12t MedDRA Version for Medical Bistory #2 —
= D.7. 5 7. 1b: Medical history (disease / surgical procedure / ete.) (MedDRA code) #2 —>
<effectiveTine xsi:type="IVL_T8">
Qow values"200901017/>
Je- 9.7, 1.7 27 Start Date #2 —>
¢high value="20090101"/>
G- B.7.1.7.4: End Date $2 ~>-
{/effectiveline
<outboundRelationship? typeCode="COMP™>
<ohservation classCode="0BS" moociCode- EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2. 1. 1. 19" displayName="comment />
<value xsiitype="ED"MD. 7. L1, 6</value>
<l D.7. 5. 1r.5: Comments #2 -~>
{/observation>
</outhoundRelationship2>
{outboundRelationship2 typeCode="EXPL™>
<observetion classCode="0BS" moodCode="EVN">
Ccode code="38" codeSysten="2, 16, 840. 1. 113883, 3, 989, 2. L. 1, 19" displayNewe="fanilyHistory”/>
{vdiue xsistype="BL” value="true”/>
- 5,7, L.r.6: Family History #2 —>
</observation?
{/outboundielationship2>
<inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN">
Ceode code="13" codeSystew="2, 16, 840. . 113883. 3, 986, 2. 1. 1. 19" displayNonme="continuing” />
<value xsiitype="BL” value="true”/>
== 1. 7. 1.1r.37 Continuing #2 —>
{/ohservation>
</inbounditelationshipy
/observation)
<feomponentd
{component typeCode="COMP™>
{observation classCede="0BS" moodCode="EVN™>
{eode code="18" codeSystem="2. 16. 840, 1. 113883, 3. 689, 2,1, 1. 19" displayName="historyAndConcurrentConditionText />
<value xsiitype="ED"?D. 7, 2{/value>
(1= . 7.2: Text for Relevant Medical History and Concurrent Conditions {not including reaction / event) —>
</observation>
£/ component>
<companent typeCode="COMP™>
{ebservation classCode="0B5" moodCode="EVN™>
{rode code="11" codeSysten="2. 16,840, 1, 113883.3.989. 2. 1. L. 19 displayName="concomitantTherapy”/>
<value xsi:type="BL” value="true”/>
)= D.7.3: Concomitant Therapies ——>
{/observation>
</component?
{/organizer>
</sub ject0f2>
{subjectOf? typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN>
{eode code="2" codeSystew="2.16. 844, 1, F13883, 3,989, 2. 1. 1. 20" displayName=" druglilsto:’y el
<component typeCode="COMP">
{substanceAdninistration classCode="SBADM™ meodCode="EVN™>
{effectiveTime xsiilype="TVL_TS">
{low value="20090101"/>
- D8 %, 41 Srart Date H1 -2
<high value="200901017/
<l— D.8 1.5: BEnd Date #1 ~>
</effectivelimer ’
{consumable typeCode="CSM">
CinstanceOfKind clagsCode="INST™>
<kindOfProduct classCode="MMAT” determinerCode="XIND">
Ccode code="D, B, 1. 2b" codeSysten="TED-MPID" codeSystemVersion="D.8.r.2a"/>
¢l-~ D.8.7, 2a; MPID Version Date / Number #1 —>
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¢i-- D.8.x.2bt Medicinal Product Identifier (WPID)} #1 -->
{nameD, 8. r. 1</ name?
¢l== D B.r.1: Name of Drug as Reported #1 --> ;
{/kind0fProduct> )
¢/instanceQfKind>
£/congumablie>
<outboundRelationship? typeCode="RSON">
{observation classCoda="0BS" moodCode="EVN™>
¢eode code="19" codeSystew="12. 16. 840, [. 113883, 3. 989. 2. 1. 1. 19" displayName="indication™/>
¢value xsi:type="CR” code="D.8.r. 60" codeSystem="2. 16. 840, 1. 113883, 6, 1637 codeSystemVersion="D. 8. r. 6a"/>
<}=- D.8.r. 62’ MedDRA Version for Indication #1 —>
<I— B8 1. 6b! Indication (HedDRA code} #1 —> |
/observation? )
</outboundielationshipf>
CoutboundRelationship? typeCode="CAUS™>
{ohservation classCode="0BS" moodCode="BYN™>
¢eode node= 20 codeSysten="2, 16, 840, 1, 1123883, 3, 989. 2. 1. 1. 19" displayName="reaction”/>
¢value xsi:type="CE” code="D.8.r.7b" codeSystem="2. 16, 840. 1. 113883, 6. 163" codeSystenVersion="D. 8. ¥. 72" />
(4 T8, 1. Ta: MedDRA Version for Reaction #I —> -
(i B. 8. r. 76! Reaction (MedDRA code} #1 -3
{fobservation> - :
¢ fouthoundRelationship>
¢/substanceAdministration>
</component>
{component typeCode="COMP™>
<{substanceAdministration classCode="SBADM" moodCode="EVN">
LaffectiveTime xsi:type="IVL_T8"
ow valoe="200861017/>
¢l-- D, 8. . 41 Start Date #2 —>
<high value="20090103"/>
(l== D, 8.2, 6 BEnd Date §2 —>
</effectiveTime>
<constmable typeCode="CSH">
<instanceQfKind classCede="INST™>
<kind0fProduct classCode="MMAT" determinerCode="KIND™> -
<code code="D, 8. 1. 3b" codeSystem="TED-PHPID” codeSystemVersion="D.8.1.3a"/>
<l T 8, 1. 3a: PHPID Version Date / Number —>
¢l— D.&. r.3b: Pharmaceutical Product Identifier (PAPID) #2 —>
<name>d, B. r. 1{/hane>
<i—~ D.8.r. 11 Name of Drug as Reported #2 -
</kind0fProduct>
{finstanceCfKind>
</eonsumable>
CoutboundRelationship? typeCode="RSONT>
(observation classCode="0BS” mocdCode="EVN">
<eode code="19" -codeSysten="2. 16. 840, 1. 113883.3. 689, 2. 1. 1. 19" displayName="indication”/>
<value xsi:types”CE” code="D. 8. r.6b" codeSyster="Z. 16,840, 1. [13883. 6. 163" codeSystenVersion="D. 8 r.6a"/>
lwm D, 8.1, 6a! MedDRA Version for Indicatien #2 —>
<}-- D.8.r.6b: Indication {MedDRA code) #2 —»
{/observation?
</outboundRelationship2>
CoutboundRelationship? typeCode="CAUS™>
(ohservation classCode="0BS" mocdCode="EVN™> .
<code code="29" codeSysten="2. 16, 840 1. 113683. 5, 989. 2. L. L, 197 displayName="reacticn”/>
Syalue xsiltype="CB" codes™D. 8. . 75" codeSystew="2, 16.840, 1. 113883. 6. 163" codeSystenVersion="D. 8 r.72"/>
<l~= D, 8.1, 7a: MedDRA Version for Reaction #2 —>
<t D, 8, r.7b: Reaction {MedDRA code} #2 —>
<fobservation?
</outboundRelationship?>
</substanceAdministration?
{/component>
{/organizer>
</sub ject0f2>
<subject0f2 typeCode="SBJ">
{obsorvation classCode="0HS” moudCode— EVN">
Zeode code="32" codeSystem="Z. 16.840. 1, 113883. 2. 989, 2. 1. L. 19" displayNawe="reportedCausaOfDeath”/>
Cvalué x8ittype="CE” code="D. 9, 2. 1. 16" codeSystem="2. 16. 840.1. 113883. 6. 163" codeSystenVersion="D. 9,2 1. 1a">
¢l— 1.9, 2. r. la: MedDRA Version for Reported Cause(s) of Death #1 —>
= 1.9, 2 ¢, kb: Reported Cause{s) of Death (MadDRA code} #1 —>
{originaiText>D. 9. 2. r. 2</original Text>
¢lww D9, 9. ¢, 2! Réported Cause(s) of Death (free text) #1 —->
</value>
{/observation?
</subject0f2>
<subFect(f? typeCode="SBI ">



(observation classCode="0BS" moodCode="EVN">
(code code="32" codeSystem="2. 16, 840. 1. 113883, 3. 889. 2. 1. 1. 19" displayNeme="reportedCause0fheath”/>
¢value xsiitype="CE” code="D. 9.2 z. 1b" codeSysten="2. 16. 840, 1, 113883. 6. 163" cadeSystenVersion="D. 8. 2.1, 12™>
¢l—— 119, 2, r, 1a: MedDRA Version for Reported Cause{s) of Death #2 -->
(J=~ DB, 8,2, 1. 1b: Reported Cause{s} of Death {McdDRA code} #2 —>
CoriginalText?D. & £ r. 2</originalText>
<l— D.8.2.r.2: Reported Cause(s) of Death {(free text) #2 ~->
Svaluey
. 4/obsexvation>
{/subject0OI2>
{subjectlf2 typeCode="SBI™>
<observation ¢lassCode="0BS" noodCode="BYN">
<code code="5" codeSystem="Z. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 18" displayName="autopsy”/>
{vatue xsi:type="BL" value="true”/>
f— D.9.3 Was Autopsy Donef -~->
{outhoundRelationshipZ typeCode="DRIV">
{observation classCode="0BS” moodCodes"BYN™>
Ccode code="8" codeSystem="2. 16, 540, 1, 113883. 3, 989. 2. 1. 1. 18" displayNawe="couse0fDeath”/>
{value xsi:type="CE" code="D, 9, 4.7, 1b" codeSystem="2.16.840. 1. 113883, 6, 163" codeSystemVersion="D. 8. 4. . 1a">
¢l 0.9, 4.1, la: MadDRA Version for Autopsy-determined Cause{s) of Death #1 -->
¢l B.9.4. 1. 1b Autopsy-deternined Cause(s) of Death {MedDRA code} #: —>
CoriginalTextsD. 8. 4.1, 2{/originaiTexty
e 1, 0. 4, 7. 2 Autopsy-determined Cause(s) of Desth (free text) #L —>
fvalue)
<{/obsexvation>
<{/outboundRelationship2>
<outboundRelationship? typeCode="BRIV™Y
(observation classCode="0BS" mocdCode="EVN™>
{eode codes"8” codeSystem="2. 16. 840, 1. 113863.3.989, 2. 1, L. 19” displayMeme="cause0fDeath”/>
<value xsi:type="CE™ code="D. 5. 4. 1. 1b" codeSystem="2. 16.840. 1. 113883.6. 163" codeSystenVersion="D, 9.4 1. 1a">
¢l-= 1.9, 4 1. ta: MedDRA Yersion for Autepsy-determined Cause(s) of Death #2 —>
¢l— D, 9. 4 1, ib Autopsy-determined Cause{s) of Death (HedDRA code) #2 ~>
CoriginaiText’D. 0. 4. r. 2¢/originalText> ’
Clom D.9.4.17.2¢ Autopey-determined Cause{s} of Death {free text) #2 —¥
{/valued
{/observation>
</outboundRelationship2>
{/chservation>
</subjectDf2>
{subject0f2 typeCode="SBI™>
. <obgervation classCode="0BS" moudCode="EVN">
(id root="154eb889-958b~45f2-a02f-42d4d6T 46577 />
{code code="28" codeSystem="2. 16. 848. 1. 113883. 3, 989. 2. 1. 1. 19" displayName="reaction”/>
<effectiveTime xsi:type="IVL_T87»
<low value="20090101"/>
¢1-— B, i, 4! Date of Stert of Reaction / Event §I -—>
<high value="200801027/>
¢I— B i. 5! Date of Bnd of Reaction / Event #1 —3
/effectiveTimed . :
(valie xsi’type="CE" code="E. i 2. 15" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystenVersion="E. 1,2, 1la™>
¢I-- B.1.2.1a: MedDRA Version for Reaction / Event #1 -
¢i== B.i.2. 1b: Reaction / Event (MedDRA code} §1 ~-
CoriginalText language="E.i. L 1b"2E. i, L. ta</originalText>
¢i~~ E.i.1 1a: Reactien / Event as Reperied by the Primary Source in Native Language #1 —>
¢i-- £.i, 1, 1b: Reéaction / Event as Reported by the Primery Source Language il —>
{/value> '
¢location typeCode="LOC">
{losstedEntity classCodex"LOCE™>
(acatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="E.1i.9" codeSystem="1,0.3166.1,2.27/
= B. 1.9 Tdentification of the Country Where the Reaction / Bvent Occurred #1 «~>
{/iocatedPlace? :
</locatedBntity>
¢/location?
<outboundRelstionship? typeCode="PERT™>
{obgervation classCodes”0BS” moodCode="EVN">
¢oode ‘code="307 codeSystew="2. 16;840. [, 113883, 3, 088, 2. 1. 1. 19" displayName="reactionForTranslation”/>
Svalue xsi:type="ED™E. i. L 2</valued
|-~ §.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #1 ~->
</obsorvation>
{foutboundRelationship2>
{outboundRelationship? typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN">
<code code="37" codeSysten="2. i6. 840, I. 113883, 3. 989. 2. 1. 1. 19" displayNane="termHighlightedByReporter™/>
Cvalue xsi:type="CE" code="E. i, . 1" codeSystem="2. 16. 540, I, 113883, 3. 980, 2, 1. L.10"/>
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<}~ B 1.3, 1! Texrm Highlighted by the Reporter #l —>
{/observation>
{/outboundRelationship2>
¢outboundRelationshipZ typaCode="PERT"> '
{ohservation classCode="0BS" nmoodCode="B¥YN™>
Ceode code="34" codeSystem="2, 16, 840. 1. 113883, 3. 989. 2. 1, 1. 19" displayName="resultsinDeath”/>
¢value xsiitype="BL" value="true”/>
¢P-~ B.i.3. 2a: Results in Death f#i1 ~->
¢/observation»
</outhoundRelationship2>
<outhouwndRelationship? typeCode="PERT™>
{observation classCode="485" moodCode="EYN">
Ccode code="21" codeSystem="2. 16, 840. [. 113883, 3. 989. 2. 1. 1. 18" displayMame="isLifeThreatening”/>
{value xsi'type="BL” nuliFlaver="NI"/>
¢l— E. i. 3 2b: Life Threatening #1 ——>
{/ohservation?
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observatisn classCode="0BS" moodCode="BYN™>
Ceade code="33" codeSystem="Z. 16. 840, 1. 113883, 3. 988, 2. 1. 1. 19" displayName="requiresInpatienttospitatization”/?
<value xsittype="BL” value="true”/>
¢}~ E.1.3. 20! Caused / Prolonged Hospitalisation H#i -3
{/abservation>
</outboundRelationship2>
{outbeundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
<code code="35" codeSystem="3, 16. 840, 1. 113883 3. 989. 2. 1. 1. 18" dlspiayﬁame— resultsInPersistentOrSignificantDisability”/>
{value xsiitype="BL" nullFiavor="NI"/>
(1= 2.1, 3.2d: Disabling / Incapacltatlng #1-->
+ </observationd
<SoutboundRelationship2>
CoutboundRelationship? typeCode="PERT">
¢observation classCode="08S" moodCode="EYN™>
(oode code="12" codeSystem="2, 16, 840, 1, 113883, 3. 989. 2. L. 1. 19" displayName="congenitaldnonalyBirthDefect”/>
{value xsi:type="BL” nuliFlavor="NI"/>
<1~ E i 2, %e: Congenital Anomaly / Birth Defect f#1 —>
¢fobservation> -
</outboundRelationship2?
<outhboundRelationship? typeCode="PERT™>
(observation classCode="0BS” moodCode="EVN">
<code code®"26” codeSystem="1. 16. 840. 1. 113883, 3. 589, 2. 1. 1. 197 displayName="otheriedicallyInportantCondition”/>
<value xsi:type="BL" value="true”/>
¢l-~ 8.1 8, 2f: Other Medicaily Important Condition fii ——)
{/obgervation?
¢/ eathoundRelationship2>
{outboundRelationship? typeCode="FERT">
<observation classCode="0BS" moodCode="EV¥N">
Ceode codo="27" codeSysten="2. 16, 840, 1, 113883.3. 989. 2, 1. 1. 18" displayName="outcome 3
" <yalue xsiitype="CE” code="E. i. 7" codeSystem="2. 16, 840, 1. 113883, 3.980,2. 1. 1. 117/>
¢l-- B, i.7: Outcome of Reaction / Event at the Time of Last Observation #1 >
{/observation’
</outboundRelat10nsh1p2>
<outboundRetationship? typeCode="FPERT">
{abservation classCode="0BS" moodCode="EVN">
Ceode code="24" codeSystem="2. 16. 840, 1. 112883, 3. 089, 2. 1. 1. 19" displayName=" medlcaICcnflrmat1onByHealthProfess1onal F2l
<value xsi:type="BL" value="true"/>
. <1+~ B, £.8: Mediszal Confirmation by Healthcaze Professional #1 -->
</observation>
</outhoundRelationship2>
<outboundReiationship? typeCode="FERT">
{observaticn classCo&e— 0BS” moocdCodes"BVYN™>
(cade cade="11" codeSystem="2. 16. 840. 1. 113882, 3. 089, 5. 1. 8. 2. 1. 14" displayName="341 - BE&"/>
<value xsi:type« CE” code="J2.14. 1" codeSystem="2. 16, 84¢. 1. 113883.3,988.5.1.3. 2. 1. 8"/>
<l @80J2. 14.1 R0 - S HE : ’ :
{/observation>
</outbQUndRe1at10nsh1p2>
¢/ohgervation? -
</ sub jectOf2> )
(subjectOf2 typeCode="SBI">
<{observation classCode="0BS" moodCode="RVN">
<id root="gbaa28d6-c9et-4ebc-93e9~5h860b3142207/>
¢code code="29" codeSystem="2. I6. 840. 1. 113883. 3.089.2, 1.1, 18" dlapiayNameﬂ reaction”/>
<effectiveTine xsi:type="IVL_18">
Clow value="20080101°/>
¢lwe B i, 4: Date of Start of Reaction / Event #2 -3> .
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¢width value="24" unit="g. i, 6b"/>
<l B, i, 6a: Duration of Resction / Bvent (number) #2 -->
<}-- E.i.8b: Duration of Reaction / Event {unit) #2 —>
/effectiveTime
¢vslue xsiitype="CE” code="E. i.2.1b" codeSystem="2. 16,840, 1, 113883. 6. 163" codeSystenVersion="E. 1.2, ta">
<l-~ B, i.2. la: HedDRA Version for Reaction / Event #2 -
¢l B i.2.1b: Reaction / Event (MedDRA code) #2 —->
CoriginaiText language="E. i}, 16" i. L lad/originalText>
¢l— B.i.1, ta: Reaction / Event as Reported by the Primary Source in Native Languege #¥2 —->
¢ T.1i. % ib: Reastion / Bvent as Reported by the Primary Source Language #2 -
{fvalued
{iocation typeCode="LOCT>
LlocatedBntity classCode="LOCE™>
¢locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="E. 1.9 codeSystem="1.0.3166.1.2.27/>
{i-~ 8, 3.9 Identifieation of the Country Where the Heaction / Bvent Oecurred ¥2 ~-»
</locatedPlace’
{/locatedEntity>
</location> ,
CoutboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
{oode code="30" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 19" displayNamwe="reactionForTranslation”/>
<value xsi:type="EL">E. i. L 2</value>
¢|— B.i.1.2: Reaction / Bvent as Reported by the Primery Source for Translation #2 -3
</ohservation>
</outboundRelationslhip2>
{outheundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCodes"EVN">
<cade code="37" codeSystem="2. 16. 840. 1, 113883, 3. 989. 2. 1. 1, 18" displayName="termHighlightedByReporter”/>
Cvalue xsi:types"CE” code="E.i. 3. 17 codeSysten="2. 16, 840. 1, 113883.3.989. 2. L. 1, 10"/>
le- B 1.3, 1:Term Highlighted by the Reporter 2 -
/abservation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{ehservation classCode="0BS" moodCode="BVN™
{code code="34" codeSystem="2. 16. 840, 1. 113883, 3. 889, 2. 1. 1. 197 displayNeme="resultsInDeath” />
(value xsiitype="BL” value="true”/>
¢i— B.i.3. 22! Resuits in Death #2 ——>
<{/observation>
</outboundRelationship2>
LoutboundRelationship2 typelode="PERT">
{observatioh classCode="0BS" moodCode="EVN™>
Coode code="21" codeSystem"2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 18" displeyNames"isLifcThreatening”/>
<value xsiitype="BL” millFlavor="NI"/> )
"¢~ E. 3.3, 2b: Life Threatening #2 -->
. {fobservation>
{/outboundRelationshin2>
CoutboundRelationship? typeCode="PERT™>
<observation classCode="0BS" noodCode="EVN">
Ccode code="33" codeSystem="2. 16. 840, 1. 113883. 3, 989. 2. £. 1. 19" displayName="requiresInpatientHospitalization”/>
<value xsiitype="BL” value="true”/>
<l— §. 1.8.2¢7 Caused / Prolonged Hospitalisation #2 ~-
{/observation)
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
{eode code="35" codeSystem="2, 16, 840. 1. [13883. 3, 880. 2. 1. 1, 19" disgiayNameﬂ"rasultsInPersisténtGrSignificantDisabi1ity"/>
<value xeiltype="BL" nuliFlavor="N1"/>
¢1~~ [.1.3, 24 Disabling / Incapacitating #2 —>
</observation>
</outhoundRelationshipZy
<outboundRelationshin? typelode="PERT™>
<observatioh classCode="0BS” moodCode="EVN">
(oode code="12" codeSysten="2. 16. 840. . 113883. 3. 989. 2. 1. 1. 19" displayName="congenitalAnomaiyBirehDefect”/>
<value xsi:type="BL" nullFlavor="NI"/>
(!—— B.1.3.2e: Congenital Anopaly / Birth Defect #2 —>
{/observationy
</outboundRelationship2)>
<outboundRelationship2 typeCode="PERT™>
<ohservation classCode="0BS" moodCode="EVN">
Coode code="26" codeSystem="2. 16. 840. 1. 113883, 2, 989, 2, 1. 1. 19" displaylane="otherledicallylmportantCondition”/>
{value xsiitype= BL” value="true”/> :
<l~~ E. 1,3 2f: Other Medically lmportant Condition #2 —>
</observation?
¢/outboundRelationship2>
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CoutbmmdRelationship? typeCede="PERT™>
{observation classCode="0BS” moodCode="EVN">
Coade code="27" codeSystem="2. 16, 540, 1, 113883.3.989,2. 1. 1. 19" displayNampe="outcome”/>
<yalue xsiitype="CE" code="F.i.7" codeSystem="2. 16.840.1. 113883.3.989.2.1. L. 11°/>
{}=~ B, 5.7 Outcome of Reaction / Event at the Time of Last Observation #2 -
{/obsexrvation? .
</outboundRelationship2>
{outhoundRelationshipZ typeCode="PERT™>
{chservation classCode="0BS" moodCode="EVN™>
Ccode code="24" codeSystem="2.16. 840. 1. 113883.3.989. 2. 1. 1, 187 displayNape="medicalConfirnationByHealthProfessional”/>
{value xsiitype="BL" value="true”/>
¢i-- E.1.8! Medical Confirmation by Healthecare Professional #2 -->
{/obgervation>
{/outhoundRelationship2?
<outhoundRelationship2 typeCode="PERT">
{observation classCede="0B3" mocdCode="EVN">
<oode code="11" codeSystem="2, 16. 840. 1. 113883, 3. 989. 5. 1. 2. 2, 1, 16" displayName="350 - BE&n"/>
Cvalue xsiitype="CE® code="J2, 14.1" codeSystem="2, 16,840. 1, 113883, 3.680.5.1.3. 2, 1.8"/>
<l geaT2, 141 Heku - Bk #2 >
{/observationd
{/outboundRelationship2>
¢/observation>
</subjecthf2>
<subjectOf2 typeCode="SB]">
{observation classCode="088" moodCode="EVN">
{id root="3a8626ch—5f 1 b-deal-Ba0f~e0fF34430adf” />
¢oode code="29" codeSystew="2, 16, 840. 1. 113883, 3, 988, 2. 1. 1. 19" displayName="reaction”/>
CeffectiveTime xsi:type="IVL T8>
Cwidth value="24" unit="E. i.6b"/>
¢{~~ E. 4, 6a: Duration of Reaction / Bvent (number) #3 —>
{4— E. i.8b: Duration of Reaction / Event (unit) #3 —>
<high value="20101201"/> '
{lww B.i.5: Date of fnd of Reactlan / Bvent #3 ~->
(faffectiveTime>
¢yalue xaiitype="CE” code="E.i. 2. 1b" codeSystem="2. 16. 840, 1. 113883, 6. 163" codeSystenVersion="E. i.2.1a"
{l-~ f.i.2. 1a: MedDRA Version for Reaction / Bvent #3 -—>
¢l-= E.i.2. 1b! Reaction / Bvent {MedDRA code} #3 —
{originalTent langwage="R i. L, "8 i. L 1al/foriginaiText>
¢lem B, j. 1, la: Reaction / Event as Reported by the Primaxy Source in Native Language #3 —>
¢tem E. .1 1b: Reactien / Bvent as Reported by the Primary Source Language #3 —>
<fvalue>
<location typeCode="LOC">
CiotatedEntity classCode="LOCE™>
<locatedPlace classCode="COUNTRY" determinerCode="INSTANCE™>
{code code="E.1.9” codeSystew="1.0,3166. 1. 2. 27/
¢(1-— B, i, 9! Identification of the Country Where the Reaction / Bvent Occurred #3 ~->
</locatedPlace>
/locatedEntity>
</location>
- <outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
¢eode code="30" codeSystem="2. 16. 84C. 1. L13883. 3, 989, 2, 1, 1. 19” displayName="reactionForTranslation”/>
{value xsi:type=" BD"ME. i.1. 2¢/value>
¢l-- B, i.1.2: Reaction / Bvent as Heported by the Primary Source for Translation #3 —->
{/ohservation>
{/outboundRelationship2>
<outboundRelationship? typefode="PERT™>
{observation classCode="0B3" moodCode="EVN">
Coode code="37" codeSystem="2. 16, 840, |, 113882, 3. 989, 2. 1. 1. 19" displayName="termltighiightedByReporter”™/>
Cyalue xsiltype="CE" code="F. i, 3. 1“ codeSystem="2. 16. 840. 1. 113863, 3. 989.2. 1. 1. 10"/>
(l— B. 1.8, §:Texm Highlighted by the Reporter #3 —>
{/observation>
</outhoundRelatianship2>
<outboundRelationship? typeCode="PERT™>
(ohservatisn classCode="0BS" moodCode="EYN™>
Ceade code="34" codeSystem="2. 16. 840, 1. 113883, 3, 989. 2. 1. I, 19" displayName="resultsInDeath™/>
<valte xsi'type="BL” value="true"/>
{le= B 1.3 Za! Results in Death #3 —>
{/fobservation?
</outboundRelationship>
{outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
<cads code="21" codeSysten="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 18" displayName="isLifoThreatening”/>
<value xsiitype="BL" nullFlavor="NI"/>
1=~ B, i.3,2b: Life Threatening #3 ~-> -
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{/observation>
</outboundRelationship2?
<outboundRelationship? typeCode="PERT™>
<ochservation classCode="0BS" moodCode="EVN">

(oode code="33" codeSysten="2. 16, 840. 1. 113883, 3. 969. 2, 1.1, 187

{value xsi:type="BL” value="true"/>
¢l B, i.3. 200 Caused / Prolonged Hospitalisation H3 ~>
</observation>
{/outhboundRelationship2>
¢outboundRelationship? typeCode="PERT™>
Cobservation classCode="0BS" moodCode="EVN">

Ceode code="35" codeSystem="2. 16. 840, §, 113883, 3. 989. 2. L. 1. 18"

<value xsiltype="BL" nullBlavor="NI"/>
¢i=- E.1.3.2d: Disabling / Incapacitating #3 -->
{/observation>
</fouthoundRelationshipZ>
CoutboundRelationship2 typeCode="PERT™>
Zobservation classCode="0BS" moodCode="EVN™>

Ceode code="12% codeSystem="2. 16. 340. 1. 113883, 3, 989. 2, L. 1. 197

<yalue xsiltype="BL” nullFlavor="NE"/>
¢lw= F.i.3.2e: Congenital Anomaly / Birth Defect #3 -5
{/observation>
</ontboundRelationship?>
<outboundRelationship? typeCode="PERT">
{ohservation classCode="0BS" moodCode="EVN™>

‘oode code="26" codeSystew="2. 6. 840, 1. 113883, 3. 686, 2. 1. 1.19"

<value xsi:type="BL” value="true”/>
&lwm B 4.3, 280 Other Medically Important Condition #3 w->
{/observation?
</outhoundRelatiohshipZ>
<gutboundRelationship? typeCode="PERT">
{abservation classCode="0BS” moodCode="EVN">

displayNeme="requiresInpatientHospitalization”/>

displayﬂame*’resultsInPersisténtDrSignificantDisabi1ity”/>

displayName="congenitalAnorpalyBirthBelect”/>

displayName="otherMedical lyImportantCondition”/>

<eode code="2T" codeSystew="2. 16, 840, }, 113883, 3. 989.2. L. 1. 19" displayName="outcome”/>
<value xsi:type="CE™ code="E. 1. 7" codeSystem="2. 16,840, I, 113883.3.989.2. L L. 11"/>
¢I-~ B i.7: Outcome of Reaction / Bveat st the Time of Last Observation #3 -->

{/observation?”
</outboundRelationship2>
¢outboundRelationship? typeCode="PERT™
{observation classCodes"0BS” moodCode="EVN">

<code code="24" codeSystem="2, 16. 840, 1, 113883. 3. 989. 2. 1. 1. 19 displayNawe= “medicalConfirmationByHealthProfessional”/>

<value xsittype="BL™ value="true”/>

(I~ E.i,8! Medical Confirmation by Heaithcare Prof6591onal #3 >

{/observation>
</outboundRelationship2>
CouthoundRelationship? typeCode="PERT™>
<observation classCode="0BS" woodCode="EVN">

Ceode codes”11” codeSystem="2. 16. 840, 1. 113883, 3. 589, 5. 1. 3. 2, L. 10" displayNawe="3%40 - BE&1"/>
<value xsiltype="CE” code="J2. 14. 3" codeSysten="2. 16.840. 1. 113883.3.089,5.1,3.2. 1.8"/>

— 88872, 14. 1 Hei0 - BE%n #3 —
{/observation>
¢/putboundReiationship2y
{fobservation?
£/ sub fect0f2>
<subject0f2 typeCode="SRI™>
(observation classCode="0BS" moodCode="EVN">
{id root=”2e98840£~-08b4-490¢-80F F~-dd8416F4f8aS" />

{code code="29" codeSystem="2, 16, 840. 1. 113883, 3.980. 2, 1, 1. 19" displayName="reaction”/>

CeffeciiveTime xsi:type="SKPR_TS™>
Ceomp xs5ittypes”IVI_TS™>
<ow vaiue="20080101"/>
¢l-- E. 1. 4! Date of Start of Reaction / Event 4 -—>
<high value="20101201"/>
¢l-- E.i,5: Date of End of Reaction / Event ¥4 -—>
</ oompy
Soomp xsiltype="IVL_TS” operators="A">
Cwidth value="24" unit="E. i, 6b"/>
Zi= B, i, Ba: Duration of Reaétion / Bvent (number) #4 —3>
<i—- E i.6b: Duration of Reaction / Bvent (umit) #4 -
</comp>
feffactiveTinel

Cvalue xeittype="CE” code="E. 1. 2. 15" codeSysten="2. 16. 840. 1. 113883, 6. 163" codeSystemYersion="E. i. 2. 1a™>

¢4 B.i.2 la: MedDRA Version for Resction / Event #4 —>
¢l B, i, % Ib: Reaction / Bvent (MedDRA code} #4 -—>
<originalText language="E, i, 1. Ib™>E. i. 1, Ia¢/originalText>

¢\~ B.i. 1 ta! Reaction / Event as Reperted by tha Primary Source in Native Language H4 >
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4=~ 1,1, 1b: Reaction / Event as Reported by the Primsry Source Language #4 -
</valued ’
{location typeCode="L0C">
¢locatedEntity classCode="LOCE™> )
ClocatedPlace classCode="COUNTRY™ determinerCode="INSTANCE">
{oode code="E. i, 9" codeSystem="1.0.3166.1.2.27/
¢t E.1,9: Identification of the Country Where the Reaction / Event Occurred #4 —>
{/locatedPlace
</locatedintity>
</loeationd
<outboundRelationship? typeCode="PERT">
{chservation classCode="0BS" moodCode="BVYN™>
{code code="30" codeSystew="%, £6. 840, 1.113883.3.989. 2. 1. 1. 197 displayNeme="reactionForTransiation”/>
Cvalue xsiitype="ED"2E. i. L. 2{/value>
¢l=— B, i.1,2: Reaction / Event as Reported by the Primary Source for Translation #4 -->
< /ohservation)
</outboundRelationship2
{outboundRelationship? typeCode="PERT">
Cobservation classCode="0BS" moodCode="BVN™>
Ceode code="37" codeSystem="2. 16. 840, 1, 113883, 3. 989, 2. 1. 1. 197 displayName="tarmHighlightedByReporter”/>
<value xsi:type="CE" code="F. 1. 3. 1" codeSystem="2, 16,840, 1. 113883, 3.689. 2.1, 1. 10"
(P B i, 3. 1iTerm Highlighted by the Reporter #4 -—»
</observation>
¢/outhoundRelationship2>
{outhoundRelationship? typeCede="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="34" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 10" displayName="resultsIndeath”/>
<valte xsiltype="BL” value="true”/>
== E.i.% 2a: Results in Death #4 —>
{/observation>
{/outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{ohservation classCode="085" moodCode="EVN">
Coode code="21" codeSystew="2. 16, 840, 1, [13883. 3. 989, 2. 1. 1. 19”7 displayName="isLifeThreatening”/>
<value xsittype="BL" nullFlavor="NI"/>
¢}~ E.1,3.2b: Life Threatening #4 ——>
{/ohservation> , .
< fouthoundRelationship2s
CoutboundRelationshipn? typeCode»"PERT™>
{observation classCode="0B5" moadCode="EVN">
{code code="33" codeSysten="2. 14, 840, 1. 113883, 3,969. 2, 1. 1, 19" displayName="requiresInpatientHospitalization”/>
<value xzsi:type="BL" value="true"/>
{l— E.1i.3. 2¢: Caused / Prolonged Hospitalisation f4 —>
{/obgervation> .
</outhounditelationshipZ:
<outboundRelationship? typeCode="PERT">
{observation ciassCode="0BS" moodCode="EVN™>
{cads code="35" codeSystem="2, t6. 840. 1. 113883, 3, 989. 2. 1. 1. 19" displayName= "resultsInPorsistentOrSignificantDisability™/>
<value xsi:type="BL" nuilFlavor="N1"/>
<l-- B, i.3.2d: Disabling / Incapacitsting #4 -—>
{/ohservation?
</outboundRelationshipZ>
<outhoundRelationship? typeCode="PERT" >
¢observation classCode="0BS” moodCode="EVN">
<oode codem 127 codeSystem="2. 16, 840. 1113883, 3. 989, 2. 1 1.19" displayNeme=" congenltalﬁnemalyBlrthDefEct 2l
<vajue xsi:type="BL” nullFlavor="NI"/»
{J-~ 8.1.8.2e: Congenital Anomaly / Birth Defect #4 -2
{/observation>
{/outboundRelationship2>
¢outboundRelationship? typeCode="PERT">
(observation clagsCode="0BS" moodCode="EVN">
Ceode code="26" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 197 displayName=" otheruedxcally}mpcrtantCondxt}en "/
Cvalue xsiitype="BL” value="true”/>
e B i.3.2f1 Other Medically Important Condition #4 —>
{/observation>”
{/outboundRelationship2>
<oEthoindRelationship2 typeCode="PERT >~
4ohsarvation classCode="0BS” moodCode="EVN">
<code code="27" codeSysten="2. 16, 840, 1, 113883. 3. 989, 2. 1. 1. 16" displayName="outcome”/>
<value zsi!type="CE” code="E. 1,77 codeSysten="2. 16. 840, 1. 113883.3.989. 2. 1. 1, 117/>
¢l B i.7: Quteome of Reaction / Event at tha Time of Last Chservation #4 ~>
{/obsexvation> ’
{/outboundiielationship2> )
<outboundRelationship? typeCode="PERT">
Lebservation classCode="0BS" moodCode="EYN"D
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Ccode code="24" codeSystem="2. 16, 840. 1. 113883, 3. 089. 2. 1. 1. 18" displayNemes medzcalConfzrmat1onByHeaithPrnfessLonai 2
<value xsiitype="BL” value="true”/>
¢l— B, i.8: Medical Confirmaticn by Healthcare Professional #4 -—>
{/observation? .
<fouthoundRelationship2>
<euthoundRelationship? typeCode="PERT">
(ohservation classCode="0BS" mocdCode="EVN"> -
Coode code="11" codeSystem="Z. 16. 540, 1. 11§883, 3, 989. 5. 1. 3. 2. 1. 10" displayName="3cf - BE&n"/>
Cvalue xsi:type="CE" code="JZ 14.i" codeSystem="2.15. 840. I. 113883, 3. 989.5.1,3.2. 1.8"/>
e @88J2. 141 s - BBAD 4 -
(/obsexrvationd
{/outboundRelationship2?
{/observation>
{/sub jectDED>
(subject0f2 typeCode="SBJ™>
{observation classCode="0BS" moodCode="EVN">
<id root="1071064c-cf10—4a3b~83c1~34f9ddbTeabd" />
Ceode code="29" codeSystem="2. 16, 840. }, £13883.3.989. 2, 1. 1. 197 displayName=" rcactxon ">
CeffectiveTime xsi:type="IVL_TS™>
<low value="200801017/>
¢l~=- B, i.4: Date of Start of Reaction / Bvent #5 ~>
</effectiveTime>
Cyalue xsiilype="CE” code="E. i.2 1b” codeSystew="2, 16,840, 1. 113883. 6. 163" codeSystenVersion="E. i, 2. 12"
(i~ B.§.2. 1a: MedDRA Version for Reaction / Bvent #5 ——
¢l—— E.1.2.1b7 Reaction / Event (MedDRA code) #5 —>
CoriginalText language="B. i.1.1b">E. 1. 1 la</originalText>
¢l E.i.1. 1a: Reaction / Event as Reperted by the Primary Source in Native Language #5 ——>
¢l== R.1i.1.1b> Reaction / Event as Reported by the Primary Source Lenguage #5 -->
</value>
<location typeCodes” LUC >
{lotatedEntity classCode="LOCE™>
¢locatedPlase ¢lassCode="COUNTRY" determinerCode=" INSTAhCE >
¢eode gode="E.i.9” codeSysten="1.0.3164.1.2,2"/>
<l E.i.9: Identification of the Country Where the Reaction / Event Ocourred #5 -
</locatedPlacer
</ locatedEntity?
<{/location?
<outboundRelationship? typeCods="PERT">
{observation classCode="0BS" moodCode="EVN™>
Coode code="30" codeSystem="2. 16. 840, 1. 113883, 5. 989. 2. 1. 1. [9” displayNeme="reactionForTransiation”/>
Cvalue xsi:type="ED™E i L 2¢/value?
{}==- E.1.1,2: Reaction / Event as Reported by the Primsry Source for Translation #E -
{/observation?
</outhoundRelationship2>
<outboundRelationship? typeCode="PERT” >
{chservation ¢lassCode="0BS" uoodCode="EVN™>
Seode codo="37" codeSystem="2. 16, 840, 1, 113883, 3. §88. £, 1. 1. 19” displayNeme="termilighlightedByReporter”/?
<value xsi!type="CE” code="E.i.3.1° codeSystem="2. 16, 840, }, 113883, 3. 980. 2. 1. 1, 10" />
¢i~- B. i, 3. 1:Term Highlighted by the Reporter #§ —~>
{/fobservation”
</outhoundRelationshiphd
<outboundRelationship? typeCode="FERT™>
{observation classCode="0BS” moodCode="EVN"> .
¢eode code"34" codeSystew="2. 16, 840, 1. 113687, 3, 989, 2. 1. 1. 19" displayName="resultsInDeath™/>
<value xsi:type="BL” value="true”/>
<l E. i.3.2a: Results in Death #5 —>
</observation? )
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCodes"EVN">
Coode code="21" codeSystem="2, 15. 840. 1. 113863. 3. 989, 2. 1. 1. 19" displayName="isiifeThreatening”/>
<value xsiitype="BL” nullFlaver="NI"/>
4=- 8,i,8.2b: Life Threatening #5 ~->
{/observation>
</outboundRelationshipe>
<outhoundRelationship? typeCode="PERT">
<ohservation classCode="0BS™ moodCode="EWN"> -
<code code="33" codeSystem="2. 16. 840. 1, 113883.3.689. 2. L. 1. 19" displayName="requiresInpatientHospitalization”/>
(vatue xsttype="BL” value="true"/>
<f~— B.i.% 2¢: Caused / Prolonged Hospitalisation #5 -
{fobgexvation?
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT™>
(observation ciassCode="8BS” moodCodes"EVN™Y
Ceode code="35" codeSystem="2. 16. B40. L. 113883. 3. 989, 2. L. 1. 19" displayName="resultsInPersistentOrSignificantDisability”/>
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{value xsi:iype="BL™ nullflaver="NI"/>
¢l K. 1.8 2d: Disabling / Incapacitating #8 —>
</observation)
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” macdCode="FEYN">
Ccode code="12" codeSysten="2. 16.840. 1.113883.3. 989, 2. 1. 1. 19" displayNeme="congenitalAnomalyBirthDefect”/>
Cvalue xsi!type="BL" nullFlavor="NI"/>"
<l=- E. i.,3,2: Congenital Ancmaly / Birth Defect #b ~—>
{/ohservation>
{/outboundRelationship?>
<outhoundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
<code code="28" codeSysFem="2.16.840.!.113853.3.989.2.1.1.19” displayName="otherMedica}lylaportantCondition”/>
<value xsi:type="BL” value="true”/>
{l== B, 1.3, 2f: Other Medically Important Condition #5 ~->
{fobservation>
</outboundReiationship2>
CouthoundRelationship? typelode=" PBRT"
{ohservation classCode="0BS" moodCode="BVN™>
Ceode code="27" codeSystem="2. 16.840. 1. 115883, 3,689, 2.1, 1. 197 displayName="outcome” />
{value x5i:itype="CE” code="E. 1. 7" codeSystewm="2. 16,840, 1. 113883.3.982.2. 1. L. 11"/>
¢j-~ B. 1.7 Outcome of Reaction / Event at the Time of Last Observation #5 -
{/observation’
<foutboundRelationship2>
CoutboundRelationship? typeCodes”PERT™>
lobservation classCode="0BS” moodCode="BYN"> ’
<eode code="24” codeSystem="2. 16, 840, 1. 113883, 3. 689, 2.1, 1. 197 displayName="medicalConfirmationByHeal thProfessional”/>
(value xsiltype="BL” value="true"/>
¢l—— E i.8: Medical Confirmation by Healthcare Professional #5 )
{/observation>
</outboundRelationship2>
CoutboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="11" codeSystem="2. 16. 849 1.113883.3. 989. 5.1. 3. 2. 1. 10" displayName="3k - %ﬁu /2
¢value xsiitype="CE" code="J2.14.i" codeSystem="2, 16.840. 1. 113883, 3,089.5,1.3.2.1.8"/>
<l-- 88672, 14,1 3H%a - BES #E > :
<fobsexvation?
{/outboundRelationship2>
{/observation?
{/sub jectOf2>
{subjectOf? typeCode=”SBI>
(observation classCode="0BS” moodCode="EVN">
<id root="31fO27283-10b6-4334-0d43-2325640Cb18E" />
¢oade code="29" codeSystems="2. 16. 840. 1. 113883. 3,989, 2. L. 1. 19" displayName="reaction”/>
{effectiveTime xsi:type="IVL_18">
<high value="260001017/>
¢i-- B, i.4: Date of Start of Reaction / Event #6 >
{JeffectiveTime>
Cvalue xsi'type="CE” code="E, i, 2.1b" codeSystew="2. 16. 840, 1, 113883, 6. 163" audeSystemVerslon- B.i. % la™>
¢i=- B, i.2 ia! MedDRA Yersion for Reaction / Bvent #6 —~>
i B i. 2.1kt Reaction / Event (MedDRA code) #6 ——>
{originalText language="E i, % 1b">E. i L 1la/originalTextd>
(3w B.i. 1. iat Reaction / Event as Reported by the Primary Source in Nat1ve Language #6 ——>
Ll ., 1. 1b! Reaction / Event as Reported by the Primary Source Language #6 —>
<{fyalue?
<location typeCode="LOC">
(loeatedEntity classCode="LOCE™>
¢locatedPlace classCode="COUNTRY” determinerCode="TNSTANCE">
<eode code="E, 1,97 codeSysten="1.0.3166.1.2.2°/>
<}w~ £.1.9: Identification of the Countwy Where the Reacticn / Event Oceurred #6 -->
{/locatedliace>
{/locatedEntity>
" ¢/location?
<outhoundRelationship2 typeCode="PERT™>
lobservation classCode="0BS" moodCode="EVN™>
<code code="30" cadeSystem="2; L6. B40. 3. 113888, 3. 989, 2, 1, 1. 19" displayName="reactionForTranslation”/>
<value xsi:type="EDT>E i, L 2</vaiue> .
&le- B, i.1.9: Renction / Bvent as Reported by the Primary Source for Translation 6 -
{/obsarvation?
</outboundfielationshinZ>
{outhoundRelationship? typeCode="PERT™>
<obssrvation classCode="0BS" moodCode="EVN">
{code code="37" codeSystem="2. 16. 840, 1.113883, 3. 989. 2, 1. 1. 19" displayNama= termnghi13hted§y§epor£er Fad
<value xsiitype="CE” code="8.1i.%. 1" codeSystem="2, 16. 840. 1. 113885, 3.¢89.2. L. 1. 107/
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¢i-- B, §.3. 1'Fern Highlighted by the Reporter #5 —>
{/observation?
C/outhoundRelationship2>
CouthoundRelationship? typeCode="PERT™>
{ohservation classCode="0BS" moodCode="EVN™>
<code code="34" codeSystem="2, 16. B40. I. 113883.3. 985, 2. 1. 1, 18" displayName="resultsInDeath”/>
<value xsi:type="BL” value="true”/>
¢}- B.i.3.2a: Results in Death #6 —>
{/bbservation>
¢/outboundRelationship2>
<outhoundRelationship? typeCode="PERT">
{observation classCode="8BS" moodCode="EVN">
‘eode code="21" todeSysten="2, 16 840. 1. 113883. 3. 989. 2. L. E 19" displayName="isLifeThreatening”/>
(value xsi:type="BL” nullFlavor="NI"/>
¢i-—— %, 1,3 3b: Life Threatening #6 —->
{/observation?
</outboundRelationship2>
CoutbotmdRelationship? typeCode=" PERT
{ohservation classCode="0BS” moodCode="EVN">
“¢oode code="33% codeSysten="Z. 16, 840, I, 113883, 3. 089. 2. 1. 1. 19 displayName="requiresInpatientHospitalization”/>
<value xsiitype="BL” value="true”/> C o
|-~ B, 1.3 2¢: Gaused / Prolonged Hospitalisation #6 —>
</ohservation>
¢/outboundRelationship2>
{outhoundRelationship? typeCoede="PERY">
(observation ciassCode="0BS” moodCode="BVN"> .
{code- code="35" codeSystem="2. L6. 840, 1. 113883, 3. 689, 11197 displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL" auilFlavor="NI"/>
¢l-— B 1.3.2d: Disabling / Incapacitating #6 -
{/observation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT">
{ohservation classCode="0BS” moodCode=TEVN™>
Coode code="12" codeSystew="2..16. 84C. 1. [13883. 3, 980. 2. 1. 1. 19" displayName="congenitalAnomalyBirthBefect”/>
<value xsistypes”BL” nullFlavor="NI"/>
{l=-E.j.3. 2e: Congenital Anowaly / Birth Defect #6 -->
{/observation>
{/outboundRelationshin2>
CouthboundRelationship? typeCode="PERT“>
{observation classCede="0BS" moodCode="EVN™>
Coode code="26" codeSystem="2. 16. 840, 1. 113883. 3, 089, 2. 1, 1. 19” displayName="otherMedicallyInportantCondition”/>
Cvalue xsi:type="BL” value="true”/>
(I B, i,3.2f: Other Medlcaily Important Condition #6 ~->
</observation>
{/outboundRelationship2>
{eutboundRelationship? typeCode="PERI™>
{ebservation ¢lassCode="0BS" moodCode="EVN™>
<sode code="27" codeSystem=72, 16. 840, 1. 113882, 3, 989, 2. 1, 1. 19" displayName="outcome”/>
<value xsiztype="CE” code="E, i.7" codeSystem="2.16.840.1.113883.3.989.2.1. 1. 11"/
¢i-— B.i.7: OCutcome of Reaction / Event at the Time of Last Chservstion #6 —>
{fobgervation? '
</outhoundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
Ccode oode="24" codeSystew="2. 16.84C. 1. 113883, 3, 689.2, 1. 1. 18" displayName="wedicalConfirmationByleal thProfessional”/>
Cvalue xsiitype="BL" value="true”/>
<}~ E i.8: Medical Confirmation by Healthoare Professional #8 —->
{/ohservation>
</eutboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="11" codeSystem="2, 15, 840, 1, 113883. 3. 989.5.1.3.2, £, 107 dlsplayNamm”sEe&u B />
¢yalue xsiitype="CE” code="J2.14. 1" codeSystem="2, 16, 840. 1. 113883, 3.980.5.1.3.2.1.8"/>
{1— @@@7z. 14,1 #kn - BEdn #6 —>
{/ohzervation> '
{/outboundRelationship2>
{/ebservation?
(/subjectOf2>
(subject0f2 typeCode="SB]>
{observation classCode="0BS” moodCode="EVN">
<id root="e0342969-38be—423f~bibb-celdbeT9d8e” />
Leode code="29" codeSysten="2. 16,840, , 113883, 3. 089. 2. 1. 1, 19" displayName="reaction”/>
CeffectiveTime xsiltype="IVL TS
<width value="24" unit="E. i.6b7/>
¢l . i,6a: Duration of Reaction / Event (nunber) #7 —>
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¢}~ E.i.68b: Duratien of Reaction / Event (unit} #7 >
{feffectiveTined

(value xsi:type="CE” code="E.i.Z 1b" codeSystem="2. 16.840. 1. 113883. €. 163" codeSystemVersion="E. i. 2, 1a">

e Bd 2. ta? MedDRA Version for Reaction / Event #7 -->
<d-— £.1.2. 1! Reaction / Event (MedDRA code) 7 —>
<originalText language="E.i.1.1b">E. i. L la{/eriginalTaxt

<l~= £ i, 1, 1a; Reaction / Event as Reported by the Primary Source in Native Language #7 —>
¢l E. .1 1b: Reaction / Event as Reported by the Primary Source Language #7 ~->

{fvalued
<location typeCode="LOC™>
{locatedintity classCode="LOCE™>
¢locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<oade code="E.i.9%" codeSystem="1.90.3166.1.2.2"/"

¢l— F.i.9: Identification of the Couniry Where the Reaction / Event Occurred #7 —>

/locatedPlace>
{/locatedBntityd
</location?
CotsthoundRelationship? typeCodes"PERT™>
{ohservation classCode="CRS” moodCode="EVH™>

{code code="30" codeSystem="2. L6. 840, t, 113883, 3. 985. 2. L. 1. 19" displayName="reactionForTransiation”/>

Cvalue xsittype="BD"OE, i, 1. 2</valued

¢l— B.i, 12! Reaction / Event as Reported by the Primary Source for Translation #7 -~

{/ehsgrvation?
¢/outboundRelationship2>
<outhoundReliationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>

{code code="37" codeSystem=‘2.16.840.1.113883.3.989.2.1.%.19“ displayMame="ternilighlightedByReporter”/>
<value xsiitype"CE” code=".i.3.17 codeSystenm="2, 16, 840. 1. 1313883, 3.989. 2. 1. 1, 10" />

{l-— B, i.3.1:Term Highlighted by the Reporter #7 >
¢/observation>
€/outboundRelationship2>
{outbaundRelationship2 typeCode="PERT™>
{observation classCode="0BS" noodCode="EVN™>

¢eode code="34" codeSystew="2, 16.840. 1. 113885. 3. 985. 2, L. 1. 18"

<value xsiitype="BL” values"true”/>
¢l~- B.i.3.2a: Results in Death #7 -->
{/observation) C
¢/outboundRelationshin?> :
<onthoundRelationship? typeCode="PERT">
{ohgervation ¢lassCode="0BS” moodCode="EVN">

<code code="21" codeSystew="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 19"

{yalue xsiitype="BL" mullFiaver="NI"/>
(l— B i,3.2b: Life Threatening #7 -
{/observation>
</outbeundRelationship2>
<outhoundRelationship? typeCodes"PERT™>
Cehservation classCode="0BS" moodCode="EVN™

Coode code=T33" codeSystem="2. 16.840. 1. 113883. 3,989, 2.1, 1, 19"

<value xsi:type="BL" value="true”/>
(hee B8, 3. 20! Caused / Prolonged Hospitalisation #7 —>
</observation>
<foutboundRelationship2>
{outboundRelationshipZ typsCode="PERT">
{observation classCode="0BS" moodCode="EYN">

Ceode code="35" codeSystem="2. 16, 840. [. 113883, 3. 988. 2. L. 1. 197

Cvalue -si!type="BL" nullFlaver="NI1"/>
{le— E, 1,3, 24 Disabling / Incapacitating #7 —>
{/ochgervation>
¢/outhoundRelationshipZ>
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="RYN">

Ceode codes" 19" codeSystem="2. 6. 840.%, 113853, 3, 689.2. 1. 1. 19"

<value xsi:type="BL" nullFlaver="NI"/>
¢l= B.i.3.2¢f Congenital Anomaly / Birth Defect H7 ~->
{/observation>
{/outhoundRelationship2>
CoutbotndRelationship? typeCode="PERT">
Lobservation classCode="0BS" moodCode="EVN">

<code code="26" codeSystem="2. 16.840. 1. 113884. 3, 989. 2. 1. 1. 19"

<value xsitypes"BL" value="true"/>
1=~ E.i,3.2f: Other Medically Impertant Condition #7 -
{/observation> '
</outboundfelationshipl>
<outboundRelationship? typeCode="PERT™>
. <observation classCode="0RS” mocdCode="EYN">
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displayNamem”rpsultsInDeath"/)

displayNeme="isLifeThreatening” />

displayName="requiresinpatientilospitalization”/>

dispiayName=”fusuitsInPersistentOzSignificantDisability”/)

displayame="congenitalAnomalyBirthilefect” />

displayName="otherMed:callyTmportantCondition” />



{eode coder"27" codeSysten="2, 16, B40. 1. 113883, 3, 989, 2, 1. 1. 19”7 displayNeme="outcome”/>
<value xsi:type="CR" code="E.i.7" codeSystew="2, 16, 840, 1.113883.3.68%. 2. L. 1. 11°/>
=~ E. 1. 7! Outcome of Reaction / Event at the Time of Last Chservation #7 -->
{/observation?
</outboundRelationshipZ>
<outboundRelationship2 typeCode="PERT">
<ohservatioh classCode="0BS” moodCodes"EVN">
(eade code="24" codeSysten="2, 16. 840. 1. 113883. 3. 089. 2. 1, 1. 19" displayNome= med1ca1Conf1rmaf1onByHea1thProfess1onal i
<value xsiitype= BL” value="true”/>
{l~- B.i.8: Medical Confirmation by Healthcare Professional #7 ~->
{/observation? :
{/outboundRelationship2>
CoutboundReiationship2 typeCode="PERT™>
Sobsexvation classCode="ORS” moodCode="EVN">
Ccode code="11" cudeSysten="2. 16, 840, 1, 113883, 3, 989. 6. 1. 3. 2. 1. 10" displayNeme="s85n - BE&0"/>
¢value xsirtypes"CE code="J2.14.1" codeSystem="2.16.840.1. 113883, 3,980.5.1.3.2. L.§"/>
<l @88J2. 14. 1 sekn - BEm #7 -,
{fobservationd.
{/outboundRelationship2>
{/obsexrvation>
</ sub joctOF2>
<subjectOf? typeCode="SB]” )
<ohservation classCode="0BS" moodCode="EVN">
<id root="al5be082-807T0-426d-af04-6863263443e07 />
¢code code="29" codeSystem="2, 16. 840, 1, 113883, 3.980. 2. 1. 1. 19” displayName="resction”/>
(effectiveTime xsiitype= SEPR.TS™>
Leomp xsiitype="IVL_TS™>
{low value="20080:81"/
[ B.i.4: Date of Start of Reaction / Event #8 -->
<width value="24" unit="E, i, 6b"/>
¢l-- E.i,6a: Duration of Resction / Bvent (number) #8 —>
{}== E.i.8b! Duration of Reaction / Event (unit) #8 -
</ oomp> -
{eomp xeiitype="IVL.TS” operator="A">
<high value="201012017/>
<|w~ 2 1.5 Date of End of Reaction / Bvent #8 —>
<{/comp>
{feffectiveTime?
Cvalue xsiztype="CE” code="E.1i.2.1b" codsSystem="2. 16,840, 1. 113883. 6. 163" codeSystemVersion="E i 2. 1a">
¢le= B, i, 2. lat MedDRA Vexsion for Reaction / Bvent #8 -—>
(I B 1.2.1b: Reaction / Event {MedDRA code) #8 —>
<originalText lahguage="E. i, i 1b™>E. i 1 lad/original Text>
¢l B i.1.Fa* Reaction / Event as Reported by the Primary Source in Native Languape #8 -
Jw H_ i, L, th? Reaction / Event as Reported by the Primary Source Language #8 ——>
{/value>
Clecation typeCode="L0C™>
{locatedintity classCode="LOCE™>
{locatedPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<code code="E.1.9" codeSystem="1.0.3166.1.2.27/>
4=~ B.1,9: Identification of the Country Where the Reaction / Event Occurred H8 —>
¢/ivcatedPlace’
{/locatedEntity>
</lacation>
{outhoundilelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{eode codew”30” codeSystem="Z. 16840, 1. 113883.2.080.2. 1,1, 19" displayName="reactionForfranslation”/>
<value xsi:type="ED">E. i. 1 Z{/value’ N
¢l~- £, i.1.2: Reaction / Event as Reporied by the Primary Source for Translation #8 —>
</abservation>
<fouthoundRelationshipZ> .
{euthoundRelationship? typeCode="PERT">
{ohservation classCode="0BS" moodCode="EVN">
<code code="37"" codeSysten="2. 15, 540, 1. 113883, 3,989. 2. 1. 1. 19" displayName="termHighlightedByReporter/>
<yaiue xsiitype="CE” code="E.1.3.1" codeSystem="2.16.840. 1. 113883. 3.986. 2. 1. 1. 10"/>
’ ¢4 B i 3. F:Term Highlighted by the Reporter #8 —3»
{/chservation>
{foutboundRelationshipdy _
CoutboundRelationship2 typeCode="PERT">
{observation classGode="0BS" moodCode="EVE">
<code code="34” codeSystew="2. 16. B40, 1, 113883, 3, 989, 2. 1. 1. 39" displayName="resultsInDeath”/>
<value xsiitype="BL" value="true”/>
<I-— E.i.3. 2a: Resuits in Death #8 —>
{/vbservation>
</eutboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
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(abservation classCode="0BS” moodCode="EVN™>

Ceade cade="21" codeSystem="2, 16. 840, 1. 113883, 3. 988.2. 1. 1. 19"

<yalue xsiltype="BL” nullFiavor="HL"/>
¢l-- E. i, 3.2bs Life Threatening #8 —>
</observation>
{foutboundRelationshipl>
<outhoundRelationship? typeCode="PERT™>
{observation ¢lassCode="0BS” moodCode="EVN™>

Leodo code™33” codeSystem="2. 16,840, 1,113883.3.989.2, 1. 1. 197

{value xsi:type="BL" value="true"/>
(I-- E.1.8.2¢" Caused / Prelonged Hospitalisation 8 -—>
</observation?
SouthoundRelationshipn2?
{outheundRelationship? typeCode="PERT™>
Cobservation classCode="0BS" moodCode="EYN">

<eade code="35" codeSystem="2, 16, 840, 1. 113883, 3. 989,2, 1. 1, 18"

Cvalue Xgi:types="BL” nuilFlaver="NI"/>
l— E.i. 3 2d: ﬂ1sab11ng / Incapacitating #8 —>
{/observation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{ohservation classCode="085" moodCode="EVN">

<oode code="12" codeSystem="2. 16,849, 1. 113883, 3,989, 2, 1. 1, 197

Cyalue xsiitype="BL” nullFlaver="NI"/>
¢le- Bi.3. 2! Congenital Ancmaly / Birth Defect #8 -->
{/ohservationd
</outhoundRelationship?>
<outboundRelationship? typelode="PERT™>
{observation slassCode="0BS" moodCode="EVN">

di splayName="isLifeThreatening”/>

displayName="requiresinpatientfiospitalization™/>

displayNape="resultaInPérai stentOrSignificantbisability™/>

displayName="congenitalAnomalyRirthbefect”/>

Ceode code="26" codeSystem="%. 16. 840. 1. 113883, 3. 989, 2, 1. L. 197 displayName="otherMedicallyImportantCondition”/>

<value xsiitype="BL” value="true”/>
e B 5.8, 2f Other Medically Iwportant Condition #8 —3
{/observation?
{/outboundRelationship2>
{outboundReiationship2 typeCode="FERT">
Cobservation classCode="0BS” moddCode="EYN™>

Coode code="27" codeSystem="2. 16. 340, 1. 113883.3.989. 2. 1. 1. 19"

displayNeme="cutcome” />

Lyslue xsiitype="CE” code="E.i.7" codeSystem="2, 16.840. 1. 113883.3.989.2. 5. L 11"/
{lwe B, i.7: Outcome of Reaction / Bvent at the Time of Last Observation #§ ——

{/abservation>
</outboundRelationship2»
<outboundRelationship2 typeCode="PERT” >
{ohservation classCede="0BS" moodCode="EVN">

Ccode code="24" codeSysten="2. 16, 840. 1. 113883. 3. 989.2, 1. 1, 197

{value xsi:type="BL" value="true"/>

displayName="med}icalContirmationByHealthProfessional”/>

¢t~ B i.8: Medical Confirmation by Healthcare Professxonai #8 -~>

¢/ebservation?
</ontboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCodea="0BS" moadCode="EVN">

{eode code="11" codeSystem="2.16. 840, 1. 113883, 3, 989. 5. 1. 3. 2. 1. 107 displayName="3K40 - FE40"/>
<yalue xsi:type="CE” code="J2.14.i" codeSysten="2, 16, 840. 1. 113883 3,989.5,1.3.2.1.8"/>

{1 BBAY2. 14.§ R - BEip 48 -2
{/observation?
</outhoundRelationship2>
</observation>

</subjectOf2>

<subject0f2 typeCode="SBI">
<organizer classCode="CATEGORY” moodCode="EVN">

<eode sode="3" codeSystem="2. 16. 840, 1. 113883, 3,089, 2. 1. 1. 207 dxsplayName— testsAndPrccedﬂresRelavantToTheInvest1gat10n />

<compenent typeCodes"COMP™>
{observaticnh classCode="0BS" mocdCode="EVN">

¢cade- code="F. . 2. 2b" codeSystem="2. 16. 840. 1. 113882, 6. 163" codeSystemVersion="F.r. 2 2a">

{1~= F.r. 2 2a: MedDRA Version for Test Neme #I -->
e B.x. 2. 2b: Test Name (MedDRA code) #1 ~>
<originaiText R, r. 2, 1</originalText>
(= B.x, 2. 11 Test Name (free text) HI -->

{/feode?

<effectiveTime value="20090101"/>

(J-= F.r.1: Test Date #1 —>

<value xsi:type="IVL_P§™>
{center value="10" unit="mg/di"/>
¢l-= B.r. 3.2t Test Result (value / qualifier) #1 —>
-~ B, r. 3.3 Test Result (unit} #1 —>

</value>
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<interpretationCode code="F.x. 8,17 codeSystem="%, 16, 840, 1. 113883, 3. 689.2. 1. 1. 12"/>
(e~ F. .3, 1: Test Result (code} #1 ~~>
{referenceRange typeCode="REFV™>
<observationRange classCode="0BS™ moodCode="EVN. CRT">
<value xsiitype="PQ” value="40” unit="mg/d1"/>
¢l— B r.4: Normal Low Value #1 —>
{interpretatisnCode code="L" codeSysten="2, }6. 840. 1. 113883. 5. 83"/>
</observationRange>
</referencelangsy
{referenceRange typeCode="REFV™>
{observaticnRange classCode="0BS moodCode="EVN. CRT™>
Cvalue xsiitype="PQ" value="110" unit="mg/d1"/>
¢l R y. 5! Normal High Value #1-->
¢interpretationCode code="H” codeSystem="2, 16. 840, 1. 113883, 5.83"/>
{/observationlange>
¢/referenceRange>
CoutboundRelationship? typeCode="PERT™>
¢observation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 19”7 displayNime="comment”/>
<value xsi:type="ED">F. 1. 6</value>
(I-— B r. 6! Comments (free text) §1 —>
{/obgervation>
</outboundRelationship2>
CouthoundRelationship? typeCode="REFR™>
<observation classCode="0BS” moodCode="EVN"> )
(code code="25" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" displayNeme="moreInformationdvailable”/>
¢value xsi:type="BL” value="true”/>
I-F. 1, 7t More Information Available #1 —->
{/observation>
</outboundRelationship2>
{/obhservation>
</component>
<component typeCode="COMP">
{ohservation ¢ciassCode="0BS" moodCode="EVN">
{codo codem F.x. 2.2b" codeSystem="2. 16, 340, 1, 113883. 6. 163" codeSystewVersion="F.x, 2 2a">
Jwe B x, 2.2a% MedDRA Version for Test Neme #2 ~—>
- By, 2.2b Test Neme (MedDRA code) H#2 -—>
CoriginaiText>F. r.2. 1</originalText>
- B.r.2.%: Test Name {(free text) #2 —>
{/code?
<effectiveTime value="20090101"/>
(= B v, 1: Test Date #2 —>
<value xsi:type="IVL_PQ">
<low pullFlaver="NINF"/>
<high value="10" unit="ng/d}" inclusive="false”/>
{valued
¢l F, 1,3, 2 Test Result {value / qualifier) #2 -->
<l F.r.3.37 Test Result (unit) #2 —>
<I-- LT 10 mg/dl #2 —> '
{/observation>
{/eomponent>
{component, typeCode="COMP™>
{ohservation clzssCode="0BS" moodCode="EVN™>
Ceode code="B. 1. 2. 26" codeSysten="2, 16. 848, 1. 113883, 6. 163" codeSystemVersion="F. r.2.22">
-~ F,r. 2 %a: MedDRA Version for Test Name #3 —>
(l~~ F.r.2.2b: Test Name (MedDRA code) H3 -->
<originaiText>F. r. 2. 1</originalText>
{J=~ F.r.2.1: Test Name {free text} #3 -->
</code>
<effectiveTime value="200901017/>
¢l R.r.1: Test Date #3 —>
<value xsi:type="IVL_PR™>
<low nulliFlavor="NINF"/>
<high valte="10" unit="mg/d}” inclusive="true”/>
</value>
Cloe Fox, 8,20 Test Result (velue / qualifier) #3 -->
¢i-— F.y, 8.3 Test Result (unit} #3 —>
- LE 10 mg/dl #3—>
{/observation>
</component>
{component typeCode="COMP™> .
{chservation classCode="0BS" moodCode="EYN">
<code code="F. 1.2 2b" codeSysten="2. 16. 840. 1. 113883, 8, 163" codeSystemVersion="F.r.2. 2a">
(i~ F,r. 2 2a: MedDRA Version for Test Nawe #4 -—>
e For. 2,250 Test Name (MedDRA code} #4 —>
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CoriginalTextdF. r. 2. 1</ariginalText>
(== F.r.2. 1 Test Name (free text) #4 ——>
{foode>
<effectiveTinme value="200901017/>
= F,r, 1 Test Date #4 —>
<value xsi:type="IVL_PG™>
ow value="10" unit="mg/d1” inclusive="false”/>
Chigh nul iFlavor="PINE" />
<fvalue>
(tee Box,3.20 Test Result (value / gualifier) B4 -->
d-- B.r, 8.8 Test Result {unit) #4 -
e 6T 10 mg/dt #4 =
</observationd
{/component>
Coomponent typeCode="COMP™>
Cobservation classCode="0BS" moodCode="EVN™>
<eode code="F. r. 2. 2b” codeSysten="2 16.840, L. 113883, 6. 163" codeSystemVersion="F, r. 2. 2a">
¢l-= F.x, 2, 2a: MedDRA Version for Test Nawe #5 —
Lo By, 2. 2b: Test Name (MedDRA code) HE ~->
<originalText>F, r. 2. 1<{/originalText>
= B 1. 2.1 Test Name (free text) #5 —>
</eode>
<effectiveTime value="2005010%"/>
¢l B r. 1! Test Date HE ~>
{value xsi'type="IVL_PQ™
<low value="10" unit="mg/dl” inclusive="true"/>
<high nullBlavor="PINE"/>
{fvalued
== §.x. 3,20 Test Result (velue / qualifier) #& —>
(i-= F.1.3.30 Test Result (unit) #5 —->
G- GE 10 mg/di #8 -
{/ebservation>
</camponent>
{eomponant typeCodeﬁ’COM?”)
{abservation classCode="0BS" moodCode="EVN">
{code code="F.z.2. 26" codeSystem="2. [6.B40. 1. [13883. 6. 163" codeSystenVersion="F. r. 2. 2a™>
¢le= Py, 2 2a' HedDRA Version for Test Name #6-~—>
<~ F.x.2.2b: Test Name (MedDRA code) HE -->
{originalText?F. r. 2. 1{/originalText>
(— B r. 2.1 Test Name (free text} H6 —->
{feaded
CeffectiveTime value="20050161"/>
(== R r.1: Test Date 8 —>
{value 1si:type="BDOF, r. 3. 4</value>
<l=~ F,1.3.4: Result Unstructured Data {free text) #6 >
{fobservation>
<feenponent>
<forganizer>
</subjoctOf2>
<subject0f? typeCode="SB}">
{exganizer classCode="CATEGORY” moodCode="E¥N">
<code code="4" codeSystem="2. 16, 840, 1. 113883. 3. 985, 2. 1. 1. 20" displayName="drugInformation”/>
¢l— G.k brugls) Information (repest as necessary) #1 —>
{component typeCode="COMP”>
(substanceddministration classCode="SBADH" moodCode="EVN" >
$id root="3c91bdd5-e039-4a7a~9c30~6767 1b0ef9ed” />
Zeonsumable typeCade="CSM™>
<instanceOfKind classCode="INST™>
Ckind0tProduct classCade="MMAT™ determinerCode="KINB">
<code code="G. k. 2. 1. Ib” codeSysten="TBO-MPID” codeSystemVersion="G.% 2. 1. 1a"/>
(4= 6.k 2.1, la: MPID Version Date / Number #I ——>
(o= 3k 2. 1. 1b: Medicinal Product Fdentifier OPIDY #1 ——>
<nameG, k. 2, 2</name>
¢hew Gk 2.2: Medicinal Product Name as Reported by the Primary Sowrce #1 —>
CasManufacturedProduct classCode="MANU">
{zubjectdf typeCodes"SB]™>
Capproval classCode="CNIRCT” moodCode="EVN">
<jd extension="G.k.3. 1" root="2. 18, 840, 1. 113883. 3.989. 2. 1.3.4°/>
¢i- k. 3. 1¢ Authorisstion / Application Number #1i ~->
Cauthor typeCode="AUT">
(territorialAuthority classCode="TERR™
<territory classCode="NAT" determirerCode="INSTANCE™>
(code code="0.k.3. 2" codeSystem="1.0.3166.1.2:27/>
¢l-- G.k. 5.2 Country of Authorisation / Application #1 —>
{fterritory>
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{/territorialhuthority>

</fauthor>

<pertinentInformation typeCode="PERT™>
<policy classCode="POLICY" moodCode="BVN">

Ceode code="J2.5. k" codeSystews"2. 16.840. 1. 113883, 3.089.5. 1.3. 2. L.4"/>
U— geaJe. 5.k —RREEEZEO Y A7 EHS W >
<ipoliey> :
{/pertinentInformation?
</approval>
{/subject0f>

{subject0f typeCode="5B]">
<charagteristic classCode="0BS” mocdCode="EVN™>
<code code="1° codeSysten="2, 16, 840. 1. 113883. 3. 986. 5. 1. 5. 2. 1. 107 displayName="#ERBE ORFES />
Cvalue xgiitype=CE” code="J2. 4. k" codeSysten="2, 16, 840.1. 113883, 3.989.5.1.3. 2. L. 30
<1 geaJz. 4.k HEERGORKES §#1 —> :
{/characteristic?
</ subject{l>
</asMarufacturedProduct>
(asSpecialized¥ind classCode="GEN">
{generslizediaterizlKind classCode="MAT" determinerCode="KIND™>
{code> -
<originalText>J2, $2</originalText>
<l geJ2. 12 RSS2
</coded !
</generalizedMaterialKind>
{/asSpecializediind>
<ingredient classCode="ACTI™>
<{guantity>
<numerator value="10” unit="G.k. 2.3, 1. 3b"/>
e Gk 2.3.r.320 Strength {number) #i-1 —>
== G, k. 2.8 1. 3b: Strength {(unit) #1-1 —>
{denowinator value="1%/>
{/quantity> .
{ingredientSubstance classCode="MMAT” determinerCode="KIND™>
<eode code="6. k. 2, 3. 1. 2b" codeSysten="TED-Substance™ codeSystemVersion="G.k. 2. 3. r.2a"/>
¢le- G.k.2.3.1.2a: Substance / Specified Substance TermiD Version Date / Number #1-1 —>
A Gkl 2.3, 7. 2b0 Substance / Specified Substance TermiD #1-1 ——>
<hamedG. k. 2. 3. x. 1</hame>
¢l=- G.k.2. 3.7, 1t Substance / Specified Substance Name #1-1 ~3
</ingredientSubstance? i
¢/ingredient>
<ingredient classCode="ACTE™>
{quantity?
Cnumerator value="10" unit="6.k. 2. 3.1, 3b"/>
¢i== Gk 2.3, r. 380 Strength {(number) #i-2 ~—>
G- Gk 2.3 1, 3b; Strength (unit) #1-2 —>
<denominator valye="1"/>
<fquantity>
<ingredientSubstance classCode="MYAT" determinerCode="KIND™>
{code code="G. k. 2. 3. 1. 2b" codeSysten="TBD-Substance” codeSystemVersion=".k, 2. 3.1.22"/>
<l 6. k.28 r. 22 Substance / Specificd Substance Texmilt Version Date / Number £1-2 —>
¢l~= G. k.2.3, 1. 2b: Substance / Specified Substance Termil #1-2 —>
<name>G. k. 2. 3. r. 1¢/nane> L
<I~- 6.k, 2.3.r. 1! Substance / Specified Substance Name ¥1-2 —>
{/ingredientSubstance>
</ingredient>
</kind0fProduct>
Cgub ject0f typeCode="SB1">
{productfvent classCode="ACT” mosdCode="EVN">
Coode code="1" codeSystem="2, IG. B40. 1. 113883, 3, 988. 2. L. 1. 18" displayName="retailSupply”/>
{performer typeCode="PRE™> :
<agsignedintity ciassCode="ASSIGNED™>
¢representedirganization classCode="8RG™ determinerCode="INSTANCE™>
<addr>
{country>G. k. 2, 4/ country?
Ao G, k, 2. 47 Tdentification of the Country Where the Drug Was Gbtained #1 -2
{faddr> .
{/representedOrganization
{/assignedBntity?
</performer?
<{/productBvent?
{/subject0f>
<subject0f typeCode="SBI™> .
(chservationBvent classCode="0BS” moodCode="EVN™>
Coode code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989.5. 1.3, 2, 1, 10" displayName="—RXRBIRA D AFER"/,
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Cvalue xsiitype="CE" code="JZ.6.k" codeSysten="2. 16.840.1. 113883.3,989.6.1.5.2.1.57/>
<i— egarz. 6. ki —RAEEROAFRE 11 —
¢/ohservationEvent)
{/subjectGf)
</instance0fXind>
</consumable>
<outhoundRelationshipt typeCode="SAS™>
<pauseQuantity values"10" unit="G.k. 9.1i.3 1"/
¢l G. k. % 1.3. 1la . Time Interval between Baginning of Drug Administration and $tart of Reaction / Event (number) Drug #1,
Reaction #1 --> ’
e~ G k. $ 5.3, 10 Time Interval between Beginning of Drug Administration and Start of Reactien / Event {unit) Drug #1,
Reaction #1 —>
(actReference classCode="0BS" moodCode="FEVN">
<id root="154eb889-G58b~4552a02f~42d4d61465TE" />
</factReference?
¢/outboundRelationshipid
{authoundRelationshipl typeCode- SAE™>
¢pauseQuantity value="10" unit="6. k. 0.1i.3. 26"/
lem G k. 9. 1. 8. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction #1 —-

¢1—— G, k. 9.1. 3, 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #, Reaction #1 —>
<actReference classCode="088" moodCode="EVN">
<id root="164eb889~958b-45£2-a02f~42d4d6F465TE” />
{factReference
{/outboundRelationshipl>
{outboundRelationship? typeCode="SAS">
{pauseQuantity value="10" unit="G.k. 9. 1.3, 18"/>
<J== G. k. 9. 1.3. la: Time Interval between Beginning of Drug Administration and Start of Reactzon / Event {number) Drug HI,
Reaction #2 ~~>
' ¢l G.k,9.1,3,1b! Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (unit) Drug #1,
Reaction #2 —-> '
' <aatReference classCode="0BS" moodCode="EVN"> .
¢id root="0baa2Bdf-c9e8~defo-G3ed~5bBE0bI14220" />
{/actReference>
</outboundRelationshipt>
<putboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G. k. & 1.8.2b"/>
e Gk 9.1, 3. 22 Time Intexval between Last Dose of Drug and Start of Reaction / Event (number} Drug #i, Reaction H2 -

i~ 6.k 9.1.3.2b: Time Interval between Last Dose of Drug and Staxt of Reaczian'/ Event (unit} Drug B1, Reaction #2 —>
{agtReference classCode="0BS" moodCode="BYN">
<id root="2baa28dé-cle8~4e6c-9300-5h860bI142207
{/actReferenced
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SA§">
<pauseQuantity value="10" unit="G.k. 9. i.3.1b"/>
<l G, k.8, 1.3, la Time fnterval bhetween Beginning of Drug Administration and Start of Reaction / Event (number) Drug #1,.
Reaction #3 —-»
== G, % 9. i, 3. Ib: Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent {unit) Drug &1,
Reaction #3 —> ’ .
<actReforonce classCode="0B8" moodCode="RVN">
<id root= 3486260b—9fIbM4eaSMSaﬂfwe0ff3é430adf fs
</actReference>
</outboundRe1at10nshipl>
{outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.%& 9.1.3.2b"/> )
e G.k.9.1.3.23 time Interval between Last Dose of Drug and Start of Reaction / Bvent {number) Drug #1, Reaction #3 -~

(== G, %.9.7.3.2b: Time Interval hetween Last Dose of Drug and Start of Reaction / Event {unit) Drug #1, Resction #3 —>
<actReference classCoda="0BS8" moodCode="EVN">
id root="3a8626¢h-8f1b-4ea8-8a0f~e0fE34430adE” />
{/actReference?
</outboundRelationshipl>
{outhoundRelationshipl typeCode="SAS">
{pausefuantity value="10" unit="G. k. 9,13, ib"/>
<|—— Gk 913 1a Tiwe Interval between Beg1nn1ng of Brug Adiinistration and Start of Reaction / Bvent (number) Brug #1,
Reaction #4 ——>
(I G, . 9.1.8.1b: Time Interval between Beg1nn1ng of Drug Adm1n1strat1on and Start of Reaction / Bvent (unit) Drug #i,
Reaction #4 —>
<actRefersnce c¢lassCode="(BS" moodCode= EVN>
<id root="2089840f-08b4-49%c~B0fF~ddB415£4r8aS" />
</zetReferenced
</outbeundielationshiply
<outhoundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.5.1.3.2b"/>
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Reaction #% ~->

Reaction #5 -—>

Reaction #6 ~->

Reaction #6 -3

Réaction #7 =->

Reaction #7 ~->

Reaction #8 —>

Reaction #8 ~->

e G.%. 9.4, 3. 22: Time Interval beiween Last Dose of Drug

¢I— Gk 94,320 Time Interval between Last Dose of Drug
{actRefersnce classCode="0BS” moodCode="EVN">
2id root="2e008407-08b4-400c-80FF~dd8415F4F8a5" />
</mctReference>
</outhoundRelationshipl>
<outboundRelationshipl typeCodes” SAS >
<pauseQuantity value="107 wnit="G. k. 9.1.3. 187/
¢l G.%.9.i.3.1at Time Interval between Beginning of Drug

¢le- G, %, 9,1.3.1b Time Interval between Beginning of Drug

CactReference classCode="0BS" moodCode="EVN">
¢id root="1071064c~¢f10-4a3b~83ci~34F09ddb7eabd” />
</actReference>
</outboundRelationshipl>
CoutboundRelationshipi typeCode="SAE">
<{pauseQuantity value="i0" unit="0.%.9.1.2.2b"/>
¢t-— G k. 9.1, 3. 2ar Time Interval between Last Dose of Drug

o 6.k 9,132 Tiwe Interval between Last Dose of Drug
CactReference classCode="0BS" moodCode="EVN™>
£id root="1071064ccfi0~4a3b-83c1-3410ddbTeatid” /)
</actReference>
{foutboundRelationshipl>
<outhoundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G k & 1,3.1b"/>
1o~ .k 9 1.3 la: Time Interval between Beginning of Drug

¢lew Gk 8. £.3.1b! Time Interval between Beginning of Drug

{actReference classCode="0BS" moodCode="EVN">
{id root="1f927283-10b6-4334-9443-e0256405b18L7 >
{/actRelorence>
</outboundRelationshipl>
{outhoundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit=”G.k.Qti.3.2b"/>
{l— 6. k. 9. 1.3 2a: Time Interval between Last Dose of Drug

l=- G, k. 9. 1i.3.2b! Time Interval between Last Dose of Drug
ZactReference classCode="0BS" moodCode="EVN™>
<id root="1£927283-106~4334-9d43-e925640Fh 181" />
</actReference>
{/outboundRelaticnshipl>
CouthoundRelationshipl typeCode="SAS™>
* <pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
<i~- G.k. 9.1, 3. 1a! Time Interval between Beginning of Drug

¢l=— G.k 8.1.3. 1h: Time Interval between Beginning of Drug

(actReference classCode="0BS" moadCode="EVN">
<id root="e0342069~38he-423f-b6bb—celdhe279d8e" />
{factReference’
¢/outhoundRelationshipl> .
{outboundRelationshipl typeCode="SAE"™>
<pauseQuantity value="10" wnit="G. k9.1, 3.26"/">
< G k.9, 1, 3. 287 Time Interval between Last Bose of Drug

G- G.k.9. 1, 3. 2b: Time Interval between Lasi Dose of Drug
{aotReference classCode="0BS” moodCode="EVN™>
<id root="c0342969-38be~423f~b6bb-ce14be2T9d8e” /)
</aciReference>
{/outboundRelationshipl)
<outboundRelationshipl typeCode="SAS™>
<pauseQuant1ty value: 107 wnit="G. k. 9. 1. 3. 1b” />

<actReference clzssCodes"C0BS™ moodCode="EVN">
<id root="albbel92~BOT0-426d-af04-6863263443e0” />
</actReference>
</outboundielationshipl>
CoutboundRelationshipl typeCode="SAE™>

w 5 -

and Start of Reaction / Bvent (number) Drug #1, Reaction #4 —

and Start of Reaction / Event (umit) Drug #i, Reaction #4 —>

Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event (enit} Drug #1,

and Start of Reaction / fvent {number) Drug #¥1, Reaction #5 --

and Start of Reaction / Bvent {unit) Drug #1, Reactien #5 —>

Adipinistration and Start of Reaction / Event (mmber) Drug #1,

‘Administration and Start of Reaction / Event {unit) Drug #1,

and Start of Reaction / Event (number} Drug #i, Reaction #6 —

and Start of Reaction / Bvent {unit) Drug #1, Reaction #6 —>

Administration and Start of Reaction / Bvent {number) Drug #i,

Administration and Start of Reaction / Event {unit) Drug ¥1,

and Start of Reaction / Bvent (number) Drug #%, Reaction #7 —

and Start of Reaction / Bvent (unit) Drug #1, Reaction H7 —>



<panseQuantity value="10" unit="6.k.9.1.3.2"/>

<t~ . k. 9.1, 3, 25 Time Interval betveen Last Dose of Drug and Start of Reaction / Hvent (unit} Dxug #1, Reaction K8 ~>

<actReference classCode="0BS" moodCode="EVN™>
<id root="al5be092-8070-426d-2£04-6863263443e07/2
</actReference?
{/outboundReiationshipl>
<outboundRelationship2 typeCode="PERT”>
{ohservation classCode="0BS" meodCode"BVN™>
¢oode code="8" codeSystom="2. 15, 840. 1. 113883, 3. 986, 2. 1. 1. 19" displayNeme="blinded” />
¢value xsiitype="BL™ value="true”/>
¢t G k.2.5: Investigational Product Blinded H1 —>
</ohservation>
</outboundRelationship2>
(outhoupdRelationship? typeCode="COMP">
<t~~ G.k. 4. r: Dosage and Relevant Information (repeat as necessary) #1-1 -—>
<substanceAdministration elassCode="SBADM" mocdCode="EVNY
<textdG. k. 4. r. 8¢/text>
l=- G. k. 4.1, 87 Dosage Text #l-1 ~>
CeffoctiveTime xsiitype="SXPR_TS™>
<comp xsi:type="PIVL_T5">
<peried value="10" wnit="G.k 4, 1.3"/>
<i— G, k 4. r.2; Number of Units in the Interval #1-1 —>
¢t Gk 4. 1.3 Definition of the Time Interval bnit #i~1 —>
<feompd
<eomp xsiitype="IVL_1S” operator="A">
low value="20000105"/>
== G. k. 4. 1. 4: Date and Time of Start of Drug #1-1 >
Chigh value="200801017/>
(e Gk, 4.1, 50 Date and Time of Last Administration #I~f -7 -
{/comp> ‘ ’
Ceomp xsiitype="IVL TS" cperator="A">
<width value="4" unit="G.k 4.r 6b"/>
<l-= &,k 4.r. 6a: Duration of Drug Administration (number} #1-@ —>
<= . k. 4. 1. 6b: Duration of Drug Administration (unit) #1-1 —>
</ comp> '
¢/effectiveTime>

¢routeCode code="G. k. 4. r. 10. 26" codeSystem="2, 16. 840. 1. 113883, 3. 989. 2, 1. 1. 14" codeSystemVarsion="G. k. 4.1, 10. 2a">

&)=~ G.k. 4. 1. 10, 2a: Route of Administration TermID Version Date / Number #i-1 ~->
<=~ G,k 4. r. 10, 2b: Route of Administration TernID Hl-1 —>
{originalText>G. k. 4. r. 10, 1</originalText>
<=~ 6.k 4.1 10. 17 Route of Administration {free text) #i-1 ——>
{/routeCade?
<doseQuantity value="10" unit="G.k 4 z. 1"/
(- G k.4.r. Iz Dose (number} #i-1 —>
Kl Gk 4, r. 1b: Dose {unit) #1-1 ~>
{eonsumable typeCode="CSH">
<instanceOfKind elassCode=" ENST™
{productipstancelnstance classCode="MMAT” determinerCode="INSTANCE">
{lotNumberText>G. k. 4. v, 7</LlotNusberText>
¢4~ G.k 4. 1.7t Bateh / Lot Number #1-1 ——>
{/produst Instancelnstance>
¢kind0fPreduct classCode="MMAT" detemlnerCoda~ "KIND>

¢fornCode code="G. k, 4.1. 9. 2b” codeSystem="TBD~DoseForn” codeSystenVersion="G. k. 4.r.9. 2a"™>
3o Gk 4. 1. 9. 22! Pharmaceutical Dose Form TermiD Yersion Date / Number Hi-1 -->

<i-= G.k. 4. r. 9. 2b: Pharmaceutical Dose Form TermiD #1-i -->
<originalText>S, k. 4. r. 9. 1{/originalText> ’
{4 G.k. 4. r.9.1: Pharmaceutical Dose Form (free text) #1-1 ~>
</formCede> )
</kind0fProduct>
{/instariceOfKind>
</censumable>
<inboundRelationship typeCode="REFR"™>
{ohservation classCode="0BS" moodCode="BYN™>

¢eode code="98" codeSystem="2, 16. 840. 1, 113883, 3. 489, 2. 1. 1. 18" displayNawe="parentRoute0fAdministration”/>
{valve xsiltype="CE" code="G. k. 4.r. 11.2b" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2. L. 1. 14" codeSystenVersion="0.k. 4.r.

i1, 2a"™>

(3~ Gk 4.1 13 2a: Parent Route of Administration Termld Versica Date / Number #l1-1 >

- G k.4 r. 13.2b: Parvent Route of Administration Termld #1-1 —>
CoriginalTextG. k. 4. r. 11, IK/original Text>
(3=~ G k. 4.7, 15, 1; Parent Route of Administratien (free text) #l-1 ~>
</valued
</observation>
</inboundRelationshipy
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</substanceddninistrationd
{/outboundRelationship2>
<outhoundRelationship2 typeCode="COMP™>
¢l G. k. 4 r% Dosazge and Relevant Information {repeat as necessary) Hl-Z -->
{substancehdninistration classCode="SBADN™ moodCode="EVN">
<textG. k. 4, x, B< text> . '
<l— G,k 4.r. 8 Dosage Text #i1-2 —>
<effectiveTime xsi:type="SXPR_TS™>
{comp xsi!type="PIVL_TS™>
<period value="10" unit="G. k. 4.r. 8"/
o Gk, 4ox. 20 Number of Units in the Intexval #1-2 -
}=- G.k. 41 3 Definition of the Time Interval Unit #1-2 —>
</ comp?
{eomp x5iitype="IVL_TS" operater="a">
(low value="20090101"/>
¢~ G.k.4.1.4: Date apd Time of Start of Drug #1-2 -->
‘high vaiue="20099151"/>
G G k4. 1.5 Date and Time of Last A&mmstratlon #1~2 >
{/eoup>
{/effectiveTime>
<reuteCode code=*G, k. 4 1. 10, 2b” codeSystem="2. 15. 846. 1. £13883. 3, 989 2. 1.1, 14" codeSystemVersion="G, k. 4. r, 10. 2a™>
= G.k 4.1, 10, 2a: Route of Administration TermiD Version Date / Number §1-2 -—>
<l—= G. k.4 r. 10,25 Route of Administration TeraID #1-2 ~>
CoriginalText?G. k. 4. 1. 10, 1<{/originalText>
¢l G k.1, 10, 15 Route of Administration (free text) #i-2 -—
</routeCode>
<dosefuantity value=" 1" unit="6.k 4.r. 1"/
== G,k 4., la Dese {number) #1-2 —>
<l Gk 4. x. 1h: Dose (unit) B1-2 —>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST">
(productInstancelnstance classCode="MMAT® determinerCode="INSTANCE™>
. <lotNumberText>G. k. 4. x. 7</lotNumberText>
{1 G.k. 4. 7. 7' Batch / Lot Number #1-2 ~>
</productInstancelnstanced
<kindOfProduct classCode="MMAT” determinerCode="KIND™>
¢Fornlode code="G. k. 4. 1. 9. 2b” codeSysten="TBD-DoseForw” codeSystemVersion="6.k 4.1.9.2a"»
{l== G,k 4.1r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-2 -5
- Gk 4.1. 9. 2b: Pharmaceutical Dose Form TermID #1-2 —->
{originalText>G. k. 4.r. 9, 1</originalText>
¢l— 6.k 4. 1.8} Pharmaceutical Dese Form {free text) #1-2 >
{/FormCode>
{fiind0OfProduct?
</instance0fKind>
</consumable?
<inboundRelationship typeCode="REFR">
{ohservation classCode="0BS” moodCode="EYN"> ’ :
¢code code="28" codeSystem="2. 16, 840, 1, 113883, 2.989.2. 1. 1.197 dxsplayﬁame- parentRouteCfAdninistration”/>
Cyalue xsi:type="CE" code="G.k.4.1.11.2b" codeSystew="2. 16. 840. 1. 113883, 3,989, 2. 1. . 14" codeSystenVersion="6. k. 4. 1.
11 28" .
4= G k.4, r. 11 2a: Parent Route of Administration TermlD Version Date / Number #1-2 —¥
i~ Gk 4. 1. 11 2b: Parent Route of Administration TermID #1-2 —>
{originalText>G. k. 4. r. 15, i</ original Text>
(i== G k.4.r.11. I Parent Route of Administration (free text) #1-& —>
{/value>
{/observstion>
¢/ inboundRelationship>
</substanceAdministration>
</outhoundRelationship2>
<outboundRelationshin? typeCode="COMP™>
4= G.% 4.r: Dosage and Relevant Informstion (vepeat as necessary) H1-3 —>
<substanceAdministration classfode="SBADM" moodCode="EVN™>
<text>G. k. 4. v. 8</text>
¢l G. % 4.r.8: Dosage Text #1-3 —>
<effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="PIVL_TS™>
(period value="10" unit="G.k. 4.1.3"/
¢— ¢ k4. r. 27 Number of Units in the Interval #1-3 -->
¢)== §. k. 4.1, 37 Definition of the Time Interval Unit #1-3 —
</comp>
<comp xsiztype="IVL 13" operator="A">
{low value="20080101%/>
<—- Gk 4.1 4: Date and Time of Start of Srug #1-3 —->
<width value="4" unit="G. k. 4. r. 6b°/>
¢l-- G, k. 4.1, Ba: Duration of Prug Administraticn (number) #1-3 —>
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¢l-- G.% 4 r.6b: Duration of Drug Administration f{unit) #1-3 —>
</comp>

{feffectiveTine?

{routeCode code="G. k. 4. 1. 10. 2b” codeSystem="2, 16, 840, 1, 113883, 3, 989.2. 1. 1. 14" codeSystenVersion="G. k. 4. r. 10, 2a™>
¢l-~ 6.k 4.7r.10. 2a: Route of Administration TexmID Version Date / Number H1-3 —>
(le G k. 4.r.10.2b: Route of Administratien TermiD #1-3 -->
<originalText>G. k. 4. 1. 10, I</criginalText>
¢ G. k. 4.1, 13 17 Route of Administration (free text) #1-3 -

{/routeCode’

¢dosefuantity value="10" unit="G.k.4.r. 18"/

= Gk 4. r La Dose (umbex) #1-3 -5

{— G.k 4. r kb Dose (unit) #1-3 —>

<oensumable typeCodes"CSH™
{instanceOfKind classCode="INST">

<productinstancelnstance classCodes"MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7¢/lotNuzberTexts
¢lww Gk 4. r. 70 Batch / Lot Number #1-3 —>
<{/productInstanceinstance?
<kind0fProduct classCode="MMAT" detexminerCode="KIND"> |

formCode code="6. k. 4.1.9. 20" codeSystem="TBD-DoseFora” codeSystemVersion="6. k. 4.r.9.2a">
¢l== G,k 4. 1.9.2a: Pharmaceutical Dose Form TermiD Version Date / Number #1-3 -->
<l G. k. 4.1.9.2b: Pharmeceutical Dose Form Termid #1-3 —>
CoriginalText>G. k& 4 1. B i</oxiginalfext>
<l G.k.4.1.9. 1: Pharmaceutica} Dose Form (free text} H1~3 >
</FormCode>
</hindOfProduct>
{/instance0fKind>
</eonsumabie>

<inbourndRelationship typeCode="RERR™>
Cobservation classCode="0BS” moodCode="BYN"> :
{code code="28" codeSystem="2. 16. 840, 1. 113883, 3, 989, 2, L. 1, 18" displayName=" parentRouterﬁdmnzstratwn e
. Cvaltle xed!type="CE" code="G, k 4, r. 11, 2b" codeSystem="2. 16, B40. 1. 133883, 3. 989, 2, 1, 1, 14" codeSystenVersion="G. k. 4.1.
11.2a™> -
: ¢l G,k 4.1, 11.2a: Parent Route of Administration Termld Yersion Date / Number #i-3 -
== G.k.4. 1. 11, 2b: Parent Route of Adwinistration TernID #$1-3 -
originalText>6. k. 4. v, 11. 1</originalText>
<l— G.k 41 11.): Parent Route of Admindstration (free text) #1-3 -3
{/value>
{/ohservationy
</inboundRelationship>
{/uubstanceAdministration>
{fouthoundRelationship2> ’
<outbotndRelationship? typeCode="COMP™>
<i— G k4. r! Dosage and Relevant Information {repeat as necessary) #1-4 —>
{stbstanceAdministration classCode="SBADN" maodCcde— BVN">
CtextyG. ko 4. r 8¢/ texty
l=— G. k. 4.1, 8: Dosage Text #i-4 -->
<effectiveTime xsi!type="SXPR_TS™>
Ccomp xsiitype="PIVL_TS">
<period value="10" unit="G. k. 4.r.3"/>
o Gk 4.1, 27 Number of Units in the Interval $1-4 —>
¢l-— Gk oA r 81 Definition of the Time Interval Unit #1-4 ——
{feomp>
{comp xsi:type="IVL_T§"” operator«~"A”)
Cridth value="4" unit="G.k. 4. 65"/
¢— G.k L r. 6a: Duration of Drug Administration (number) $Hi-4 -~>
e G k.40, 6b2 Duration of Drug Administration (unit) #1-4 —>
¢high value="20090101"/>
I~ G,k 4.r.5: Date and Time of Last Administration Hl-4 -->
{feompy
. {effectivelime>
{routeCode code="G. k. 4. . ik 2h" codeSystem="2, 16, 840. . 113883. 3. 988. 2, 1, 1. 14" codeSystemVarsmn~ G k4. r. 38 22>
A=~ G.k 4.7 10.2a: Route of Administration TermiD Version Date / Number #}-4 ~>
<l- G.%. 4.r.10. 27 Route of Administration TeruID #1-4 —>
CoriginalText)G. k. 4. r. 10. 1{/originalText>
‘ (== 6.k 4.x.10.1: Route of A&mmlstratmn (free text) #i-4 ——>
© &frouteCsde?
<doseQuantity value="10" unit="G.k 4. r.1b"/>
CHom Gk 4. 1. 12 Dose (number) Bl-4 -
fo 6.4 4.1, 1b: Dose (unit) Hi-4 —>
<constmable typeCode="CS¥">
{instanceOfKind classCode="INST™>
<productinstanceinstance ¢lassCode="MMAT" determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</LotNumberText>
1= G. k.4.1r.7: Batch / Lot Number #i1-4 —>
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{/productInstancelnstance’
¢kind0fProduct classCode="MMAT" determinerCode="KIND">

{fornCode code="6. k. 4.7. 9. 2b” codeSystem="TBD-DoseForn” codeSystemVersion="G. k. 4,1.9.22"
= G.k 4.r.9 2a: Pharmaceutical Dose Form TersIl Version Date / Number #1-4 —3>
== G. %, 4. 1.9 2b: Pharmaceutical Dose Form Termil #1-4 >

CoriginalText>G. k. 4. 1. 9. 1<¢/originalTexty
e Gk 4.1, 9. 11 Phaxwaceutical Dese Form {(free text) #i-4 —->
{/TormCode>
</kindCiProduct>
</instancelfKind>
¢{/consumbler
<inboundRelationship typeCede="REFR™>
{ohservation ¢lassCode="0BS" moodCode="EVN">
¢code code="28" codeSysten="2. 16,840, 1. 113883. 3. 985. 2. 1. 1, 18" displayName="parentRouteOfAdministration”/>
Cvalue xsittype="CE” code="G.k 4 r.11. 2b” codeSystew="%. 16. 840, 1, 113883, 3,989.2.1. L. 14" codeSystemVersion="G. k. 4. 1.
11.2a™> .
{3=— G.k.4.1.11.2a: Pareni Route of Administration TermID Version Date / Number #1-4 -->
== G, k.41, 11, 2b: Parent Route of Administration TermpID #l-4 -->
CoriginalText>G. k. 4. r. 11 i</ original Text>
¢le= G k.4.1. 1% B! Parent Route of Administration (free text) #1-4 —->
</fvaiued
{/ohservation>
</inboundReiationship>
{/substanceddministration?
¢/outboundRelationship2>
{outboundRelationship? typeCode="COMP">
4 G, k. 4, 17 Dosage and Relevant Informatien (repemt as necessary) #i-5 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
Ctext>G, k. 4. v, B{/text>
d— G. k. 4.1.8: Dosage Text HI-6 ~=>
<effectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="IVL_TS">
<low value="20080101"/>
<3~ G. k. 4.r.4: Date and Time of Start of Drug #i-5 ~>
Chigh value="200901617/> .
<l k4. r. B! Date and Time of Last Adwinistration §1-&8 ——>
</comp>
{comp Xsi:types”IVL_TS” operator="A">
(ridth value="4" wnit="G. k. 4. 1. 6b7/>
= G. % 4.1.6a’ Duration of Drug Administration {number) #i-5 —>
{4~ G. % -4 1. 60 Duration of Drug Administration {unit) #£1-5 —>
</ conp>
{feflectiveTime> .
¢routeCode code="G.k. 4.1, 10, 2b” codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. 1, 1, 14" codeSystemVersion="G. k. 4.r. 10. 22"
C(l=~ 6.k 4. 1. 10, 2a: Route of Administration TermID Version Date / Number fl-§ —
Ime Gk 4.1, 10, 2b: Route of Administration TermId #1-5 -=>
. CoriginalText>G, k. 4. r. 10. 1¢/originalText>
e G.k 4.1 10, 1t Route of Adwinistration {free text) #i-§ —>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
<l-- G,k 4. r. 1a Dose (pumber) Hi-5 —>
¢le~ G k. 4.r. 1bt Dose {unit) #¥1-§ —>
{consumable typeCode="CSM™>
CinstanceGfKind classCode="INST™> i
¢productInstanceInstance classCode="MMAT” determinerCode="INSTANCE”>
{lotlumberText>6. k. 4. r. 74/ lotNumberFext>
I G k. 4.1. 77 Batch / Lot Number #1-5 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KiND">
<formCode code="G. k. 4.1.9.2b" codeSysten="TBD-DoseForm”™ codeSystenVersion="C.k 4,£.9. 22™>
e G.d 4. 7. 9. 22 Pharmacentical Dose Form Termld Version Date / Numbexr #1-5 —>
<] G.k 4 1.9 2b: Pharmaceutical Dose Form TermID #1-5 >
<originalText>G. k. 4. r. 9, 1</origiralText>
¢l G.k.4.r.9.3: Pharmaseutical Dose Form {free text) #1-5 —>
</TornCode>
(/kindOfProduct>
</ instanceGtlindy
</eongumabled
<inboundRelationship typeCode="REFR">
<ohservation classCode="0BS" wmoodCode="EVN">
<eode code="28" codeSysten="2, I8, 840. 1, 113883, 3. 980, 2.1, 1. 19" displayName="parentRouteSfAdministration”/>
¢value xsiitype="CE” code="6.k. 4.r.11.2b" codeSystem="2. 16. 840, 1, 113883, 3, 989. 2. L. 1. 14" codeSystenVerston="G. k. 4.r.
11. 22" .
¢l= G,k 4.7, 11, 2a: Parent Route of Administration TermlID Version Date / Number #l1-§ ~>
¢l G, k. 4.1, 11.2b: Parent Route of Administration TermID $1-5 —>
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CoriginalText>G, k. 4, v. 11. 1{/originaiText>
¢i=- G.k 4. 1. 11 17 Parent Route of Administration (free text) #1~6 -2
{fvalued
</chservation>
</inboundheiationship>
</substanceddpinistration?
</outboundRelationship2>
CouzthoundRelationship? typeCode="COMP™>
<l-= G. k. 4 r: Dosage and Relevant Information (repeat as necessary) #i-6 —>
<substanceAdministration cliassCode="SBADM” moocdCode="EVN">
{text>G. k. 4. r, 8</taxt>
{lew G k. 4.7.8: Dosage Text #l-6 ~—>
CeffectiveTime xsi'type="SXPR_TS")
{gomp xsitype="PIVL_T8™>
{period value="10" unit="G. k. 4.r. 3"/
== 6. k. 4.1, 2! Number of Units in the Intexrval #1-6 >
== G.k.4.r.3: Definition of tha Time Interval Unit #I-6 -2
</comp¥
Ccomp xsi!type="IVL_T$" operator="A">
<low value="20880101"/>
I~ G k. 4. 1. 47 Date and Time of Start of Drug $1-6 -2
{width values"4" unit="G. k. 4.x. 6b"/> ‘
¢le= G k. 4 1.8a: Duration of Drug Administration {number) #1-6 —>
I~ G.k, 4. 7.8b: Duration of Drug Administration {unit)} #i-6 —>
{foomp)
{comp xsi:type="IVL_TS” operator="A">
<high value="200801017/>
I Gk 4 1. 50 Date and Time of Last Administration #1-6 —>
</ comp>
</effectivetime?
routeCode code="G. k. 4. 1,10, 26" codeSysten="2. 16, 840. 1. 113883, 3,989, 2. 1, 1, 14" codeSystemVersmn-'- G4 10,227
<o~ G, k.4. 1. 10, 22 Route of Administration TermlD Versien Date / Nuwber #1-6 —>
<t=~ G, k, 4.1, 10.2b: Route of Administration TermID #1-§ —>
CoriginalText>G. k. 4. x. 10. 1<{/originalText>
{l-= G k.4.r.10. 1! Route of Administration {free text) #1-6 —>
{/routeCode’
<doseQuantity value="10" unit="G.k 4 r.1b"/>
1= 0. k 4. t. 1a Dose (numbex} #i-1 -->
A— Gk 4.r. 1b: Dose {unit) ¥1-1 —>
{consumable typeCode="CSH™>
{instanceOfKind classCode="INSI™>
<{producttnstancelnstance olassCode="MMAT” detarmlnerCcde— INSTANCE™>
{lotNumberText>G, k. 4, x. 7</lotNumberText>
<l=- G, k. 4. 1. 7! Batch / Lot Number #1-1 —>
</productInstancelhstance>
<kindOfProduct classCode="MMAT” determinarCode="KIND™>
<fornCode code="C. k. 4. r. % 20" codeSysten="TAD-DoseRorm” codeSystemVersion="G. k. 4. r. 8. 2a™>
¢l (k. 4. r. 9. 2a: Pharmeceutical Dose Form TermiD Version Date / Number ¥1- ﬁ ->
¢(1—- G. k. 4.r.9, 2b: Pharpaceutical Dose Form TermiD fil-6 ~—>
CoriginalText>G. k. 4, r. §. i{/originalText>
== G k. 4.r. 9.1 Pharmaceutical Dose Form (free text} H#I-6 -->
{fFormCode?
</kind0fProduct>
<FinstanceQfind>
</ consunablad>
¢inboundRelationship typeCnde='REFR">
<observation classCode="0BS" mocdCode="EVN™>
{code code="98" codeSystem="2 16, 840. 1. 113883, 3. 989. 2., 1. 1. 197 displayNama=”9aréntRouteOfAdministration"/>
<value x5i:type="CE” code="G.k.4.r.11.2b" codeSysten="2. [6,840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystenVersion="G. k. 4. r.

11.2a™>
¢l— Gk 4.x. 11:2a: Parent Route of Administration TermID Versxan Date / Number ¥1-6 —>
<l-~ G. k 4. v, 11, 2b: Parent Route of Administration TermID #1-8 —
CoriginalText>G. k. 4. r. 11. 1</originalText>
¢l G.k.4.x. 1} 1¢ Parent Route of Administration (free text) $1-6 -
{fvalue>
{/ohgervation>?
- ¢/inboundRelationship>
</substanceAdministration>
</outboundRelationship2>
<outboundRelationship? typeCode="COMP™> .
¢t G,k 4. 1: Dosage and Relevant Information (repeat as necessary) ¥I-7 —>
<substanceAdninistration classCode="SBADM” mosdCode="EVN">
<text>G. k. 4 1. 8</text?
b Gk 4. x. B2 Dosage Text #1-7 >
{effeotiveTime xsi:type="SKPR_TS™>
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{comp xsi:type="IVL_I8">
low value="200801017/
{4-- G. & 4 r. 47 Date and Time of Start of Drug #1-7 -
<width value="4" unit="C. k. 4. x. 6b"/>
== G,k 4 1.6s! Duration of Drug Administration {number) #i-7 —>
<I-- G,k 4.r.6b: Duration of Drug Administration (unit} #i-7 ~>
</comp>
<comp xeiitype="IVL, TS” operator="A">
<high values"200801017/>
<3 G. k. 4.T.5! Date ang Time of Last Adwinistration #1-7 —3
</comp>
{feffectiveTime>
Croutelode code="G. k. 4 r. 10, 2b” codeSysten="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 14" codeSystemVersion="G, k. 4.1. 10. 2a">
¢te G k.4. 1. 10, 22 Route of Administration TermID Version Date / Number H#1-7 -3
i-— G. k. 4.1.10.2b Route of Administration TermID #1-7 -
<orig{na1Text>G.k.4.r.10.1</originalText>
(= Gk 4.1, 10. }: Route of Aduinistratioh {free text) ¥1-7 —
</routeCode>
<doseQuantity value="10" unit="6.k.4.1.10"/>
(1= G,k 4.1, 1a Dose {number) #1-7 -3
= G,k 4.1, 1b: Dose (unit) H1-T —>
{consumable typeCode="LSH">
CinstancetfKind classCode="INST™>
{productInstoncelnstance classCode="MMAT” determinerCode=" ENSTANCE™>
<lothumberTertsG. k, 4. r. 7</lotNunberText>
¢l~— G, k. 4.r.7: Batch / Lot Number #t-7 -*)
¢/product Instancelnstence?
<kind0fProduct classCode="MMAT” determinerCode="HIND">
SformCode code="G, k. 4.v.9. Zb” codeSystem="TRD-BoseForn” codeSystemVersion="G.k. 4.r. 9. 22>
¢l G.k 4 1.9. 22 Pharmaceutical Pose Form Termil Version Date / Number #1~7 —-
<I-— Gk 4. 1. % 2b: Pharmaceutical Dose Form TermID #1-7 —>
CoriginalText>G. k 4, r. 9. 1/originalText>
¢t=— G, k.4 r.0. 1: Pharmaceutical Dose Form (free text) #1-7 -2
</fornCode>
</kindOfProducty
</ instance0fKind>
¢/uonsumable>
<inboundRelationship typeCode="REFR">
(chservation classCode="0RS" moodCade="EYN™>
Coode codem"28” codeSystem="2. 16. 840, 1, 153883, 3,989, 2.1, 1. 18" displayName="parentRouteOfAdministration”™/>
<value xsi:type="CE” code="C.k. 4 r.11.2h" codeSystem="2. 16.840. 1. 113883, 3, 989. 2, 1. 1. 14" codeSystenVersion="6. k.4.x
1l.2a">
¢~ G.% 4. 1. 11, 2a; Parent Route of Adwinistration TexmID Version Date / Number #1-7 ——>
== G,k 4 1. 1%, 2b: Parent Route of Adwinistration TernID H1-7 -->
CoriginalText>G. k. 4. r. 11, 1<{/originalText>
<= G.k 4.1 11 4 Parent Reute of Administration {fres text) B1~7 -->
</value>
{/observation>
{/inboundRelationship>
</substanceAdministration?
{/outboundRelationship2?
<outboundRelationship? typeCode="SIMN"> .
{chservation classCode="0BS" moodCode="EVN">
<code code="i4" codeSystem="2. 16. 840, 1. 113883. 3, 98%, 2, 1, 1, 18" displayName="cumtlativeDoseToReaction”/>
Cvalue xsiitype="PQ” value="10" unit="G.k 5b7/>
G 6.k Ba: Cumulative Dose to First Reaction {(number) #i —>
{3=- .k 5b! Cumulative Dose to First Reaction {unit) #i -->
<{fobservation?
</outhoundRelationship2>
{outhoundRelationshipZ typeCode="PERT">
<chservation classCode="088" moodCode="EVN">
Ceode code="16" codeSystem="2. 16. 840, 1. 113883, 3. 889, 2. 1. L. 19" dlsplayﬁame- gestaticn?er1od />
<value xsi:type="PY” value="10" unit="G. k. 6b7/>
¢lwem Gk Ba' Gestation Period at Time of Exposure (number) #1 ~—>
<J=- G.k 65! Gestation Period at Time of Exposure (unit) #i -——>
</observation?
{fouthoundRelationship2>
<outboundRelationship? typeCode="PERT">
<observation classCode="0RS” moodCodes"EVNT>
<vode code="31" codeSysten="2, 16. B40. 1. 113883. 3, 989, 2, 1. 1. 197 dlsp}ayﬂame» recurrance(fReaction”/>
<value xsi:types"CE” code="G.k. 9.1.4" codeSystem="7. 16.840, 1, 113883.3. 989. 2. 1. L. I6"/>
¢}-— G, k9, i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #1 -->
<puthoundRetationshipl typeCode="REFR”>
<actReference ¢lagsCode="0BS" moodCode="EVN">
¢id root="154¢h889-058b-4512-a021-42d4d654657E7 />
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¢/actReference>
¢/outboundRetationshipt>
{fohservationd
</outboundRelationship2>
<gutboundRelationship?. typeCode="PERT™>
{observation classCode="0BS" moodCode="EYN">
¢eode code="31" codeSystem="%. 16.840, |, 113883, 3. 989, 2. 1. 1. 19" displayName="recurranceOfRezction”/>
¢yalue xsiitype="CE" code="G.k 9.i.4" codeSystem="2. 16.840. 1. 113883, 3,986, 2. 1. 1. 16"/>
¢t— G, k.9, i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction 2 -->
CouthoundRelationshipi typeCode="REFR™>
<actReference classCode="0BS” moodCode="EVN
¢id root="2Zbaa?8d6-cOe8~4ebo-93e0-Eb8E0R3142207 />
{factReference>
< /outboundRelationshipl>
</observation>
{/outboundRalationship2>
<outhoundRelationship2 typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
Ceode code="9" cadeSyﬁtemﬁ’2.16.840.1.123883.3.989.2.5.1.19’ displayNamo="codedDrugInformation”/?
<value xsiitype="CE™ code="G. k. 10.1" codeSystem="2. 16.840. 1. 1188833988, 2. 1. 1. 177/>
¢te- 6.k 10.r: Additional Infermation on Drug (coded) (repeat as pecessary) Hl-1 -->
{/ohservation?
<foutboundRelationship?>
{outboundRelationship? typeCode="REFR™>
{observation classCode="0BS” moodCode="EWN™>
code code="9" codeSystem="2. 15, 840, [, 113883. 3. 989. 2. 1. 1. 10" displayNemo="codedDruglnformation”/>
¢value xsiitype="CE” code="6.k. E0. 1" codeSystem="2. 16,840, %, 113883.3.988.2. 1. L.17"/>
¢l== G. k. $0. 7 Additiona} Information on Drug (coded)} (repeat as necessary) #i-2 —->
</observationd
{/outboundRelationship?>
{outboundReiationship? typeCode="REFR™>
<ohgervation classCode="0BS" moodCode="EVN">
<code code="2" codeSysten="2, 16,840, 1, 113883, 3. 989, 2. 1. 1. 19" displayName="additionalinformation”/>
Cvalue xsiitype="STG, k, 11</value>
{l== G, k. 1i: Additional Information on Drup (free text) #1 ~>
<{/observation> '
{/outboundRelationship2> )
{inboundRelationship typeCode="RSON">
{ohgervation classCode="0BS” moodCode="EVN>
(code code=”19" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2. E 1. 197 displayNsme="indication”/>
(value xsiitype="CE” code="G. k.7.7.2b" codeSystem="2. 16, 840, 1. 113883, 6. 163" codeSystemVersion="G.k.7.1.2a">
¢i— Gk 7.1, 227 MedDRA Version for Indication #$1-i —>
- G.k.7.r.2b: Indication (MedDRA code} #1-1 ~>
<originalText>6.k 7, r. 1</originalText>
¢I— &6k T.r. 17 Indication as Reported by the Primary Scurce #§1-1 -5
</value>
(performer typeCodo="PRE™>
{assignedintity classCode="ASSIGNED”>
Ccode code="3" codeSysten="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 21”7 displayName="sourceReporter”/>
{fassignedBntityd
</performer>
{/ohservation>
</inkoundRelationship>
{inbeundRelationship typeCode="RSON">
{observation classCode="0B5" moodCode="EVYN™>
" ¢eode code="19" codeSystem="2, 16. §40. 1. 113883, 3. 989, 2. 1. 1. 18" dxsplayName- indication”/>
¢value xsiitypes"CE” code="G.k. 7. r.2b" codeSystem="2, 16, 840, 1, 113883. 6. 163" codeSysten¥ersion="6. k. 7.r.2a™>
{fw= 6.k 7.1 2a: MedDRA Version for Indication #1-2 -
U Gk 7.r. 200 Indication (MedDRA eode) #1-2 —>
<originalText>G, k. 7. r. 1{/ariginalText>
I— Gk T.x.1: In&xcatlon as Reported by the Primary Source #1-2 ~>
<fvalue>
¢performer typeCode="PRF">
<assighedBntity classCode="ASSIGNEL™>
<code code="3” codeSystom="2. 16. 840, 1, 113883, 3, 989, 2. 1.1. 21" displayName=" sourceReportar "
{/assignedEntity>
</performer>
{/observationd
{/inboundReiationship>
<inboundRelationship tyneCode="CAUS™>
¢act classCode="ACT" mosdCode="EVH">
{code code="G. k8" codeSysten="2, 16. 840, 1. 113883.3.985. 2. 1. L. 15"/>
- Gk 8: Action(s) Taken with Drug #1 —>
{fact?
</inhoundReiationship>
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{/substanceAdministration?
{/compohent>
<]— 6.k Drug{s) Information (repeat as necessary) #2 —-—>
{component typeCode="COMP™>
<substancehdministration classCode="SBADM" moodCode="EVN™>
Cid root="68d6f5ce-3b3b-45¢T-92dd-63e06730c3a3" />
{consumable typeCode="CSH™>
<instance0fKind classCodes"INST">
<kindDfProduct classCode="MMAT” determinexCode=" KIND »
{code code="G. k. 2. . 2b" codeSystem="TRD-PhPID” codeSystemVersion="G. k 2.1.2a"/>
¢I— k.2, 1, 227 PhPID Version Date / Number #2 —>
¢l G, k. 2, 1. 2b: Pharmaceutical Product Identifier (PRPID) #2 —>
{nameG. k. 2. 2¢/nane>
(I G. k. 2.2 Medicinal Product Neme ms Reported by the Primary Source #2 —>
CasManufacturedProduct classCode="MANU™>
<(subjectDf typeCode="SB]™>
(approval classCode="CNTRCT" moodCode="EVN">
<id extension="G.k 3. 17 root="%. 15. 840.1. 113883, 3. 989.2.1.3.4"/>
¢l G. k.3 % Autherisation / Application Number #2 -->
<author typeCode="AUT™>
{territorialAuthority classCode="TERR">
Cterritory classCode="NAT" determinerCode="INSTANCE™>
<code code="G. k. 3. 2" codeSysten="1. . 3166.1.2.2°/>
- Gk 3.2 Country of Authorisation / Application #Z —>
{/texritory?
</territeriaiAuthorityd
</author>
<pertinentInformation typeCode="PERT™>
{poticy clessCode="POLICY” moodCode="EVN">
Coode code="J2. 5. k" cédeSysten="2, 16. 840, 1. 113883, 3.989.6.1.3.2. 1. 4"/>
<i-- QR8T 5.k —RBEERGOY Ry EHE #2 -
{fpolicy?
</pertinentInformation>
</approval>
{/subject0f>
{subjectDf typeCode="SBY™>
<characteristic classCode="0BS” moodCode="EVN" >
(code code="1" codeSysten="2, 16 840. 1. 113883. 3. 689.5. 1. 3. 2. 1. 10" displayNeme="3fEIRMF OWRED"/>

<value x8iitype="CE” code="J2 4. k" codeSystem="%Z. I4. 840. 1. 113883.3,989.5.1.3.2.1L.3"/>
G- Q8872 4.k FEERLGORRES #2 —> '
{/characteristic>
</sub jectOf>

{fasManufacturedProduct>

<ingredient classCode="ACTI™>

" <{quantity>
Cnugerstor value="10" unit="6.k 2.3, r. 3b"/>
<i-- G,k 2, 3.1 3ac Strength (number) #2-1 —>

A~ G. k. 2.3 1 3b: Strength {unit) #2-1 —>
{denominator values="1"/>
! (fquentity>
<3ngred1ent$ubstance classCode="MMAT” determinerfode="KID">
Ceode code="G. k. 2. 3. 1. 2b" codeSystem="TBD-Substance” codeSystemVersion="G. k. 2.3. 1. 2a"/>
(- G k.2, 3.1, 22! Substance / Specified Substance TexmID Version Date / Number H2-1 -—>
{d=- &, k.2.3.r.2b Substance / Specified Substance TermlD #2-1 —>

{pame>G. k. 2. 3. r. i{/nane>
(I G k. 2.3.r. 1: Substance / Specified Substance Neme #2-1 -—>
/ingredientSubstance>

{/ingredientd
<ingredient «¢iassCode="ACTI">
{quantity>
{numerator value="10" unit="G, k. 2. 3.r. 34"/
<l G, k.2.3.1. 3a: Stiength (pumber) #2-2 ~->

J G k. 2.3. 7. 3b: Strength (enit) #2-2 -
{denomipator value="1"/>
<{/quantity?
{ingredientSubstance classCode="MMAT" determinerCode="KIMD">
- (gode code="G: k. 2.3.v.2b" codeSysten="TBD-Substance” codeSystemVersion="G. k. 2.3.r.22"/>
e Gk, 2.8, r.2a! Substence / Specificd Substance TermID Version Date/Number §2-2 —>
e (¢ k. 2. 3. 1. 2b Substance / Specified Substance Termld #2-2 —>
<name>G. k. 2. 3. r, 1</name>
<l-— G,k 2 3, 1.1 Substance / Specified Substance Neme 82-2 —>
</ingredientSubstance>
</ingredienl?
</kind0OfProduct>
{subjectOf typeCode="SBI">
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<productEvent classCode="ACT” maodCode="EVN™>
{code codem”1” codeSystem="2. 16. 846. 1. 113883, 3. 989, 2. 1. 1, 18" displayName="retailSupnly”/>
{performer typeCode="PRF™>
<assignedBntity classCode="ASSIGNED™>
{representedirganization classCode="0RG™ determinerCede="INSTANCE™>
{addr>
CeountryrG. K, 2. 4/ country>
J-- G. & 2.4: Identification of the Country Where the Drug Was Obtained #2 -->
</addr> ’ '
(/representedOrganization>
{/assignedBntity>
{/performer>
{/productBvent>
{/subject0f>
{auh jectdf typeCode="SB]"> .
{observationBvent classCode="0BS" moodCode="EVN™>
<code code="2" codeSystew="2, 16, 840, 1, 113883, 3. 989, 5.1.3. 2. 1. 107 displayName="-~EMIE R A O A FREE"
Cvalue xsiitype="CE" code="32 6.k" codeSysten~”2. 16.540. 1. 113883.3.085. 5. 1. 8. 2. L. [
<l-- @eafe. 6.k —BHERLOAFER #2
{/observationfvent>
</subjectr>
</instanceOfiind>
</eonsumahle?
CouthoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="0. k. 9.1.5 16"/
€l G,k 9.1.3. la: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2,
Resction #l—> .
¢l G. k.9 3.3 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (unit} DBrug #2
Rezction #t —>
{actReference classCode="0BS” moodCode="EVN">
id root="154eb889-058b~45f2-a02f-42d446£466TE" />
{/actReference>
</outboundRelationshinl>
<outboundRelationshipl typeCode="SAE">
<patzeuantity value="10" unit="G k. 9, 1.3.2"/>
= 6.k ©.1.3. 2a) Time Interval between Last Dose of Drug and Start of Reaction / Event {number) Drug #2, Resction #1 —>

== 6. k. 9. 1. 3. 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #1 -
CactReference classCode="0BS" moocdCode="EVN">
¢id root="154ebB889~968b-45F2-a02f~42d4d6F4657E" />
</actReference>
(foutboundRelationshipl>
{outboundRelationshipl typeCode="5A5">
{pauseQuantity value="i0" uhit="G.k.9.i.3.tb"/>
) (o= G k. 9. 1. 3. la: Time Interval between Beginning of Drug Admidistration and Start of Reaction / Event {number) Drug #2,
Reaction #2 - -
. ¢le~ G.k.9.4. 8. 1b: Time Interval hetween Beginning of Drug Administration and Start of Reaction / Bvent {unit) Drug #2,
Reaction #2 ~->
’ <actReference classCode="0BS" moodCode="EVN™>
<id root="2Zbaa28d6~cPe8-debe-053ed~-5b360b314220" />
</actReference> '
{/outboundRelationshipl>
{euthoundfelationshipl typeCode="SAE™)
(pauseQuantity value="10" unit="G, k.9.1.3. 26"/
¢l Gk, 9. i. 3. %a: Time Interval hetween Last Doge of Drug and Start of Reaction / Bvent {number) Drug #2, Reaction #2 —

I~ G.k.9.1, 3. 26! Time Interval between Last Dose of Drug and Start of Reaction / Bvent {unit) Drug 42, Reaction #2 -—>
_ <actRefevence classCode="0BS" moodCode="EVN™> : -
. <id root="2baalBd6-c9e8-4ebc-93e9-5h860b314220” />
</actReference> ’
{/outboundRelationshipl>
{outhoundRaiationshipl typeCodex"SAS™>
(pauseQuantity value="10" unit="G.k. 9 1.8 1b"/? .
(I-- G. k. 9.i. 3. Ia’ Time Interval betwesn Beginning of Drug Administration and Start of Reaction / Bvent (number) Drug #2,
Reaction #3 ~-> .
¢t~ G, k. 9.4, 3. 1b: Time Interval between Beginning of Brug Administration and Start of Reacticn / Event (unit} Drug #2
Reaction #3 —> :
(actReference classCode="0BS" meodCode="EVN">
- {id root="3a8626ch-9 1b-4ea8~Balf-e0f £34430adf"/>
¢/actReference> -
</outboundRelationshipl>
{outbaundReIationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k 8. 1.3 2b"/>
Cle Gk, 9. 1.3 2a: Tiwe Interval between Last Dose of Drug and Start of Reaction / Event (numbex) Drug #2, Reaction #3 -~
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Reaction #4 ~-—>»

Reaction #4 —>

Reaction #E —~>

Reaction #5 —->

Reaction #6 —>

Reaction #6 —>

Resction #7 -->

Reaction 87 -->

<= G,k 9.1 3 2b: Time Interval between Last Dose of Drug
{actReference classCode="0OBS" moodCode="BVN™>
$id root="3a8626chb-5fib-deal~8a0f-e07f34430adf" />
</actReference’ ‘
</outhoundRelationshipl>
<putboundRelationshipl typeCode="SAS">
<pauseQuantity vaiue="19" unit="G. k. 4.1.3. 16"/
¢t G k. 9.3 3, 180 Time Interval between Beginning of Drug

¢l— G.k.9.1.3 ihi Time Interval between Beginning of Drug

CactReference classCode="0BS" moodGode="EVN"> }
<id root="2¢89840f-08b4~459c-80f~ddB415£4£8a5" />
{factReference>
</outboundRelationshipl>
CoutboundRelationshipi typeCode="SAE™>
IpanseQuantity value="107 unit="6. k. 9. 1. 3. 2b" /5
== G k. 9.1, 3. 231 Time Interval between Last Bose of Drug

¢l $. k. 9,1, 3.2b: Time Interval between Last Dose of Drug
lactReference classCode="0BS” moodCode="EVN™>
<id root="2e998407~08b4~499c-80Ff-dd8415£458a5" />
{/actReleorence>
¢/outboundRetationshipi>
{outhoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" wnit="G. k. 9.1.3.16"/>
- 6.k 9.1.3. 1a: Time Interval between Beginning of Drug

GGk 85,3150 Time Interval between Beginning of Drug

" <actRefersnce classCode="0BS" moodCode="EVN™>
<id root="1071064c~cf10~4adb-83c1-349ddbTendd” />
¢{/actReference>
{/outboundRelationshipl>
ZoutboundRelationshipl typeCode="SAE™>
{paugeQuantity value="10" unit=". k & i.3.2b"/
¢l Gk, 9. 4.3. 220 Time Interval between Last Dose of Drug

e G,k 9, 4,3, 2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS" moodCode="EVN™>
<id root="1071064c-cfl0-4a3h-83ci~3459ddbTeabd” />

{/actReferenced

{foutbonndRelationshipl>

<outhoundRelaticnshipl typeCode="SAS">
(pauseQuantity .value=" 10" unit="G, k 9. i.3.1b"/>
i~ G, k. 9. i.3. 1a! Time Interval between Beginning of Drug

¢i-- G,k 8 1.3, 1b: Time Interval between Beginning of Drug

{actReference classCode="CBS" moodCode="EVN">
¢id reot="1£927283~10b6~4334-0443-c0256401b 181" />
¢/actReference>
</outhoundRelationshipl’
<outboundRelationshipl typeCode="SAE™>
(pauseQuantity valve="10" unit="6.k. 9. 1,3, 2b"/>
(G- Gk 9.4, 3. 282 Time Intervel between Last Dose of Drug

G G, k. 8.3.3.2b: Time Interval hetween iast Dose of Drug
{actReference classCode="0BS" moodCode="EVN™>
<id root="1F927283-10b6-4334-0¢43~2925640fb181" />
{/actReferencey
{/outboundRelationshipi>
CoutboundRelationshipl typeCode="SAS™>
¢pausefuantity value=" 107 unit="G.k 9. i.3.1b"/>
(e~ G,k 9.4.3.1a! Time Interval between Beginning of Drug

¢l-~ G.k.9.1.3.1b! Tine Interval between Beginning of Drug

CactReference classCode="0BS" moodCode="EVN™>
Gid root="e0342069~38be~4235-b6bb-cel4be279d8e” />
{/actReferencer
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.k. 8. 1.3.2b"/>
= G,k 8 §.3 22 Time Interval betweon Last Dose of Drug
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and Start of Reaction / Event (unit) Drug #2, Reaction #3 —>

Adwinistration and Start of Reaction / Event {numher) Drug #2,

Administration and Start of Reaction / Event (unit) Drug #2,

and Start of Reaction / Event (mumber) Drug §2, Reaction B4 —-

and Start of Reaction / Bvent (unit} Drug 42, Reaction f4 -~

Adwinistration and Start of Reaction / Event (huwber) Drug #2,

Administration and Start of Reaction / Bvent (unit) Drug H2,

12

and Start of Reaction / Bvent {number) Drug #2, Resction #5 ——

and Start of Reaction / Event {unit) Drug #2, Reaction #5 ~>

Administration and Start of Reaction / Event {number) Drug 2,

Administration abd Start of Reaction / Event {unit) Drug #2,

and Start of Reaction / Event {number) Drug #2, Reaction #6 —

and Start of Resction / Event (unit) Drug #2, Reaction #6 —3

Administration and $tart of Reaction / Event {number) Drug ¥2,

Administration and Start of Reaction / Event {unit) Drug #2,

and Start of Reaction / BEvent {nuwbex) Drug #2, Reaction #7 ~—



¢lom 6.%.9.1.3.2b! Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug K2, Reaction §7 —>
{actReference classCode="(BS" moodCode="EVN"> ;
¢id root="e0342969-28be~423£~bBbbrce14be2T9dBe” />
</actReference>
</outhoundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
(pauseQuant:ty value— 10" unit="G. k. 9. 1. 3. 111"/}

Reaction #8 ~->

Reaction #8 ~->
(actReference classCode="0BS" moodCode="RVN">
<id root="nl5be082-807T0-426d-af04-6863263443e0” />
{/actReference>
{/outboundRelationshipi>
<outheundRelatienshipl typeCode="SAE™>
<pausefuantity value="10" unit="G. k. 9.1.3.2b"/>
¢== 6.k 9.1. 8 2a: Time Interval betweer Last Dose of Drug and Start of Reaction / Bvent (number) Drug #2, Reaction #8 -

(== 6. k. 9. 4.3 2b: Time Interval between Last Dose of Drug and Start of Reactmn / Bvent (unit) Drug #2, Reaction HE —>
CactReterence ¢lassCode="0BS" moodCode="EYN™>
¢id root="ai5be022-8070~426daf (4-6863263443a0” />
{/actReference>
¢/attboundRelationshiply )
{outhoundRelationship? typeCode="PERT™>
<observation ¢lassCode="0BS” moodCode="EWN")>
Coode codes"8” codeSysten="2 16, 840. 1. 113883, 3, 989, 2, 1, 1. 19" displayNeme="blinded"/>
{value xsi:type="BL™ value="true"/>
<l-- G.k. 2.5 Investigational Product Blinded #2 -—>
{/observation>
</outhoundRelationshin2>
<outbotmdRelationship? typeCode="COMP">
(- (. k.4 r : Dosage and Relevant Informatien (repeat as necessary) H2-1 ~->
¢substanceAdministration classCode="SBADM” moodCode="EVN">
Ctext>G. k. 4. r. 8</text>
<I—— 6.k £ 2 B Dosage Text H2-1 -~
{effectivaTime xsiitype="IVL_IS™>
<low value="200801017/>
<l 6. k. 4.r. 4: Date and Time of Start of Drug #2-1 -->
<high value="20090¢101"/>
(I~ G.k. 4.r.5: Date and Time of Last Admmstratmn #2-1 —=>
<{/effectiveTime>
<routeCode code="G. k. 4. 1. 10. 2b” codeSystem="2. 16, 840. 1. 113883, 8. 980. 2. L. 1, 14 codeSystenVersion="G, k, 4. x. 10. 227>
¢l Gk 4.1, 10, 227 Route of Administration TernID Version Date / Number #2-i —->
¢l-= G, k. 4 1. 10.2b: Route of Administration TerniD #2-i -—> '
CoriginalText>G. k. 4. r. 10. 1{/originalText>
{I=- G, k.4, . 10. 1! Route of Administration (Free text} f#2~1 ~—>
<{/routeCode? N
{doseQuantity value="190" unit="G. k. 4.r.1b"/>
<t=- 6.k 4.1, 1a Dose {nuzber) f2-1 -=>
<t Gk 4.1 1b: Dose (unit) H#2~1 —5
{consimable typeCode="CSM"™>
{ingtanceOfKind classCode="INST™>
{productinstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<lottiuberText G, i, 4, 1. 7</lotNumberText> '
<4— G,k 4. 1. 7: Batck / Lot Number #2-1 —>
</productInstanceInstanced
<kindOfProduct classCode="¥MAT” detamlnerCode— KIND™>
{FormCode code="G. k. 4, v, 9. 2b" codeSystew="TBD-DoseForn” codeSystemVersion="G. k. 4.x. 9. 2a™>
¢lom Gk, 4.r.9.2a! Pharmaceutical Dose Form TermID Version Date-/ Number #2Z-1 ~~>
<I-- Gk 4.r.9.2b: Pharwaceutical Dose Form TermID #2-% 3
<originalText>G. k. 4. r. 9, 1/originalText>
{I-=- G.k 4;r. 9. 1! Pharmaceutical Dose Form (free text) #2-1 ->
</formCade>
{/kind0fProduct>
{/instancelfRind -
</consumable
¢inboundRelationship typeCodes"REFR">
<observation classCode="0BS” moadCode="EVN">
(code cade="28" codeSystew="2. 16, 840, 1. 113883, 2,989, 2.1. 1. 19" displayName="parentRouteOfAdministration”/>
<value xsi:type="CE" code="G.k. 4 r. 11, 2b" codeSystem="2, 16. 840, 1, 113883, 3,989, 2, 1. 1. 14" codeSystemVersion="6.k. 4.r.
1L 22" . . :
<}~ G,k 4.1. 11.2a: Parent Route of Administration TexmIP Version Date / Number #2-1 ——>
== G,k 4. 1. 31. 2b: Parent Route of Administration TermID #2-1 —>
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CariginalText>G. k. 4. ¥. 11, 1<{/originalText>
¢t-— Gk 4.1 11, 17 Parent Route of Administration (free text) #2-1 -3
{fvalue> '
{/ohservation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
ZoutboundReiationship2 typeCode="COMP™>
¢l-~ G.& 4. r: Dosage and Relevant Information (repeat as necessary) #2-2 —->
(substanceAdministration ¢lsssCode="SBADM" moodCode="EVN™>
<textyG. ko4, r. 8/ texty
<l— G,k 4 .8 Desage Text #2-2 —3>
{effectiveTime xsi:type="IVL_TS">
low value="20080161"/>
{I-— G. k.4, 1. 4: Date and Time of Start of Prug #2-2 -
<width value="4" upit="G. k. 4.r.6b" /"
<ie G k. 4.7, Ba: Duration of Drug Administration (pumber) #2-2 ~—>
4= 6. k.4 r. 8b: Duration of Drug Admipistration (unit) #2-2 —>
(feffectivelime?
<routeCode eode="G. i 4 1. 10. 26" codeSystem="2. 16. 840, 1, 113883. 3.989. 2. L. 1. 147 codeSystemVersion="G. i 4.1, 10, 2a™>
(1= G, k. 4. £ 10. 237 Route of Administration TermID Version Date / Number $2-2 —>
¢I-- G.k 4. r.10,2b: Route of Administration TermID #2-2 -~»
<originalText>G k. 4. . 10, 1</original Text>
3== Gk, 4.1.10. 1: Route of Administrstion (free text) #2-2-->
{fronteCoded
{doseQuantity value="10" unit="G.k 4. 1. 1b"/>
<l G.k 4.r. Ia Dose (pumber) H2-2 —>
¢l Gk 4. r. tb: Dose {unit) #2-2 ~>
<gonsupabla typeCode="CSH™>
CinstanceOfKind classCode=" INST>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
ClotumberText>G, k. 4, r. 7</lotluxberText>
(1=~ G.k.4.1.7: Batch / Lot Number #2-2 —>
{/productInstancelnstance>
<kindOfProduct classCode="HMAT” determinerCode="KINE">

<fornCode code="G. k. 4.1.9.2b" codeSysten="TBD-DosePorn™ codeSystemVersion="G.k 4.r.9.2a">
(i Gk 4.t 8. 2ac Pharmaceutical Dose Form TermID Version Date / Number #2-2 >
(3= G k. 4. 1. 5 2b: Pharmaceutical Dose Form TermID #2-2 --> :
Coriginal Text>G. k. 4, . 9. I</originalText
o Gk, 4, 1.9.1: Pharmaceutical Dose Form (free text) #2-2 -2
{/TarmCode>
</kindOfProduct>
{/instance0fKind>
</consumable>

<inboundRelationship typeCode="REFR">
{observation ¢lassCode="0BS" moodCode="EVN">
¢oode code="28" codeSystew="2, 16, 840. 1, 113883, 3, 989. 2. L. £, 19" displayName="parentRoute0fAdministration”/>
¢value xsiitype="CE” code="(.k. 4. 1. 1L 2b" codeSystem="2, 16, 840, 1. 113883, 3. 989. 2, 1. L. 14" codeSystenVersion="G. k. 4.1,
11. 2a™>
Clwe G341 11, 2a¢ Parent Route of Adwinistration Termld Version Date / Number ﬁ2-2 >
= G.k 4. 1. 11 2b: Parent Route of Administration TermID #2-2 —>
CoriginaiTextyh ko 4. r. 11 1/ariginalTexty
i Gk 4.1 11,17 Parent Route of Adwinistration {free text) #2-2 —>
{/vaiue>
</observationd
¢/inbaundRelat ionship
</substanceAdninistration>
. {foutboundRelationship2>
CouthoundRelationship2 typeCode="COMP™>
¢l G.k.4 1 Dosage and Relevant Information (repeat as necessary) #2-3 —>
<substanceAdministration classCode="SBADM” moodCode="EVN">
{textdG k. 4, 1. 8</tent>
<I-— G, k.4, 1.8 Dosage Texl #2-3 —
<effectiveTime xsi:type="IVL_T5™>
Cyidth value="4" unit="G. X, 4.r.85"/>
= G. k. 4.7 6a: Duration of Drug Administration (number) #2n3 -
(L G,k 4. r.6bT Duration of Drug Administration (unit) ¥2-3 —>
<high value="20090101"/>
i-- 6. k. 4.1. 5" Date and Time of Last Aém1n1strat10n #2-3 —>
/effectiveTime>
¢routeCode code="G. k. 4. 1. 10. 2b” codeSysten="2. 16, 840, 1, 113883.3,989. 2. L. 1. 14" codeSystemVers1on— G. k. 4. 1,10, 22"
(4=~ G,k 4, r.10.2a: Route of Administration TermID Version Date / Number #2-3 —>
- Gk 4.1, 10.2b: Route of Administration TermlD #2-3 -—>
’ <originaiText>G. k. 4. 1, 10, 1{/originalText>
<3— (. k 4.1r.10. 1! Route of Administration (free text) #2-3 —->
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{/reuteCode>
{dosafuantity value="10" unit="0.k 4.2. 1b"/>
(=~ 6.k 4.1, ia Dose {pumber} #2-3 -3
- G, k4. r 1b: Dose {unit) #2-8 —>
<eonsumable typeCode="CSM"™>
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="IBAT™ doterminerCode="INSTANCE”>
<lotHupberText 6. k. 4. r. 7</lotNumberText>
¢low G ko4 r. 70 Batch / Lot Number H2-3 —>
{/productInstancelnstance>
SeinddfProduct olassCode="MMAT” determinerCode="XIND™>
<FormCode code="G.k. 4. 7. §. 2b” codeSysten="TBB-DoseForn” codeSystemVersion="G. k. 4.r.9.2a™
- G k. 4. 1. 9. 2a¢ Pharmaceutical Bose Form TermlD Version Date / Number #2-3 ——>
o= Gk 4 x. 9. 2b Pharmaceutical Dosa Form TermID #2-3 —->
<originslText>G k. 4. 1.9, i{foriginalText>
<l Gk 4. 1.9. 10 Pharmaceutical Dose Form (free text) #2-3 -~>
</formCode>
<{/kindGfProduct>
{/instancelfKind> Co
</eongumable>
<inboundRelationship typeCode="REFR">
{ebservation classCode="0BS" moodCode="8YN">
¢opde code="28" codeSystew="2. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 19" displayName="parentRoute0fAdninistration”/>
Syalue xsiitype="CE” code="G, k. 4. r. 11.2b" codeSystem="2. 15. 840, 1. 113883. 3, 585. 2, 1. 1. 147 codeSystenVersion="G. k. 4. r.
1%, 2a™> '
¢l— G.k. 4.1 11 2a: Parent Route of Administration TermID Yersion Date / Number #2-3 —>
Cto G k.4 x. 11 20 Parent Route of Administration TermID #2-3 -->
CoriginalText>G. k. 4. r. 11, i{/exriginal Textd
b G k. 4 1. 1L 17 Parent Route of Adwinistration {free text} H2-3 —>
</value>
<{/obseyvation
</inboundRelaticnship>
¢/substanceAdministration?
</outboundRelationskip2>
{outboundRelationship2 typeCode="COMP™> .
<l Gk 4. 10 Dosage and Relevent Information (repeat as necessary) H2-4 --»
CsubstanceAduinistration classCode="SBADM" moodCode="EVN">
CtextDG, k4 v, 8/ text>
b= 6.k 4. £. 8! Dosage Text #2-4 —>
Ceffectivetime xsi:type="SYPR_IS™>
{eomp xsiitype="PIVL_TS™>
<period value="10" unit="G. k 4.r.3"/>
¢l-- 6.k 4.1, 2¢ Nupber of Units in the Interval #2-4 >
{l-— Gk 4.r. 3 Definition of the Time Interval Unit f2-4 —->
{Soomp> :
{comp xsi:type="IVL_TS” cperator="A">
Clow value="200901017/>
(I~ G. k.4.r. 4: Date and Time of Start of Drug #2-4 - ,
</comp>
feffectiveTime> . :
<routeCode code="G. k. 4. r. 10. 2b" codeSysten="2. 16. 840, L. 113883, 3,989, 2. 1, 1. 14" codeSystenVersion="0. k. 4.r. 10. 2a">
Kl-- &k 4.r. 10, 2a:. Route of Administration Ternil Version Date / Number §2-4 ~>
<l & k. 4. 1. 10.2b: Route of Administration Ternil #2-4 ——> '
CoriginalText>G. k. 4 r. 10, 1</originalText>
e g ko 4,1, 10, £ Route of Administration {free text) #2-4 -
{/routeCode> '
<doseQuantity valuo="10" unit="6.k 4.r. 1b"/
<l-- G.k 4. r. 12 Dose (number} #2-4 —>
(e~ G. k.4, 7. 1bi Dose (unit) H2-4 >
{consumable typaCodes"CSM™> ~
<instance0fKind classCede="INST™>
{preductingtancelnstance clessCode="MMAT? determinerCode="INSTANCE™>
<lotNunberText>G, k. 4, », 7</lotNumberText>
¢} G, k.4, v, 7; Batch / Lot Humber #2-4 —>
{/productinstancelnstanced
Ckind0fProduct classCode="MMAT" determinerCode="KIND™>
LfornCode code="G. k, 4.1.9, 2b” codeSysten="TRD-Doseform” codeSystenVersion="6. k. 4.r.9, 22>
{l-= G,k 4. 1.9 2a: Pharmaceutical Dose Form TermID Version Date / Numbar #2-4 —->
(I~ Gk 4.7.9.2b Pharmaceutical Dose Form TermID H2-4 —>
- CoriginalText>G. k. 4. r. 9 1</oripinal Text>
. {l-~ G.k 4.r. 9. 1! Pharmaceutical Dose Form {free text) #2-4 —>
{fEoruCode> '
{/kindOfProduct)
</instanceGfKind>
</ccnsumab1e_)
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<inboundRelationship typeCodes"REFR™>
{observation classCode="0BS” moodCode="EVN">
{eode code="28" codeSystem="2. 16.840. 1. 113882.3,689,.2. 1. L. 19" dlsplayName- parentRouteOfAdministration”/>
fvalue xsi:type="CE" code="6. k. 4.1 112" codeSysten="2. 16, 840. 1. 113883, 3. 989, 2. 1. 1. 14" codeSystemVersion="G. k. 4.T.
1i.2a™
<l~= G.k 4. 1. 11. 247 Parent Route of Administration fermld Version Date / Number H2-4 -->
- Gk 4 1. 11,267 Parent Route of Administration TermID #2-4 -
<originaiText>G. k. 4. v. 1L i</originalTent?
= G k. 4.1, 1% 1! Parent Rovte of Administration (free text) #2—4 —F
<{/value>
{/observation?
<{/inboundRelationship?
¢/substanceAdministration> -
</outboundRelationship?>
<outboundRelationship? typeCode="COMP™>
¢l G k.4 1 Tosage and Relevant Informstion (repeat os necessary) {25 —>
¢substahceAdministration classCode="SBADY” moodCode="EVN">
$text>G, k. 4. r. 8¢/ text>
e G. k. 4. 1.8 Dosage Text #2-§ —>
<effectiveTime xsiitype="SXPR_TS™>
{comp xsi:types"PIVL_TS™>
{period value="10" unit="G.k 4. 1. 3"/
1= G.k 4 r. 27 Number of Units in the Interval #2-5 -~>
¢l=~ G, k. d.7.3: Delinition of the Time Interval Unit #2-6 ~->
{/comp>
{oomp xsiitype="IVL_TS” operator="A">
<high value="200901017/>
<-— 6.k 4. r. 5 Date and Time of Last Administration #2-§ —>
{feomp?
JeffectiveTime>
(routeCode code="G. k. 4. 1. 10, 2b” codeSysten="2, 16. 840, 1. 113883, 3, 989, 2. 1. }. 14" codeSystenVersion="6. k. 4. 1. 10.2a™>
= G. k.47 10, 2a: Route of Administration TermIl Version Date / Number #2-5 —>
== G,k 4,1, 10.2b: Route of Administration TermlD #2-5 —>
{originalText>C. k. 4. 7. 10. 1</originalTent>
¢l-— G. k. 4.r. 10. 3! Route of Administration (free text) #2-5 -->
</routeCode>
<doseQuantity value="10" unit="G. k. 4. r. 1b"/>
== G.k 4. r. 12 Doge (humbex} f#2-5 —>
(i== G.k 4.r.1b: Dose {unit) #2-§ ~-> -
{consumable typeCode="CSH™> ’
(instanceOfRind classCode="INST">
{productInstancelnstance classCode="HMAT” determinerCode="INSTANCE">
ClotNumberText?G. k. 4. 7. 7</lotNumberText>
¢l—- G, k. 4,r.7: Batch / Lot Number #2-5 —>
</productinstencelnstance
<kindOfPreduct classCode="MMAT” determinerCade="KIND™>
<formCode code="G. k. 4.7, % 2b” codeSysten"TBD-DoseForn” codeSystenVersion="G.k.4.1.9, 22"
e G k. 4. 1. % 207 Pharmaceutical Dose Form TermlD Version Date / Number #2-5 >
{lm & k. 4. 1.9, 2b: Pharmaceutical Dose Form TernID §2-6 ~->
CoriginalText)G. k. 4. r. 9. 1¢/original Text>
<I-— G k. 4.r.9. 1 Pharmaceutical Dose Form (free text) #2-5 —> .
/fornlode>
</kind0fProduct
{/instanceOfKind>
/consumpble>
inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN™>
Ceode code="98" codeSystem="2. 16. 840, 1. 113883, 3, 989, 2. 1. 1, 19" displayName="parentRouteOfAdninisiration”/>
Cvalue xsi:type="CB" code="G.k, 4 r.1i. 2b" codeSystem="2, 16.840. 1. 113883, 3. 988. 2. F. 1. 14" codeSysterVersion="6. k. 4.1
11, 2a™>
(= G k. 4. r. 11. 2a Parent Route of Adwinistration TermID Version Date / Number #2-5 -3
¢l=- G,k 4.7 11, 2b: Parent Route of Administratien TernIl #2-5 —>
CoriginalText>G. k. 4. r. 11. 1<{/original Text>
¢l= G.k. 4.£.11. 1! Parent Route of Administration {free text) #2-§ —->
<fvalue’ .
</observationy
</inboundRelationship>
<{/substancepdministration’
</outboundRetationship2>
<outboundRelationship? typeCode="COMP™>
- G,k 4. 1’ Dosage and Relevant Informatien (repeat as necessary) #2-6 —>
{gubstanceAdministration classCode="SBADM" moodCode="EVN"™>
<text?G, k. 4. r, B/ text>
I G.k 4.7.8: Dosage Text #2-6 -
<effectiveTime xsi'type="SXPR_TS"»
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{comp xsiitype="PIVL_TS™>
{period vaiue®” 1" unit="G. k. 4.r.37/>
o G k.4 £, 2 Number of Units in the Interval #2-6 ~>
{le= G, k. 4. r. 3 Definition of the Time Interval Unit #2-6 -
- {/comp?
<comp xsi:type="IVL_TS" operator="A">
<width value="™4” unit="G. k. 4. r. 6b"/>
(Swn Gk 4.7.62: Duration of Drug Adwinistration {number) #2“6 -
3~ Gk 4. 1.6b: Duratien of Drug Administration {unit} #2‘6 -=>
<feomp?
{/effectiveTimer .
(routeCode code="G. k. 4. r. 10. 2b* codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. . 14" codeSystenVersion="5. k. 4, x. 10, 2a">
G-~ G. k. 4.r. 10,231 Route of Administration TermID Version Date / Nuwmber H2-6 -—
¢t— G k.41, 10,26 Route of Administration TermId #2~6 '
<originalText>G, k. 4. r. 10. 1{/originalText>
A= G k.4.r.10.1: Route of Administration (free text) #2-6 -
{/routelode>
¢doseQuantity value="10" unit="G. k. 4. v, Ib"/>
<i=- G.k.4.1. la Dose (number) H2-6 ~->
<l G k. 4.1, 15 Dose {unit) #2-5 —>
{consumzble typeCode="CSH™>
<instanceOfKind classCode="INST">
<productinstancelnstance classCode="MMAT™ determinerCode="INSTANCE">
<LotiumbarTextDG. k. 4. r. 7¢/lotNumberText>
= G k.4, v. 7 Batch / Lot Number #2-6 -3
</praoductInstancelnstance
<kind0fProduct classCode="MMAT" detexminerCode="KIND™>
formCode code="G, k 4.1, 9, 2b” codeSysten="1BD-DosePorn” codeSystemVersion="G.k 4.1, 9. 2a">
Ll 6.k, 4.1, 9. 227 Pharmaceutical Dose Foxm TermlID Version Date / Number #2-6 —>
e Gk 4. F. 9. 2b Pharmaceutical Dose Form TermID #2468 >
CoriginalText>G. k 4. 1. 9. 1</originalText)
== G. & 4.1 @ % Pharmaceutical Dose Form (free text} #2-6 —>
<fformCodad
{/kindOfFProduct>
£/instanceCfKind>
</consumable>
<{inboundRelationship typeCode="REFR">
Cohservation classCode="0BS" woodCode="BYN™>
{code code="08" codeSystem="2, 16, 840.1. 113883.3,989. 2. 1. . 19 displayName="parentRouteGfAdninistration”/>
<value xsiitype="CE” code="G. k. 4.t. 11 2" codeSystem="2. 16, §40. 1, 113883, 3.689. 2. 1. L. 147 codeSystenVersion="G.k. 4. r
11. 2a™>
¢l Gk 4.1 11 2a7 Parent Route of Administration Termld Yersion Date / Number #2-6 —>
<l G.k. 4.1 11, 2b: Parent Route of Administration TermID H2-68 —>
<originalText>G. k. 4. r. 11 1</originalTexty
== 6.k 4.x. F1. 1 Parent Route of Administration (free text) #2-6 ——>
</value>
{/chservation>
{/inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship? typeCode="COMP">
¢le= G.k 4.1 Dosage and Relevant Information (repest as necessary) #2-7 —>
{substanceAdninistration classCode="SBADM"™ nmoodCode="EYN">
Ctextd6. k. 4. x. B¢/ texty
(= G, k. 4.1, 8: Dosage Text #2-7 —>
(effectiveTime xsi'type="PIVL_T5">
<peried value="10" unit="G.k. 4.1.3"/
== 6.k 4. r. 27 Number of Units in the Interval #2-7 —>
(i G k.4, 7.3 Definition of the Time Interval Unit #2-7 ——>
¢SeffectiveTime?
¢routeCode code="G. k. 4, r. 10, 2b” zodeSystem="2, 16. 840. 1. 113883. 3, 989, 2, 1. 1. 14" codeSystenmVersion="G. k 4. 1. 10.2a™
{4~ 6.k 4.7, 10, 2a: Route of Administration TermID Version Date / Number #2*7 -
U= Gk, 4, 7.10.2b: Route of Administration TermID #2-7 —->
{originalText>G. k. 4, r. 10. 1<{/originalText>
¢ G k. 4.7.10. 1! Route of Administration (free text) #2-7 —>
{/routeCode>
v {dgseQuantity value="10" unit="G. k% 4. r. 1b"/>
¢fm Gk 4.1, 1a Dose (nugber) #2-7 ~->
G Gk 4.x. 1h: Dose (unit) H2-7 —>
{consumahle typeCode="CSM">
{instance0fKind classCodes”INST™>
<productInstancelnstance classCode="MMAT" determinerCode="TNSTANCE™>
<JotNumberTextG. k. 4. r. 1</ lotNunberText>
{i-- 6.k ¢.v.7: Batch / Lot Rumber 82-7 —>
</praductInstancelnstance?
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<kindOfProduct classCode="MMAT" determinerCode="KIND™>

FornCode code="G. k. 4.7, 9, 2b” codeSysten="TBD-DoseForn” codeSystenVersion="G. k. 4.r. 9. 22">
(I 6.k 4.7.9 227 Pharmaceutical Dose Form TermIP Version Date / Number #2-7 —>
¢l=m G k.4, 1.0 2b7 Pharmaceutical Dose Form TermiD #2-7 -->
CoriginalText»G. k. 4. 1. 9. 1</originalText> .
(= G.k. 4.1.9.1: Pharmaceutieal Dose Form (free text) #2-7 —>
<fEornCods
</kindOfProduct>
¢/instanceOfKind>
¢/consumable

<ipboundRelationship typeCode="REFR”>
<ohservation classCode="0BS" moodCode="EVN">
Zoode code="28" codeSystem="D. 16, 840, 1. 113883. 3. 689, 2. 1. 1. 19° displayNeme="parentRouteOfAdministration”s>
¢yalue xsiitypes”CE" code="G. k. 4 r. 11 2b” codeSystew="%. 16,840, 1, 113883.3.989.2. L. 1. 14" codeSystenVersion="G. k. 4.1

15,20
(-~ Gk 4. r. 11, 2a: Parent Route of Administration TermlD Version Date / Number #2-7 -->
i-- . k.4, 7. 11, b Pavent Reute of Adnministration Teranlb #2-7 -
CoriginalText>G. k. 4. r. 11, k</original Textd
- 6.k 4. r. 11, 1: Parent Route of Administration (free text} #2-7 >
{fvalue>
(fobservation?
</inboundRelationship>
{/substanceAdministration>
{/outboundRetationship2>
CoutboundRelstionship2 typeCode="COMP™>
<} G.k.4.r! Dosage and Relevent Information (repeat as necessary) #2-8 ——>
{substanceAdninistration classCode="SBADM" moodCode="8YN">
<text>G. k. 4. . B¢/ text> '
¢l G, k.4.r.B: Dosage Text #2-8 —>
ceffectiveTime xsi:type="IVL_TS™>
¢low value="200901017/>
(1= G, k& 4 r.4: Date and Time of Start of Drug #2-8 -—>
{/effectiveTime>
<routeCode code="G. k 4. 1. 10, 2b" codeSystem="2. 16, 844, 1. 113883. 3, 889. 2. 1. 1. 14" codeSystenVersion="G, k. 4, 1. 10. 22">
(== 6.k 4.1, 10, 2a; Route of Administration Termil Version Pate / Number #2-8 —>
- G. Xk 4.1.10.2b: Route of Administration Termil #2-8 —>
{originaiText>G. k. 4, r. iG. 1{/originalText>
-~ 6.k 4.1r.10. 1! Route of Administration {free text} #2-8 —3>
</routeCode>
<doseQuantity value="10" unit="G.k. 4. 1. 16"/>
I Gk 4.1, 12 Dose (number) #2-8 ——>
v Kl Gk 43 1bi Dese {unit) #2-8 -
<gonsumable typeCode="CSH™>
CinstanceOfKind classCede="INST™>
(aroductInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
{lotNumberText G, k. 4. . 7</letNunberText>
{I=- G.k.4.1.7: Bateh / Lot Number #2-8 -->
</productInstancelnstancer '
<kindOfProduct classCoda="}MAT" determinerCode="KIND">
<formCode code="G. k 4.1.9. 2b" codeSysten="TBD-DosecForm” codeSystemVersion="G. k:4.1.% 22>
<=~ 6. k. 4.1, 9 23 Pharmaceutical Dose Form TermID Yersion Date / Nupber #2-8 —
i G k.4 1. 9. 2b: Pharmaceutical Dose Form TermiD #2-8 —>
<originalText>G. k. 4. r. 9, 1/ oziginalText>
e Gk 4.1.9. 1 Pharmaceuticsl Dose Form (free text} #2-8 --
&/ formCode?
</kind0fProduct>
</ingtance0fRind>
</consumable>
<inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCodes"EVN™>
{eode code="28" codeSystem="2. 16. B40. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="parentRoutedfAdninistration”/>
<value xsi:type="CE” code="6.k 4.1 11 2b" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. L. 14" codeSystenVersion="G k. 4.1
11, 28"

I G.k. 4. 1. 11, 2a: Parent Route of Administration TermID Version Date / Number #2-8 -3
¢l G.k 4. r. 11, 2b: Parent Route of Administration TexmID #2-8 —3>
CoriginalText>G, k. 4. r. 11, 1</originalText>
(4= G.k.4.1.11, 1% Parent Route of Administration {free text) §2-8 —
/value>
</obgervation?
</inboundRelationship>
</substanceAdministration>
{/outboundRelationship2>
{outhoundRelationship? typeCode="COMP™>
¢|— 6.k 4.r: Dosage and Relevant Information (repeat as necessary) #2-§ -—>
{substanceAdministration classCode="SBADY" mocdCode="EVN"»
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C(textr>G k. 4. r. 8BS/ textd
- Gk 4. r, B Dosage Text #2-9 -3
CeffectiveTime xsi:type="IVL_T8">
Chigh value="200901017/>
(o G k.4.r. 5 Date and Time of Last Administration #2-9 -——>
{/effectiveTime>
routeCode code="G.k. 4, r. 10, 2b" codeSystem="2. 16,840, 1, 113883, 3.9689.2.1. 1, 14 codeSystemVersion="6. k. 4, r. 10 2a™
¢t G. k. 4.7, 10.2a% Route of Administration TernID Version Date / Nusber #2-9 —>
<1— 6.k 4.7.10.2b: Houte of Administration TermID #2-9 ~>
CoriginalText>G. k. 4. r. 10. 1</originalText>
<l & k.4.t.10, 1% Route of Administration (free text) #2-¢ —>
{/rduteCode>
<dosaQuantity value="10” unit="G.k 4.x.1b"/>
<l Gk, 4. £, 1a Dose {number} #2-9 ~->
<l-- 6.k 4. r. 1b: Dose (unit) #2-9 —>
{consumable typeCode="CSM">
<instanceGfKind classCode="INST”>
<productinstancelnstance classCode="MMAT" determinerCode=" INSTANCE™>
" ClotNumborText>G. k. 4. v, 7<¢/tothupharText?
<i-- 6. k. 4.1.7: Batch / Lot Number #2-9 ——>
{/productInstanceInstanced
<kind0fProduct classCode="MMAT” determinerCode="KIND™>

(formCode code="G.k 4.1 9, 2b" codeSystem="TBD-Dogeforn” codeSystemVersion="G.k.4.r.9.2a™
= G,k 4.1.9. 22 Pharpaceutical Dose Borm TermID Version Date / Number #2-% -
I~ G.} 4. 1.9 2b: Pharmeceutical Dose Form TermID #2-9 -->
{originaiText>. k, 4, r. 9. 1{/original Text>
o Gk, 4. r. 9. 1: Pharmsceutical Dose Form (free text) #2-9 —>
{/fornCode>
</kind0fProduct>
</instanceOfKind>
</consuma'ble>

{inbotndRelationship typeCode=”REFR™>
Zobgervation classCode="0BS” moodCade="EYN" >
(code code="28" codeSystem="2, 16. 840. 1. 113883, 3,988, 2, 1. 1. 197 displayName="parentRoute0fAdninistration” />
¢value xsi:type="CE” code="C.k 4.7. 11.2b" codeSystew="2, 16. 840. 1. 113883, 3,988. 2. 1. 1. 14" codeSystenVersion="G.X. 4. 1.
11, 2a™>
(4=~ G. k. 4.7, 11.2a: Paront Route of Administration Termil Version Date / Number #2-9 —>
e Gk 4.1, 11.2b¢ Parent Route of Administration TermiD #2-§ —>
CoriginalText>6: k. 4. r. I, 1</originalText>
i~ {. k. 4.1 11, §: Parent Route of Administration (free text} #2-8 -->
{/value>
{/ohservation>
</inboundRelationship>
</substanceAdministration:
{/outboundRelationship2>
{outboundRelationship? typeCode="COMP™>
¢1— G, k. 4. 1 Dosage and Relevant Information (repeat as necessary) #2-10 -2
{substanceAdminisiration classCode="SBADM" msodCode="EVN">
CtextyG k. 4.z, 8¢/ text>
{l-— G.k. 4. 1.8 Dosaga Text #2-10 —>
{affectiveTime xsi:type="IVL_T§">
<width value="4" unit="G.k 4.1r. 66"/
{dm & k. 4. 1. 6a Duration of Drug Administration (number} #2-10 —>
(-~ §. k. 4. r. Bb: Duration of Drug Administration {unit) #2-10 —>
{feffectiveTime>
¢routeCode code="G. k. 4. r. 10. 2b" codeSysten="2. 16, 840, 1. 112883.3. 689, 2. L. L. i4™ codeSystenVersion="G. k. 4.r. 10. 2a™>
Ao G k.41 10, 220 Route of Administration TermID Version Date / Number #2-10 —>
{-- 6.k. 4. r. 10.2b: Route of Administration TermIb #2-10 ~—>
CoriginalTextG. k. 4. r. 10, i</origiralToxt> ‘
<le= G,k 4.1.10.1: Route of Administration (free text) #2-10 —>
</routeCode>
Cdosetuantity value="10" unit="G. k. 4.1.1b"/>
=~ G k4.1 12 Dose (number) #2-19 -->
(- Gk 4.r. 1b: Dose {unit} #2-10 —>
{consumable typeCode=" CSM ? '
¢instancetfKind classCode="INST">
¢productinstancelnstance classCode="MMATY determinerCode~" INSTANCE™>
ClotMunberText>G. k. 4. . 1</ lothumberTaxt>
{fem Goko4or. 70 Batch / Lot Number #2-10 >
</productinstancelnstance?
¢kind0fProduct classCode="MMAT® determinerCode="KIND">
fornCode code="G, k. 4. 1.9 2b” codeSysten="TAD-DoseFora” codeSystemVersion="6.k 4. r.9. 2a">
¢l=- G.% 4.1.9.2a: Pharmaceutical Dose Form Termil Version Date / Number #2-10 —>
C¢lee Gk 4%, 9. 2k Pharmaceutical Dose Form Termil #2-10 ——>
LoriginalText>G. k. 4. . 9. 1</original Text>
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G— 0.k 4 1. B ! Fharmaceutical Dose Ferm {free text) #2-10 -5
</foreCode? '
</kind0fProduct>
{/instance0fKind>
{/eonsumabled
<inboundRelationship typeCode="REFR">
(chservation classCode="0BS" moodCode="EVN™
<code code="28" codeSystem="Z. 16. 840. 1. 113883, 3. 989. 2. 1, 1. 13" displayNeme="parentRoute0fAdministration”/>
<value xsiitype="CE” code="G.k. 4 r. il 2" codeSystew="2. 16.840. 1, 113883.3.989. 2. 1. L. 14" codeSystenVersion="G. k. 4. x.
11, 2a">
€1~ B,k 4. 1.1}, 22 Parent Route of Administration TermID Version Date / Nusber #2-10 —->
<} G.%.4.7.11. 257 Parent Route of Administration TermID #2-106 -->
CoriginalText>G. k. 4. 7. 11, 1{/original Text?
¢— G.k.4.7. 11, 1; Parent Route of Administration (free text) H2-10 —>
{fvalue>
{/observation>
</inboundRelat{onship>
</substanceAdministration>
</outhoundRelationship2>
<outboundRelationship? typeCode="SUMM™>
<observation classCode="08S" moodCode="BVH">
{code code="14" codeSystem="2, 16, 840, 1. 113883.3.989.2. 1. 1. 18" &1splayName~ cumilativeloseToReaction” />
<value xei!type="PQ" value="10" wnit="G.k.5b"/>
(I~~.G.k Ba: Cumulative Dose to First Resction (nuwber} #2 —>
== G,k 5b: Cumuiative Dose to First Reaction {unit} #2 —>
{fobservation
¢/outhoundReiationship2>
<outboundRelationship? typeCodes"PERT™>
<observation classCode="0B3" moodCode="EVN"> 1
<eode cede="16" codeSystem="2. 16, 840, 1. 113883, 3. 989, 2. 1. 1, 19" displayName="gestationPeriod”/>
<value xsiitype="PQ” value="10" unit="G.k, 65"/>
{l— G.k.6a: Gestation Period at Time of Exposure (number) #2 ——>
¢l=- G,k 6b; Gestation Peried at Time of Exposure (unit) H2 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
<abservation classCode="0B5" moodCode="EVN">
{eade code="31" codeSystem="2, 16. 840, 1. 113883, 3. 989, 2. 1. 1. 18" displayName="recurranceQfReaction”/>
Cvalue xsitype="CE" code="G k.9, 1. 4" codeSysten="2. 16. 840. 1, 113883, 3.689. 2, 1. 1. 16"/>
¢l== G.k 9, i, 4: Did Reaction Rectr on Re-administration? Drug #2, Reaction H1 --2
¢outhboundRelationshipl typeCode="REFR™>
{actReference classCode="0BS” moodCode="EVN™>
<id root=”154BbSSQWB58h~d5f2“302f‘42&4d§f4657f"/>
</actReference>
¢/outhoundRelationshipl)
¢/observationd
</outboundReiationship2>
outhoundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
{code code="3%" codeSystem="2, 16. 840. 1. 113883, 3, 989, 2. 1. 1. 19" displayName="recurranceCfReaction”/>
(value xsiitype="CE” code="G. k.9, i.4" codeSystem="2. 16, 840. 1. L13883.3.980. 2. 1. 1, 16"/>
¢l Gk 9 1 47 Did Reaction Recur on Re-administration? Tirug #2, Reaction #2 »-»
{outhoundRelationshipl typeCode="REFR">
{actReference classCode="OBS” roodCode="EVN">
id root="2ban28d6-cle8-debc-93e9-5LBE0LI14220" />
{/actReference>
</outboundRelationshipl>
{/obgervation> .
</outboundRelationship2>
<outboundRelationship? typeCode="REFR"> ’
{observation classCode="0BS" moodCode="EVN">
Ceode sode="9" codeSystem="2. 16, 840. £, 113883. 3. 989, 2. 1. 1. 19" displayBame="codedDrugInforzation”/>
<value xsiitype="CE” code="G.k. 10.1" codeSystow="2.16,840. 1. 113883.3.989. 2. 1. L. 17°/>
e Gk, 10, r! Additional Informaticn on Drug (coded) (repeat as necessary) H2-1 -->
{/observation’
{/outboundRelationship2>
{outheundRelationskip? typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
{cade code="9" codeSystem="2. {6. 840, 1, 113883, 3. 989. 2. 1. 1.-18" &1splayName— codedDrugInformation™/>
¢value xsiitype="CE" code="G.k, 10, 1" codeSystem="2.16, 840. 1. 113883, 3,98%. 2. 1. 1. 17"/>
=~ G %k 10.r: Additional Information on Drug {coded} (repeat as necessary) #2-2 w>
</ohservation> '
</outboundRelationship2>
ZputhoundRelationship? typeCode="REFR™>
{ohservation classCode="0BS" moodCode="EVH™>
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<{code code="2" codeSystem="2, 15, 840, 1, 1313883.3.989. 2. 1. 1. }9” dxsplayﬂame— additionallnformation”/>
{value xsiltype= “8T706 k. 13¢/ value>
¢l== G,k 11: Additional Information on Drug (free text) #2 —>
</observation>
</outboundRelationship2>
<inboundRelationship typeCode="RSON">
<ohservation classCode="0BS" moodCode="EVN">
<eode code="19" codeSystem="2. 18, 840. 1. 113883. 3. 089. 2. L. 1. 19" displayName="indication™/>
<value xsiitype="CE” code="G.%k. 7.r.2b" codeSystem="2. 16, 840, 1. 113882. 6. 163" codeSystemVersion="G.k.7.r.2a™>
i Gk, 7.1, 22! MedDRA Version for Indication #2-i —> .
— G k7. x. 2b: Indication {MedDRA code} #2-1 —>
CoriginalText>G. k. 7. r. 1</originalText>
{le~ . k. 7.r.1: Indication as Reported by the Primary Source #2-1 -
</value>
<performer typeCode="PRE">
<assignedfatity classCode="ASSIGNED™> .
foode code="3" codeSystem="2, 16. 840, 1. 113883, 3, 89, 2. 1. 1. 217 displayiame="sourceReportar”/>
</assignedEntity>
{/porformer>
</observation>
</inboundRelationship>
<{inboundRelaticnship typeCode=" RSDN >
<observation classCode="0BS” moodCode="EVN™>
<oode codo="19" codeSystem="2, 16. 840. I. 113883. 3. 989. 2. 1. 1. 19" displayName=" 1ndluatzon”/>
<yalue xsiitype="CE" code="6.k 7. r. 2b" codeSystem="2. 16. 840, 1, 113883 6, 163" codeSystemVersion="G k. 7.r.22™>
{1~ G. k. 7.7.2a: MedDRA Version for Indication #2-2 --> ’
<l Gk, T.x.2b7 Indication (MedSRA cade) #2-2 —
{originaiTextdG. k 7. r. 1{/originalText>
<=~ G k.T.x. 11 Indication as Reported by the Primary Source #2-2 ~->
</value>
{performer typeCode="PRF™>
CassignedBntity classCode="ASSIGNED™>
{code code="3" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 21" displayName="sourceReporter”/>
{/assignedBntity> -
{/pexrformer>
</observationd
4/inboundRelationship?
<inhoundRelationship typeCode="CAUS">
<act classCode="ACT" wmoodCode="EVN™>
<code code="G. k. 8" codeSystew="3. 16.840. 1. 113883, 3. 985. 2. 1. 1. 15”/>
{l-- 6.k 8 Action{s) Taken with Drug #2 —>
{fact>
{/inboundRelationship>
{/subgtanceAdministration?
{/component>
{/organizer>
{faubjectOf2>
{subjectOf2 typelode="SBI">
Corganizer c¢lassCode="CATEGORY” mocdCode="] BVN">
<oéde code=”1” codeSystem="2, 16. 540, 1. 113883.3. 989, 5. 1. 3.2, 1. 11" displayNeme="FaBRoriBEE"/>
{component typeCode="COHP™> -
{observation classCode="0BS" moodCode="EVN">
<code code="7" codeSysten="7. 16,840, 1. 113883, 3.989. 5. 1. 3. 2. 1. 10" displayNene="JRIUIEI"/>
Cvalue xsiltype="INT" value="1"/>
<l @B2J2. 13. 1. 11 RMERK #1 -
Sobservation?
{/eomponent>
{component typeCode="COMP*>
{observation elassCode="0BS" moodCodes”EVN™>
{coda code="8" codeSystem="2. 16. 840. 1. 113885, 3. 989. 5, 1, 3. 2. 1. 10" displayName="x} B EB" />
{value xsititype="ED“>J2. 13.r. 2¢/value>
¢l @3RJZ 13.1.2: ﬁﬁaﬁm # —
{/obgervation>
</somponent>
Ccomponent typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
~ Crgde code="0" codeSysten="2, 16, 840.1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayNane="HHRHHR" />

Cvalue xsiitype="CB" eode="J2.13.r, 3" codeSystem="2.16.840. 1, 113883.3.989.5. 1.3.2. L.7°/>
<lw- @@J2. 13.7.3: BATEHE H#1 -
</observation>
</component’

<component typeCode="COMP™>
{ohservation ¢lassCode="0B5" moadCode="EVN">
{eode code="10” codeSystem="2. 16, 840. 1. 113883, 3,989, 5. 1. 3.2, L. 10 d15p1ayhame~"ﬁ?§%q“0)ﬁﬁ9103$§ﬁ% />
{value xsi:type="BL”.valuo="true”/>
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e @812 187, 40 RIEPOEPIOHE B -
¢/observation>
</component?
{/organizer>
</sub jectOf 2>
{subject0f? typeCode="58B]">
{organizer classCode="CATEGORY” moodCode="EVN™>
Ceade code="1" codeSysten="2, 16. 840.1.1136883. 3. 988, 5. 1.3. 2. 1. 1" displayName="15HORIE"/>
<component typeCodes"COMP™>
Zohservation classCode="0BS” moodCode="EVN">
(code code="T" codeSystem="%, 16, 8§40. 1. 113883. 3. 989. 5. 1. 3. 2. L. 10" displayName="/BIHEHL"/>
<value xsiitype="INT” value="1"/>
- geeiz. 13.r. 11 BIHER #2 —
{/ochservation®
{/component¥
<{component typeCodes" COMP™>
<observation clessCode="0RS" moodCode="EVN">
Scode code="8" codeSystem="2. 16, B40. 1. 113883, 3, 989, 5 13,2, 1107 displayName="3 KM />
<value xsi:type="ED">J2. 13. 1. 8</value> )
<l-- 28072, 13, r. 20 WHEM t2
{/obgervation>
</component>
{componont typeCode="COMP™>
<chservation classCode="0BS™ moodCode="EVN"> .
(code code="9" codeSystem="2, 15, 840. 1. 113883, 3. 989. 5. 1. 3. 2. L. 10" diaplayName="BRFEHR"/>
(value xsiitype="C8" code="J2.13.r.3" codeSystem="2.16.840. 1, 113883.3.689.5.1.3.2.1.7"/>
{t-- 0002, 13.r.3: BUFEAE #2 —
{/observation>
</component?
{component typeCodes"COMP™>
{observatioh classCode="0BS" moodCode="EVN™>
<code ‘code="10" codeSysten="2, 16, 840. 1. 113883.3.989. 5. £. 3. 2. 1. 107 displayName="40 480 E B 0 H & />
{value xsiitype="BL" value="false”/>
¢<l-- g@8J2. 13. 1. 4 W OEFACHE §2 —
{/observation>
<fcomporent>
{/organizer>
</subjectOf>
{/primaryRole>
</subjectly
<component typeCode="COMP™>
<causalityAssessment classCode="0BS" moodCode="EVN">
Ceode code="20" codeSysten="2, 16, 840, 1, 112883. 3. 983.2. 1. L. 18" displayNeme="interventionCharacterization”/>
<yalue xelitype="CE” code="G, k.17 codeSystem="2. 16. 840. 1. 113883, 3,989, 2, 1. 1. 137/>
(e G. k. L: Characterisation of Drug Role Drug #1 -
{subject? typeCode="SUBJ™>
<productlUseReference classCode="SBADH" moodCode="BWN">
<id root="3cflbdd5~e039~4aTa~0c30-6767 Ib0eed” /)
</productlseReference
</subject?>
¢/causalityAssessment>
{/component>
{component typeCode="COMP™> .
«causalityAssessment classCode="0BS” moodCode="EVN™>
Zcode code="20" codeSystem="2. [6.840. 1. 13682, 5. 989, 2, 1. 1, 19" displeyName="interventionCharacterization”/>
Cvalue xsictype="CE” code="G. k. 17 codeSyster="2. 16. 840, i, 113883.3,989.2. 1. 1. 13"/>
¢I— G,k 1: Characterisation of Drug Role Drug #2 —->
{subject? typeCode="SIBI>.
{productUseReference classCode="SEADM™ moodCode="EVN">
<id reotw"G8d6E5ce=3b3b~45c7-02dd-69e06730c3a8" />
<fproductUseReference’
</subject?d>
{/causalityAssessnent>
</component?
{component typeCode="COMP">
CcausalltyAssessmeni classCode="0BS" moodCode— BV
<e6dd code="39" codeSysten="2. 16. 840.'1; 113883 3. 989, 2. 1, L. }¢" displayName~"causality”/>
<{yalue x5iitype="ST™2G. % 9. i. 2 1. 3¢/ value>
I G, k.8, i.2.7. 37 Result of Assessment Drug #i, Reaction #1, Assessment #1 -2

<methodCode>

CoriginalText>G. k. 9. 1. 2. r, 2{/originalText)

= G,k 9. 5. 2. r. 20 Method of Assessment Drug H#l, Reaction #l, Assassment §1 |
{/nethodCode?

<authoy typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
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<eode?
{originalText>G. k. 8. i. 2. r. 1<{/originalText>
(o Gk 9.4, 2.1 10 Source of Assessment Drug #I, Reaction #1, Assessment #1 —>
<foode>
</assignedBntity>
{/authox>
<azhject]l typeCode="SUBI™>
" {adverseBffectReference classCode="0BS" moodCodeﬂ BVN™>
<id root="154eb889-358b—45F2-a02f~42d4d6£ 46571 />
{fadverseliffectReference?
{/subjectiy
{subject? typeCode="SUB]">
<preductUseReference classCode="SBADM™ moodCode="EVN™>
{id root=”3c81b4d5-e039-4aTa-0e30-67671b0ef9ed” />
{/praditctUseRofersnce>
</subject2>
{/eausalityAssessnentr
¢/component> )
{component typeCode="COMP™>
{causalityAssessment ciassCode="0BS" mocdCode="EVN™>
(code code="39" codeSystem="2. 16,840, 1. 113883, 3,980, 2. 1. L. 19" displayNeme="causality”/>
Cvalue xeittype="ST"26. % 9. i- 2. 1. 3(/value>
3Gk, 9, 4. 2.7, 3¢ Result of Assessment Drug #1, Reaction #2, Assessment 1 >
{methodCode>
" RoriginalTextdG. k. 9. 1. 2. r. 2¢/original Text>
(1G5 9, 1. 2. 1. 2t Method of Assessment Drug #1, Reaction 32, Assessment #i ——
</methodCode>
Zauthor typeCode="AUT™>
{assignedintity classCode="ASSIGNED">
<eoded
{oxiginalText>G. k. 9, i. 2. r. I/originaiText>
&l Gk 8.3.2.1. 17 Source of Assessment Drug #1, Reaction B2, Assessment #1 —>
</code>
<{/assignedEntity>
</authox>
<subjectl typeCode="SUBI">
{adversefiffectRefersnce ¢lassCode="0BS" moodCode="EVN">
<id root="2bsal8d6-clel-debe-G3e8-5b860b314220"/>
<fadverseEffectReferonce)
</subjectl>
{subject? typeCode="SUBJ">
¢productUseReference classCode="SBADM” moodCode="EVN">
{id root="3081b4d5~e038~4a7a-9c30~67671hbetded” />
¢/productilseReference>
</subjectd>
{feausalityAssossment?
{/camponent>
{eomponent typeCode="COMF™> |
{causalityAssessment classCode="0B8" moudCode="EVN">
<code code="39" codeSysten="2. 16, 840, 1. 113883, 3.989, 2. 1. 1. 18" displayName=" causallty >
<value xsiltype="ST™>G. k 9.1, 2. 1. 3<{/value>
¢l % 9,1 2. 1.3 Result of Assessment Drug #2, Reaction #2, Assessment #i -->
<methodCode>
{originaiText6. k. 9. i. 2. r. 2</original Text>
e k9,42 1. 20 Method of Assessment Drug B2, Resction #2, Assessment #1 ~—3
</methedCode>
<author typeCode="AUT">
{assignedBntity classCode="ASSIGNED">
{eode?
<originalText>G. k. 8. 1. 2. x, 1</originalText>
<l— 6, k. 9.4, 2.r. 1! Source of Assessment Drug #2, Reaction #2, Assessment #1 -
{/cade>
{/assignedintity>
{/author>
<subjectl typeCode="SUBJ™>
{adverseEffectReference classCode="0BS” moodCode="EVN™>
¢id root="2baa28dé-cGel-4e60~93eB-5LR8E0b 42207 />
</adverseBffectReference>
¢/subjecti>
(subjectl. typeCode="SUBJ™>
{productliseReference classCode="SBADM" moodCode="EVN">
<id root="68d6fce~3b3b-450 T-42dd-63006730c3297 />
</fproductlseReference?
¢/subject?>
¢/eansalityAssessmenty
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</cotiponent?
(oomponent typeCode="COMP”>
<¢ausalztyhssessment classCode="0BS" moodCode="EVN™>
<eode code="38" codeSysten="2. 186, 848, 1, I13883. 3. 989. 2.1.1. 197 dlspéayName— causalxty >
{valte xsiltype="5T7>G. k 9.1, 2.r. 3¢/ value>
<Gk, 9. 4. 2. 1730 Result of Assessment Drug #2, Reaction #2, Assessment #2 -y

(methodCode>

{originalText?G. k. 9. 1. 2. r. 2{/originalText?

<I—6.%. 9.1, 2. 1. 27 Method of Assessment Drug #2, Reaction H2, Assessment #2 -
</methodCode

Canthor typeCode="AUT™>
(assignedBntity classCode="ASSIGNED™)
{eoder
mnmmﬂﬂﬂ&kQLahKhmmmHuw
o~ Gk 9. 1.2, 1 12 Source of Assessment Drug §2, hmﬂm#ﬁﬁ%ummt%—ﬁ
</code>
fassignedEntity>
</author>
<subject] typeCodes"SUBJ™>
<adverseBffectReference classCode="0BS" noodCodew"EVN™>
<id root="2haal8d6-cIeB-4efic-03e0-50B60M3 142207 />
(/adverselffectRelerenced
</subject>
<subject2 ‘typeCode="SUR]">
(productiiseReference classCode="SRAIM” mosdCode="EVH">
d roat="68d6f5ee~3b3b46cT-92dd- 6960673003297 />
</productUseReference>
{/subject2>
(/csusalztyAssessmen%}
</component?
<eomponent] typeCode="COMP™>
{observationEvent classCode="0BS” mocdCode="EVN™>
<eode code="10" codeSystew="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 197 displayNeme="comment”/>
{yalue xsiitype="EI"H. 2{/valued
¢l-- W 2: Reportexr’ s Comments ——>
Cauthor typeCode="AUT">
<assigredBntity classCode="ASSIGNED™>
Ceode codew"3" codeSystem="2, 16. 840. 1. 113883, 3,988, 2, 1, 1. 217 dISFZBYName“ sourceReporter”/>
{fassignodfntitys
{fauthor?
 ¢/observationEventd
</eomponent 1y
{componentl typeCode-"CGMP >
(observationfvent classCode="0BS” moodCode="EVN">
{code code="15" codeSystem="2. 16. 840, 1. 113883, 3.888.2. }. 1. 19” displayNames"djagnosis” /)
Cyaliue xsiitype="CE” code="f.3.r.Ih" codeSystem="2. £6. 840, 1. 113883. 6. 1637 codeSystenVersion="H.3.r. 1la"/>
cl— M, 3. x ta: MedDRA Version for Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction / Hvent #1 —>
¢i— H, 3.r. th: Sender' s Diagnosis / Syndrome and / or Reclassificatien of Reaction / Bvent (MedDRA code) H1 -
¢author typelode="AUT"> /
(assighedEntity classCode="ASSIGNED™>
{sode code=" 1 codeSystew="2. I6. 840, 1. 119883, 3, 589. 2, 1. 1. 21" displayName="sender”/>
{/assigredEntity>
fatthors
</observationEvent>
{/componentl>
{gomponent] typelodes”COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
leode code="15" codeSysten="2, 16,840, 1, 113883, 3, 985, 2. 1. 1. 19" displayNeme="diagnosis"/>
<yalue xsiitype="CE” code="H, 3.1, 1b” codeSystem="2. 16. 840. 1. 113883, 6, 163" codeSystemVersion="I. 3.x. 1a"/>
- H. 3.1, la; HedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Resction / Bvent #2 —>
{1-—~ .3 1. 1h: Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction / Event {MedDRA code) #2 -3
Cauther typeCode="AUT™)
<assignedBntity ciassCode="ASSIGNED™Y |
<eode code="17 codeSystem="2, 16, 840, 1 113883, 3.680.2. 1. 1,217 d1splayNam9~ sender” />
{/assignedEntity>
</author?
</observationEvent>
</componentl’
{component} typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN"™>
<code code="10" codeSysten="2. 15. 840, 1, 113883, 3. 989. 2. 1. 1. 197 displayNane="comsent”/>
Cvalue xsi:type="ED"> 4</value>
<i-- H.4: Sender’s Comments ~>
Cauthor typeCodes"AUT™>
{assignedEntity classCode="ASSIGNED">
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{code code="1" codeSystem="2, 16,840, 1. 133883, 3,989, 2. 1, 1.21"
{/assignedEntity>
</authat>
{/observationBvent>
{/componenti>
Ceomponent] typeCode="COMP™>
¢obgervationBvent elassCode="088" moodCode="EVN">
Ccode code="3" codusyslem— 2. 15,840, 1, 113882.3.989.5.1.3. 2. 1. 197
<value xsi:type="ED">J2.7. 2¢/value>
e @2872. 7.2 HETRAFDIZA L -2
<{/observationBvent>
{/componenti>
{componentl typeCode="COMP™>
<ohservationBvent classCode="0BS" mocdCode="EYN™>
Ceode coden™s” codeSystem="2. 16. 840, 1. 113885, 3,980, 6,1, 3. 2. 1. 107
(value xsittype="ED">J2. 8¢/ value>
b 288729 SRWE OB ME -
{/observationBvent>
</componentl’
<component} typeCode="COMP™>
{observatiorBvent classCode="0BS" moodCode="EVN">
(eode code="5" codeSystew="2. 16.840. 1. 113883, 3. 989.5.1.3. 2. 1. 10"
Cvalue xsi:type="ED"»J2, 10</value)
<l Q0RJZ. 100 SHORH —>
{/observationEvent>
{/companentl>
{component] typeCode="COMP”>
<observationBvent classCode="0BS” moodCode="BYN™> .
{eode code="8" codeSystem="2. 16. 840. 1. 113883, 3.986. 5.1, 3. 2. 1. 107
<value xsi:type="ED">JZ, 11{/value>
- 88872, 11 F OB EWIHE >
{/observationBvent>
</componenti>
{componentl typeCode="COMP™>
LebservationEvent classCode="0BS" moodCode="EVN™>

Ceode code="12" codeSysten="2. 16, 840 L. 113683, 3,999, 5.1.3. 2. 1. 107

{yalue xsi:type="ED7">J2. 16</valued
(- @oRY2. 16 4BEPIE OB ~> '
{/observationBvent>
{/eomponentl>
<componentl typeCode="COMP™>
{observationBvent ¢lassCode="0BS” moodCode="EVN">

{code code="13" codeSystem="2. 16. 840, 1. 113843, 3.985.5. 1. 3. 2. 1. 107

Cvalue xsi:type="ED">J2. 19</value>
<1 Qa2 19 HiEr —>
{/ohservationBvent?
{/componentl>
<component] typeCode="CONP">
{observationBvent classCode="08S" moodCode="EYN">

toode vede="14" godeSysten="2. 16, 840, 1, 113883,3.889.5. 1. 3. 2. 1. 18”7

<yalue xeiltype="ED">J2, 20</valued
(|— @aaje. 20: HiH2 >
{/observationEvent>
{/couponentl>
{componentl typeCode=" COMP >
(observationBvent classCode="0BS” moodCodes"EVN">

Ceode code="15" codeSystem="2.16.840. 1. 113883, 3,980, 5. 1. 3. 2. 1. 107

value xsi:type="ED">J2. 21</value>
<l 60832.21: fiM3 —>
</observationfvent?
{/component>
<eomponentl typeCode="COWP™>
CobservationBvont classCode="0BS" moodCode="EVN">

{eode code="16" codeSysten="2, 16. 840, 1. 113883, 3,989, 5.1.3. 2. 1. 10"

{yalue xsi:type="ED7>J2. 22¢/value>
<1-- @48J2, 22 %4 —>
</observationBrent>’
{/componenti>

{/adversefventissessmant>
{/companant)
<eompenent typeCode="COMP” >
<ohservationBvent classCode="088" moodCode="EVN">

displayNane="sender”/>

dmplayName-”ﬁEycTLﬁT BmAw

displayNamF"!‘ﬁ';ﬁff—E@ﬂl&ﬁﬂﬁ"/}

displayName="4 %O/

displayiame="% b B EHIHG" />

displayNane="REMNBEOEL"

displayName="{i&1"/>

displayName="fi&2" />

displayName="{#3"/>

displayName="{iiZ4"/>

>

‘Ceode code="1" codeSystew="2, [6. 840, 1. 113883. 3. 980, 2. L. 1. 19" displayName="additionalDocumentsivailable”/>

<value xsitype="BL" value="true”/>
<J-— €. 1.6. 1! Are Additional Documents Available? —>
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{/observationEvent?
</camponent>
<component typeCode="COMP™>
<observationkvent classCode="0RS” moodCodeW VN >
{code code="23" codeSysten="2, 16. 840. 1. 118883, 3. 989. 2. 1. 1. 18" &1sp1ayName~”iccaICrzter1aForExped1ted i
(value xsiitype="BL” value="true”/>
(3== . 1,7t Does This Case Fulfi} the Local Criteria for an Expedited Report? —>
¢/observationBvent> )
(/component?
{component typeCode="COMP"
{observationEvent classCode="0BS” noodCoda="EYN">
¢code code="36" codeSystem="2, 16. 840, 1, 113883, 3. 989. 2. §. 1. 18" displayNawe="summaryAndComment”/>
value xsiitype="BED" language="H.5. r. Ib™>H 5 r. ta{/value?
¢l=— J. B, r. 1a: Case Sulmary and Reporter’s Comments Text H#1 ~>
<i-~ 5. 1. 1b! Case Summary and Reporter’s Comments Language 81 -—>
{author typeCode="AUT">
{assignedBntity classCode="ASSIGNED™>
Ccode code="2" codeSystews"2. 16. 840: 1. 113883, 3.9889. 2. 1. 1. 21" displayName="reporter”/>
{/assignedEntity>
{/author?
<fobservationBvent)
</component’
{component typeCodes"COMP™>
(observationbvent classCode="0BS" moodCode="EVN">
¢code code="36" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2. 1. 1. 18" displayNave="summsryindComment”™/> -
{value xsiitype="ED" language="N.5 r, 1b">H. 5. r. la{/value>
(l-— H.5. 1. 1a’ Case Summary and Reporter’s Comments Text #2 -
¢l=~ .5, 1, Ib: Case Summary and Reporter’s Comments Language H#2 ~->
Cauthor typeCode="AUT™>
Cassignedintity classCode="ASSIGNED™>
Coods code="2" codeSystem="2. 16, 840. 1. 113883, 3,989, 2, 1. 1. 21" displayName="reporter”/>
<{/assignedEntity>
</author>
</observationBvent>
</component>
<putboundRelationship typeCode="SPRI™>
{relatedinvestigation classCode="INVSTG” moodCode="EVN">
{oode code="1" codeSystem="2. 16.840. 1. 113883, 3.689. 2. 1. 1. 22" displayName="initialReport”/>
{subjectOf2 typeCode="SUBI"»
{controlActBvent classCede="CACT” noodCode="EYN">
* author typeCode="AHUT">
CagsignedBntity classCode="ASSIGNED™>
{code code="C. . 8. 2" codeSystem="2, 16, 840. I, 113883.3.980. 2. 1. 1.3"/>
(- C.1.8.2 First Sender of This Case —>
{fassignedEntity?
{/author>
{/eentrolactivent>
{/subjectOfZy
¢/reiatedInvestigation’
</outboundRelaticnship?
{outboundRelationship typeCode="SPRT">
<relatedInvestigation classCode="INVSTG” mondCode="EVN™>
{code nullFiavor="NA"/>
<subjectOf2 typeCode="SUB]"™>
{controlictEvent classCode="C&CT” noodCodes"EVN">
{id extension="C. 1, $6.r" root="2. 16. 840. 1. 113883, 3.989.2. 1. 3.2"/>

{3=~ €, 1,10.xr: Identification Number of the Report Which Is Linked to This Report (repeat as necessary) #i —>

¢/controlActEvent>
</subjectOf2>
</relatedInvestigation>
</outboundRelationshipy
ZauthoundRelationship typeCode=" SPRT >
(relatedInvestigation classCode="INVSTG” moodCodex”"EVN™>
{code nullFlavor="NA"/>
{subject0F2 typeCode="SHRT >
{controlActEvent classCode="CACT" moedCode="EVN">
Cid extension="C. 1. 10. 7" root="2, £6, 840, 1. 113883. 3. 989. 2. 1.3.2" >

< C. 1,10, 1! Identification Number of the Report Which Is Linked te this Report (repeat as hecessary)

{/oontrolActBvent>
{/subjectOfE>
</relatedInvestigationd>
<{/outboundRelationship>
<outboundRelationship typeCode="SPRT™>
<priorityNumber value="1"/>
<}— £.2. v, 8 Primary Source for Regulatory Purposes 1 —-3
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{relatedinvestigation classCode="INVSTG” mocdCode="EVN™>
{oode code="2" codeSystem="2. 16, 840, 1, 113883, 3. 989. 2. 1. 1. 32" displayiame="sourcefiepert™/>
{subfectOf? typeCode="SURT™>
{controlActEvent classCode="CACT” mocdCode="EYN">
Cauthor typeCode="AUT™>
<assipghedintity classCode="ASSIGNED™>
<addr>
<{streetAddressline»C. 2. 1. 2. 3¢/streetAddressLine>
Chew C.2.1.2. 3 Reporter’s Street #1 —>
{eity>C, 2. 1. 2, 4/ eityd
== €. 2.7r.2.4: Reporter’s City #1 -->
{statayC. 2.r. 2. 5</stated
{le= C.2.r.2.5: Reporter's State or Province #1 —
<postalCoderC. 2. r. 2. §<{/postalCode>
<l=- .2,1.2.6: Reporter's Postcode Kl ~~»
{/addr> )
Ctelecom value="teliC.2.x.2,77/>
Jwew C. 2.7, 2,70 Reporter’s Telephone #1 -
(assignedPerson classCode="PSN” determinerCode="INSTANCE">
<nawme>
{prefindC, 2. r, 1. I /prefin>
Ci=— C.2.1. 1. 1 Reporter’s Title #1 —>
<given>C, 2. r. 1. 2<¢/given?
{i-— €. 2.1 1, 27 Reporter’s Given Name HE -2
{given>C. 2. r. 1, 3</given>
¢3— .2, 1. 1,3 Reporter’ s Middéle Name #1 -~
FamilydC. 2. r. L 4</Tamily>
1=- £.2.1. 1. 4 Reporter’ s Panily Nane #1 —>
</name>
(asQualifiedfatity classCode="QUAL™>
{code code="C. 2. 1. 47 codeSystew="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1.6"/>
le— €. 2.1, 40 Qualification #1 -
¢/asQualifiedBntity> '
(ast.ocatedBntity classCode~"LOCE™>
<location classCode="COUNTRY” determinerCode="INSTANCE™>
{eode code="C. 2. 1. 3" codeSystem="1.0.3186.-1.2.2"/
¢l=~ C. 2.r.3: Reparter s Country Code #1 >
{/losationd
{/asLocatedEntity>
<{/asgighedPerson>
{rapresentedOrganization classCode="ORG” determinexCode="INSTANCR™>
<name>C. 2. r. 2. 2¢/hame>
(e €. 2. r, 2.2 Reportex’s Department f#i —->
¢assignedBrtity classCode="ASSIGNED >
{representedOrganization classCode="CRG" determinerCode=" INSTANCE >
<namerC. 2. r. 2. 1</name’?
los € 2.1, 2.3 Reporter’s Organisation #1 -—>
{/representedOrganization>
¢/assignedBntity>
</representedirganizationd
{/assignedEntity>
{/author>
' {feantrolActEvent>
</stb jectifad
¢{/relatedInvestigation>
{/outhoundRelationship>
CoutboundRelationship typeCode="SPRT™>
<relatedlnvestigation classCode="INVSTG” moodCode="EVN">»
(eode code="2" codeSystom="2. 16.840. 1. 113883, 3. 989, 2. 1. 1. 28" displayNamo=" eeurceﬁeport "y
<subject0f2 typeCodew”SUB]™>
{controlActBvent classCode="CACT" moodCode="EVN">
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
{addr>
{streetiddressLine>C. & v, L. 3{/atroataddressline’
¢lem 0 r. 2,37 Reporter’ s Street #2 —
{eity>C. 2.7, 2. 4</city>
¢l-- C, 2,1 2.4 Reporter's City #2 >
{gtatedC. 2. r. 2. 5¢{/state>
¢l . 2.r.2.57 Reporter’s State or Province #2 —>
{postalfode>C. 2. 1. 2. 6</postalCode>
{l~- C.2.1.2.6° Reporter’s Postcode #2 =
{/addr>
{telecom value="tel!C.2.%.2. 7"/
1= €. 2.1. 2.7 Reportar’s Telephone #2 —->
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¢assignedPerson classCode="PSN” determinerCode="INSTANCE™>
{nape?
<prefix>C. 2. r. 1. 1</prefix>
¢l—- ¢ 2.r. L 1: Reporter’s Title #2 —>
Lgivend>C. 2, r. 1, 2</givend
<I-- £.2,r, 1.2: Reperter’ s Given Name H2 -
CgivendC. 2. x. L. 3</given>
¢]— C 2.r. 1 3! Reporter's Middle Name #2 —>
{family>C. 2. 1. 1. 4</Tamily>
{l— ¢, 2.r. 1. 4 Reporter' s Family Name #2 -
{/name>
<asQualifiedBntity classCode="GUAL™>
{eode code="C. 2. 1. 47 codeSysten="2.16. 840 1. $13883,3,969. 2. 1. 1.6"/>
Chem G201 4 Qualification #2 -3
¢/astualifiedBntity>
(asbotatedBntity classCode="LOCE">
¢location classCode="COUNTRY” determinerCode="INSTANCE™>
(eode code= (. 2. x.3” codeSysten="1. 0, 3166. 1. 2.2"/>
- €. 2.7. 3 Reporter’s Country Code #2 —>
{/iocation>
{/astbocatedBntityd
</assignedPerson>
(representedOrganization clagsCode="0RG” determinerCodes=" INSTANCE™>
<nawedC. 2. ¥, 2, 2</name>
I (. 2.r.2.2: Reporter’ s Department #2 ~—>
CassignedBntity classCode="ASSIGNED™>
{representedOrganization classCode="ORG" .determinerCode="INSTANCE™>
<name>C, 2. ¢, 2. 1</name>
<3— €. 2.1, 2. 17 Reporter’ s Organisation #2 —3>
</representedbrganization>
{fassignedBntity>
{/representedOrganization?
</assignedEntity?
{/author?
¢/eontrelActBvent>
</subjectDf2>
{/relatedlnvestigation>
{/outbounditelationship>
<subject0f} typeCode="SUBI™>
{controlActEvent classCode="CACT” moodCode="EVN™>
Cauthor typeCode="AHT™>
{assignedEntity classCode="ASSIGNED">
<pode code="C.3. 1" codeSysten="7, 16.840. 1. 113883.3.989. 2. 1. 1. 1"/>
== .3, 1! Sender Type ——> '
<addr> ’ :
{streetAddresstine>C. 3. 4. 1</streetAddressline>
{I-— C.3.4,1: Sender's Street Address —>
{eity>C. 3. 4. 2</city>
I . 3.4, 2 Sender's City =5
{state>C. 3, 4, 3{/state>
{Eew £08. 4.3 Sender” 2 State or Provinge —3
</addr>
(telecom value="%el:C. 3.4.87/>
4— (.8, 4.62 Sender’ s Telephone —7
¢telecom values"fax:C.3. 4. 77/
- . 3,4.7: Sender’ s Fax —>
<telecom value="mailto:C, 3.4,8"/>
G €.8,4,8: Sender’ s B-meil Address -
{assignedPerson clessCode="PSN" determinerCode="INSTANCE">
{name>
<prefix»C. 3. 8. 2/prefix>
(1~ €.3.3.2: Sender’s Title —7
<{given>C. 3. 8. 3¢/giveny
¢lww C.3.3.3: Sender’ s Given Name —->
<given>C. 3. 3, 4</given)
(I— €. 3.8. 4% .Sender’ s Middie Name ~->
<Family>C. 3. 3. 8¢/ femilyy
¢l (.3.3.6: Sendexr’ s Family Name —>
{/name>
CasLocatedBntity classCode="LOCE”>
<location classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C,3.4,5" codeSysten="1,0.3166.1.2.2"/
<{l-—— C,3.4.5: Sender’s Country Code —>
/location?
{/aslocatedBntity>
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{/assignedPerson>
CrepresentedOrganization classCode="CORG" determinerCode="INSTANCE™>
<nawe>C, 3. 2/ name>
- .3.2: Sender’ s Organisation -~
{/representedOrganization>
</assignedBatity>
</author>
{primaryInformationRecipient typeCodes"PRCF™ >
Cassignedfntity classCode="ASSIGNED™>
CassignedPerson classCode="PSN" determinerCode="INSTANCE™>
{name>
<prefixdJ2. 18, 2&/prefixy
e g9Q12. 1820 BAEH HARE
{family>J2, £8. 3¢/ Family>
d— geays. 18.3: FEE # -
{given>J2. 18. 4</givend
I 8632, 18. 4: R{EL £ -
</name>
{/assignedPerson>
(rapresentedirganization classCode="0RG™ determinerCeda=” INSTANCE >
{name>J2, 18, 1{/name>
<-- 980J2.18.1: BFH MBS -
{/representedOrganization>
{/assignedBntity?
{/primaryinformationRecipient)
{feontrolActEvent>
</sub jectOf1>
{subjectOfl typeCode="SUBI™>
{controlActEvent classCode="CACT” moedCode="EVN">
¢id assigninghuthorityName="C, 1.9. 1.y, 1” extension="C.1.9. L. r. 2" root="2. 16,840, 1. 113883, 3. 984, 2. L. 3 3"
¢fem £.1.9.1.r. F: Source(s) of the Case Identifier {repeat as necessary) #1 —>
¢i=- €. 1.9.1.r. 2 Case Identifier(s) #1 —>
{/tontrolActEvent>
</subjectOf1> )
{subjectDf] typeCode="SUBJ">
<cantrolactBvent classCode="CACT™ noodCode="EVN">
¢id assigninghuthorityName="C, 1,9, 1.x, 1™ extension="C. 1. 9. 1. x. 2" root="%. 16.840. 1. 113883 3.980.2.1.3.3"°H
¢lwm £.1,9.L.r. % Source(s) of the Case Identifier (repeat as necessary} #2 —>
¢l €. 1.9.1, 1.2 Case Identifier(s) #2 —>
</controlActEvent>
</subjectOf1>
<subjectDf2 typeCode="SUBJ™>
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
oode code="1" codeSystem="2. 16, 840, I, 13883, 3.989. 2, 1, 1. 23" displayName="ichRepertType”/>
Cvalue xs8iitype="CE” code="C. 1.3" codeSystem="2, 16, 840. 1. 113883. 3.989.2. 1. 1.2"/>
{l= £, 1.3 Type of Repoxt -->
{/investigationCharacteristic>
{/sub ject0f2>
{subjectOf2 typeCode="SUB]™> -
{investigationCharacteristic classCode="0BS" moodCode="EYN™>
{code code="2" codeSystem="2. 16, 840. 1. 113883. 3.980. 2, 1. 123" d1sp1ayName- otherCascIds"/)
{value xsi:itype="BL" value="true”/>
¢fw €. 1.9.1 Other Cage Identifiers in Previous Transmissions -3
<{finvestigationCharacteristic>
{/subjectOfl2> -
(subjectdf? typeCode="SUBF™>
{investigatienCharacteristic classCode="0BS" moodCode="EYN">
¢code code="3" codeSysten="2, 16, 840. 1, 113682, 3,989, 2, 1, 1, 23" displayName="nullificationAnendnentCade”/>
Cyalue xaiitype="CE" code="C.1.11, 1" codeSystem~"2. 16. 840. 1, 113883. 3. 989, 2. 1. 1.5"/>
¢l— ¢, 5, 11.1: Report Nuilification / Amendment —>
¢/investigationCharacteristic> |
{/subject0F2>
<subjectOf? typeCode="SUBI™>
{investigationCharacteristic classCode="0BS” moodCode="BYN™> .
{code code="4" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2, 1. 1. 23" displayName="nu)lificationAmendmentRoason”/!
<value xsi:type="CE">
CoriginalText>C, L. 11, 2</originalText>
{I~— C, 1,11, 2: Reason for Nuilification / Amendment -->
<fvalue> ’
</investigationCharacteristic>
</subjactOt2> .
<subject0f2 typeCode="SUB]">
(investigationCharacteristie clagsCode="0BS" moodCode="EVN">
<code code="1" codeSystew="2. 16. 840. 1. 113888, 3. 988. 5. 1. 8. 2. L, 12" displayNeme="HRBIFHE (&S "L
(value xsiitype="CE" code="J2. 1a” codeSystem="2. 16. 840. 1. 113883, 3. 989, 5. . 3. 2. L. 1"/>
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¢l 8882, 1a: BRBIEE (RGSE) —
(llnvestlgatLonCharacterlstlc> '
</subjectLay
{subjectifZ typeCode=" SUBJ >
{investigationCharacteristic ciassCode="0BS” moodCode="EVN™>
{code codem”2” codeSystem="2. 16, 840. I, 113883, 3. 989, 5. 1. 3. 2. 1. 127 displayNane="R BRI A"/
Cvalue xsiitypo="T5" value="20136107"/>
<I-- 888)2.2. 1 BEERE
¢/investigationCharacteristic>
feub ject0f2>
<subject0f2 typeCode="SUBJ™>
(investigationCharacteristic classCode="0BS” moodCodes"EVN"Y
{code code="3" codeSystewm="Z. 16. 840. 1. 113883, 3. 989.5. 1. 3. 2. 1. £27 displayNene="BERR BIClTE =2 - 270
<valee xsiitype="ED7>J2, 2, 2</value)
- B072.2. 2 HEBREBREMTIaRrF —
/linvestigationCharacteristic>
</subjectBf2>
Caub jacifF2 typeCode="SURT™>
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
¢code code="4" codeSysten="2, 16, 840, 1. 112882, 3,989, 5. 1. 3, 2. 1, 12" displayName="RIE$l¢& 7 3 77/
Cyalue xsiitype="CE™ codes”J2.3" codeSystem="2. 16.840. 1. 113883. 3. 885,.5.1.3.2.1.2"/>
- ggeJ2. 3 MG IS -
{/investigationCharacteristic?
</subject0£2>
<subject0f? typeCode="SUBJ">
{investigationCharacteristic classCodes"0BS” moodCode="EVN™> ‘
<sode code="§” codeSystem="2. 16.840. 1. 113883. 3. 989, 6. 1. 3. 2. 1, 12" displayNeme="#& s 7 7 27 />

{value xsi:type="CE" code="]2.8.1" codeSysten="2.16.840. 1. 113883,3,989,5,1.8.2, 1.6/
<1-- g@8jL.8. 1 MENMHT TS —>
{/investigationCharacteristic> \
¢/5ub ject0IZy

{suhject0f2 typeCode="SUBJ">
<investigationCharacteristic classCode="0BS” moodCode="EVN">
<code codew"§” codeSystems"2. 16. 840, 1. 13883, 3. 989, 5. 1. 3. 2. 1. 12" displayName="# & H A 0ORH" />
<value xsittype="ED">JZ, 8. 2</value>
<I-- 988]2.8.2: WEHENBAOHEH —
</investigationCharacteristic>
¢/subjectOfe>
</investigationEvent>
¢/subject>
{/eontrolactProcess?
</PORR_TNG4S0O16UV>
Qo Hessage #1 —>
<J-- Message #2 —>
¢l~~ PORR_EINO490160V ~>
<l /PORR_IND4OCIEUV ~->
{1~ Message #2 —>
{receiver typeCade="RCY™>
<device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N. 1, 4" root="2, 16. 840, 1. 113883.3.985.2. 1.3. 14"/>
<J-— N.1,4° Batch Recejver Identifier -——>
{fdevice> -
{/receiver?
{sender typeCode="SND">
<device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N, 1. 37 root="2.15. 844 1. 113883, 3.989. 2. 1. 3. 137 /%
¢l N.1,3: Batch Sender Identifier -->
{/devioe>
{/sender>
SAMOCT TN20GEOOUVOL>
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XMLBPRRA AKX A ()

(Tumi version="1.0" encoding="UTF-8"7>
CHECT_INBHOL0OUVOL ITSVersion="XML_1.0" xsi'schemalocation="urn:hi7-org:v3 MCCI_INZ00:0OUVOL. xsd” xmlns="urn:hiT-org:v3” xmlns:xsi="htip://wws, w3, org/
2001/%M.Schema~instance™>
<id extension="N.1.2" root="2. 16, §40. L. 213883 3,989,2,1,3.22"/>
(lem N 1.2 Batch Number —>
{creationTime value="20101214151617"/
(i~ N 1.6: Date of Batch Transmission -->
{responseModeCode code="D"/>
<interactionid extension="MCCI_ IN20O100UVGL” root="2. 16. 840. 1. 113883, 1.6°/>
¢name code="N. 1. 1" codeSysten="2. 16, 840. I, 113883, 3.989. 2. 1. 1. 1°/>
{le= N 1.1: Typo of Messages in Batch -—=
-~ Message #1 —>
{PORR_INO4G016LV>
¢id extension="N. 2.7, 1" root="2 16.840.1. 113883, 3.989.2.1,3.1"/>
<l— N8, 7.1 Message Identifier -~>
<areationTime value="20101214161617"/>
<l M. 2.1.4: Date of Message Creation —>
{interactionld extension="PORE_INO40016UV” root="2, 16, 840. 1. 113883.1.8"/>
{processingCode code="P"/>
{processingdodeCode code="T"/>
<acceptAckCode code="AL"/>
Craceiver typeCode="RCY">
<dévice classCode="DEY” determinerCode="INSTANCE™>
<id extension="N. 2. 1.3 root="2. 16.840.1, 113883.5.989. %, 1.3, 127>
{J— N. 2.r. 3 Message Receiver Identifier —>
</device>
{freceivery
<sendar typeCode="SND">
{device classCode="DEV" determinerCode="INSTANCE”>
¢id extension="N. 2.1, 27 root="2 16, 840. 1. 113883,3,986. 2, 1,3, 117/
Ll N 2.1 20 Message Sender Identifier —>
</device>
</sendar?
{controiActProcess classCode="CACT” moodCode="EVN™>
¢code code="PORE_TEO49(1 61" codeSystem="2. 16. 840. 1. 113883. I, 18"/>
<{~~ HLT Trigger Event ID —>
{effectiveTine value="20101214151617"/>
Clem €. 1.2: Date of Creation ——>
Csubject typeCode="SUBJI™>
<investigationBvent classCode="INVSIG” mocho&e- EVN™>
{id extension="C.1. 1”7 root="2. 16.840. 1. 113883, 3,989, 2.1.3. 1"/
¢lew €1, 1 Sender’ s (oase) Safety Repert Unigue Identifier -2
{id extension="C.1 8, 1" root="2,16.840. 1. 113883. 3. 989.2. L. 3.2"/>
¢l— €, 1.8.1: Worldwide Unique Case Identification Number —>
<id extension="JZ. th” root="2.16.840. 1. 113883.3,989,5. 1. 3. 2.3. 1"/
<l-- @8812. 1b: WMMBE (HFB ——
{eode code="PAT_ADV_EVNT" codeSystem="2.16.840.1.113583.5.4'/)
(rextPH. B/ text>
<l-—— H, 1: Case Narrative Including Clinical Lourse, Therapeutic Measures Qutcome and Additional Relevant Information —3
{statusCode code="active”/> .
<1-- @98J2.7. 1 BT, RETES —
<effectiveTimey
{low value="20090101"/>
{1-- C.1.4: Date Report Was First Received from Source —>
{feffectiveTined>
CavailabilityTime value="20000101"/>
C¢l—- €. 1.5: Date of Most Recent Information for This Report ——>
<reference typeCode="REER™>
<document elassCode="D0C" moodCode="EVN">
<code code="2" codeSysten="2. 16. 840, 1. 113883 3.989.2.1.1.27" dlsplayName— lzteratureReference 2l
ChitledJ2 17, p</titled
(1-- 80872, 17.r HERIFROSE #1 —
<text mediaType="application/pdi” représentation="B84">C.4.1. 2</text)
- ¢3--"C.4.1.2¢ Ineluded Documents # ~-> :
<hibliographichesignationText>C. 4. r. 14/bihliographichesignationText?
{1=— C. 4.1 1 Literature Reference(s) #l ——>
{participation typeCode="AUT">
Cassignedntity classCode="ASSIGNED">
{representedOrganization classCode=”0RG”™ determinerCode="INSTANCE™>
(astocatedEntity ¢lassCode="LOCE™>
{location classCode="COUNIRY” determinerCode="INSTANCE™
{code code="J2.15. 1" codeSystem="1.0.3166, . 2.27/>
<I-- @8aJ2. 15. r 2ARE #1 -
</location?
¢/asLocatedBntity> -



{/representedQrganization>
{/asgignedEntity>
{/participationd
{/document>
<{/reference>
{reference typefode="REFR">
<docunent classCode="DOC” moodCode="EVN™>
Ccode codes™2” codeSystem="2. 16. 840, 1. 113883. 2. 686. 2. 1. 1. 27" displayName="1literatureReference”/>
Ctitie>J2.17. r</title>
- 8aTL. 37, r PAMEEROSAE #2
Ctext mediaType="application/pdf” representation="BB4™C. 4. 1. 2¢/text)
e €. 4.1, 20 Included Documents #2 —>
<hibliographichesignationText>C, 4, r. 1¢/biblicgraphicDesignationText>
¢le~ C, 4, r 1! Litersture Reference(s) #2 ~~>
<participation typeCode="AUTT2
(assignedBntity classCode="ASSIGNED™>
<yepresentedbrganization classCode="0RG” determiherCode="INSTANCE™>
¢aslocatedBntity classCode="LOCE™>
¢location classCodes”COUNTRY” determinerCodes"INSTANCE™>
<code code="JZ.15.r” codeSystew="1, 0, 3166.1.2.27/>
|- gaeJe. 15. r AWH #H2 >
</lecation?
</aslocatedEntity>
{frepresenteddrganization?
{/assignedintity>
{/participation>
" </document>
{/reference’
{component typeCode="COMP™> -
<adverseBventAssessment classCode="TNVSTG” moodCode="EVN">
<subjectl typeCode="SBJ™>
¢primaryRole classCode="INVSB]™>
{playerl classCode="PSN" determinerCodes” INSTANCE™/>
<subjectOf1 fypeCode="SBJ"> Co
{researchStudy classCode="CLNIRL" moodCode="EVN">
<id extension="C.5. 3" root="2. 16, 840, 1.113883. 3, 989.2.1.3.5"/>
<}— C.5. 3! Sponsor Study Number -->
Zeode code="C, 5, 4" codeSystem="2. 16. 840, 1. 113883, 3,989, 2. £, 1.8"/>
<l . 5,4: Study Type Where Reaction{s) / Event(s) Were Observed —>
{ritledC. 5. 2</sitle>
¢t £.5,2: Study Hame —>
Cauthorization typeCode="AUTH™>
{studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C. 5. Lx. 17 reot="2, 16.840. 1. 113883. 3. 889. 2. 1.3.8"/>
I~ C. B b r 1: Study Registration Numbey #: —>
Cauthor typeCodes"AUT™>
<territorialAutherity classCode="TERR™>
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<oode code="C.5. 1.1, 2" codeSystem="1, 0.3166. 1. 2.2"7/>
Clem C 5, 37,20 Study Registration Country #i -->
{/governingPlace>
{territorialsuthority’
<fauthor>
{/studyRegistration>
</authorization>
{authorization typeCode="AUTH">
<studyRegistration classCode="ACT" moodCode="EVi">
<id extension="C.5 L. 1.1" root="2, 16, 840. 1. 113883.3.98%.2. 1. 5. 6"/>
G— £, 8.1 r. } Study Registration Nuwher #2 -
<author typeCode="AUT™>
¢territorialiuthority classCode="TERR™>
{governingPlace c¢lassCode="COUNTRY” determinerCode="INSTANCE">
{eode code="C.5. 1.r. 2" codeSystem="1.0.3166.1,2.27/>
== GC.5, 1.1, 27 Study Registration Countyy #2 —>
{/governingPiacey
{/territoriaisuthority>
{/authos> ’
{/studyRegistrationd
{fauthorization>
{/researchStudy>
</subjectOfl>
(subject0f? typeCode="SBI">
(organizer classCode="CATEGORY™ moodCode="EVN™>
<eode code="4" codeSystem="2. 16, B40. L. 113883, 3, 989, 2. L. 1. 20" displayName="drugInformation”/>
<{1-- G.k Drug{s) Information {repeat as necessary) #i —>
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{component typeCode="COMP™>
{substanceAdministration classCode="SBADM" moodCode="BVN")
<id root="5c91hid5~a039~4aTa~0c30-BT67 b0 9ed” />
<consumable typeCede="CSW">
<instanceOfKind classCode="INST™>
<kindOfProduct classCode="MMAT" determinerCode="XKIND">
{code code="G. k. 2. 1. 1b" codeSystem="TBD-WPID"/>
{low Gk 2.1 kbt Medicinal Product Identifier (MPID) #1 ——>
<hame>G. k. 2. 2¢/name>
< Gk 2.2 Medicinal Product Name ass Reported by the Primary Source #1 -
{asManufacturedProduct classCode="MANU™>
<{subjectOf typeCode="SB}">
Capproval classCode="CNTRCT” moodCode="EVN™>
<id extension="G. k& 3. 1”7 root="2, 16, 840, 1, 113883, 3.589,2, 1. 3.4"/>
<1— G.k. 3. 1: Authorisation / Application Number #1 -->
<author typeCode="AUT”>
{territorialAuthority classCode="TERR™>
<territery classCode="NAT" determinerCode=’iNSTAﬂCE">
Ceode code="G. k. 3.2 codeSystem="1, 0, 3166, 1.2, 2" />
(i~ 6.k 3.2 Country of Authorisation / Appliecation H1 -->
<Sterritory>
{/territorialAuthority?
</auther>
<portinentinformation typeCode="PERT">
{policy classCode="POLICY" moodCodes"HYN™>
<cede code="]J2, 5. k” codeSystem="2. 16. 840. 1. 113883, 3.989. 5, 1.3.2. 1. 4"/>
ie- 88012 5.0 —BRMERSBOY AZ7EST H >
</policy>
</pertinentInformation>
</approvald
© </subjectOf>
<subjectOf typeCode="SBJ">
' <characteristic classCode="0BS" moodCode="EVN">
<code code="1" codeSystem="2: 16. 840, 1. 113883 5,989, 5, 1, 3. 2. 1. 10" displayName="WHERRBHORRES"/

<value xei:type="CE” code="J2. 4. k" codeSysten="2, 16, 840, 1. 113883.3, 989, 5, 1.3, 2.1.37/>
U-- @eeJ2. 4 ko FEERBORRES 81 -
{/characteristicd
</subject0f>

{faghanufacturedProduct>
<asSpecializedkind classCode="GEN">
{generalizediaterialking classCode="HAT" doterminerCode=" KENB >
<code>
<originalText>J2. 12<{/original Texs>
<1-- 8072, 12: FMERERATLE -
‘ ¢/oode>
{/general izediateriallind>
' {/asSpecializedKind>
<ingredient classCode="ACTI™>
{ingredientSubstance classCode="MMAT” determinerCode="XIND™>
{cade code="G. %k, 2. 3. 1. 2b" codeSystem="TBD~Substance”/> -
b= G.k.2.3.r. 2b: Substance / Specified Substance TermiD #i~l -->
<name>G. k. 2. 3. r. 1</nawe> .
{le—~ G. k. 2,3, r, ! Substance / Specified Substance MName #i~1 —->
/ingredientSubstanced
</ingredient>
Cihgredient ciassCode="ACTI">
{ingredientSubstance classCode="MMAT" deterninerCode="KIND">
{eode code="G, & 2. 3, 1. 2b" codeSystan="TRD-Substance”/>
§lww G k. 2,3, r. 2h: Substance / Specified Substance TermID #5"2 -
<namedG. k. 2. 3. r. 1<{/name>
= Gk 2.8, 1. 1! Substance / Specified Substance Name #1-2 -—>
</ingredientSubstance>
</ingredient>
{/kind0fProdust)
<subjectOf typeCode="58]">
{observationBvent classCode="0BS" moodCade="EVN™> .
<oode code="2" eodeSysten="2. 16,840, 1. 113883. 3. 989. 5. 1. 3. 2. 1. 19" displayName="—f SRR O AFER"»
{yalte Xsi:type="CE” code="J2.6.k" codeSystem="2.16.840. 1. 113883. 3, 989.5,1. 3.2, 1, B"/>
1-- ggaJe. 6.k —RAERBOAFEE # —
CfobservationBvent?>
</subjectOf>
</instanceOfKind>
</consunable> ’
</substanceAdministration>
{/eemponent>



{forganizer>
</subjectDf2>
{subject0f2 typeCode="SBI"> o )
<organizer classCode="CATEGORY” moodCode="EVN™>
{code code="1" codeSysten="2. 16, 840, 1. 113883.3.989. 5. 1. 3.2. 1. 11" displayName="{REROPWE"/>
{conponent typeCode="COMP™>
Cobservation classCode="0BS” moodCode="EVN™) .
{oode code="1" codeSystem="2. 16. 840, 1. 113483, 3. 989. 5. 1, 3, 2. 1. 107 displaviame=" /B HIEIE"/>
<value xeiltype="INT” value="1"/>
¢l-— @geJe, 13, r. 11 JRHIEE #1 >
{/observation>
{/component>
{component typeCode="GOMP™>
Cobservation classCode="0BS” moodCode="EVH™>
{code code="8" codeSystew="2, 16, 840, 1. 113882 3, 98%. 5. 1.3, 2. 1. 107 displayName="% &g 0" />
<value xzi:!type="ED">J2, 13, r, 2{/valued
- @BRYZ. 13. 1. 21 WHRPEB #1
{/observation?
</ component>
{component typeCode="COMP™>
{ebservation classCode="0BS" moodCode="EVN">
(eode code="9" codeSysten="2. 16. 840. 1. 113883, 3. 689. 5. 1. 3. 2. 1. 10" displayNeme="{RIH4R" />

Cyalue xsi:type="CH" code="}2.13.r.3" codeSystew="2, 16, 840, 1. 13882, 3,989, 5, .5. 2. L. 7°/>
<l-- §88J2.13.r. 37 BEEEAR #1 —>
{/observation)
</component >

{eowponent typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN™>
‘oode code="10" codeSystem="2. 16. 840, 1, 113883, 3, 589, 5. 1. 3, 2, 1. 10" displayName="{R P OHEHOFTE " />
Cvalue xsiztype="BL” value="true”/>
¢i—— @B8J2. 13, r. 47 BEPOFEAOTE #1 -
{fobservation>
</component?
{/organizer>
{/subject0f2> .
<subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN™> -
<code code="1" codeSystems”2, 16.840. 1. 113883. 3.989.5.1.3. 2. 1. 117 displayﬁame=’7ﬁﬁﬁﬂ?£ﬁ§§’/)
<conponent typeCode="COMP™> .
<observation classCode="0BS" moodCode="EYN™>
{code code="T" codeSystem="2, 16, 840, 1. 113883. 3. 986. 5. L. 3. 2. 1. 10™ displayName="JF HEML"/>
Cvalue xsi:type”INT” value="17/>
e G6BF2. 13 x. bt BHEK #2 —
{/abservation> '
<feomponent>
<Ccomponent typeCode="COMP™>
{observation ¢lassCode="0BS” moodCode="EVN™Y
{code code="8" codeSystem="2. 16. 840, 1, 113883. 3. 986. 5. £. 3. 2. 1, 10" displayName="3tEHR B />
<value xsi:type="ED">J2. 13. 1. 2</value>
{1-- @BBT2. 13, r. 27 WHEED #2
{/observationd
{/component>
{component typeCode="COMP™>
{ohservation classCode="0B5" moodCode="EVN">
<code code="8" codaSystem="2, 16, 840, 1, 113883, 3, 988.5. 1, 3.2, 1, 10" displeyName="[HHE4"/>
Lvalue x5i:type="CE” code=”J2.13.r. 3" cedeSystem="2. 16.840. 1. 113883. 3. 089, 5. L. 8: 2. L. 7"/>
- 48872, 18.r. 3 BEIEAR #2 —
{/observation>
</component’
<component typeCodes"COMP™>
{observation classCode="0BS” moodCode="EVN™>
eode code="10" codeSystew="2. L6, 840, 1. 113883, 3, 089, 5. 1.3, 2, 1, 107 displayNeme="RIEFOREPAOFE"/>
{value xeiitypes"BL” value="false”/>
- 46872, 13, 1. 4 BIEPOEHOGE 2 >
{/observationd
</eomponent>
{/organizéry
</subject0f2>
</primaryRole>
</subjecti>
{componentl typeCode="COMP™>
{observationfvent classCode="08S" moodCode="EVN">
<code code="10" codeSysten="2, 18, B40, 1, 113883 3. 989. 2. 1. 1. 19" displayName="comment™/>
Cvalue xsiitype="EDDH. 4</value>
{l-- H. 4! Sender’s Comments =~—>



Lanthor typeCodes"AUT™>
<apsignedBntity classCode="ASSIGNED™>
Ccode code="1" codeSystem="2, 16. 840, 1. 113882, 3. 989, 2. 1. 1. 21" displayName="sender”/>
</assignedintity> ’
</author>
{/observationEvent>
¢/eomponent]>
{component} typiCode="COME™>
<abservationBvent classCode="0BS" moodCode="EVN">
Ceode code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989.5. 1. 2. 2. 1. 107 dlsplayName—'fkﬁTl’ﬂ’ THAALF
<value xsiitype="EDN"D]J2.7.2¢/value>
<l-- 89812 7.2! REBTRHFTE=AV F —>
{/observationBvent>
</componenti>
<aomponent] typeCode="COMP™>
(observationfvent classCode="0BS” nmoedCode="EVN" _
<eode vode="5" codeSystew="2. 16, 840, 1, F13883, 3. 989. 5. 1. 3. 2. 1. 10" displayName="4& D"/
Cvalue xsi:type="ED">J2. 10</value>
<l-- @B8J2. 10: BSHOHE —>
<fobservationBvent>
¢/componantl>
{compenentl typeCode="COMP">
Cohservationfivent classCode="0BS" moodCode="EYN">
Ceode code="6" codeSystem="2. 16, 84C. 1. 113883, 3. 98%. 5. 1. 3. 2. 1. 197 displayName=" %@f&%&#%ﬁ% H
<yalue xsiitype="BD"»J2. 11{/value>
I 2012 110 T DMBEYIHRE —
{/observationEvent>
</eompenent]>
{componentl typeCode="COMP”>
<chservationBvent classCode="0BS" moodCode="BVN">
Leode code="12" codeSystew="2, 15, 840, 1. 113883, 5. 989. 6. 1. 3.2, 1, 10" displayName="$EMEOIER"/>
<value xsi:type="ED">J2. 16<¢/value>
e Q88]2. 161 MMEFMBEOER -
. {/ebservationBvent>
{/somponentld
{/adverseliventAssossment>
{fcomponent>
{component typeCode="COMP">
{observationBrent c¢lassCode="08S" moodCode="EVH">
{oode codem”23” codeSystem="2. 16, 840. 1. 113883, 3,989, 2. 1. 1. 1%” displayName="locallriterisForExpedited”/>
{valye xsiitype="BL™ value="true”/>
{— €. 1.7 Does This Case Fulfil the Local Criteria for an Expedited Report? -->
</observationBvent? .
</component >
{outboandRelationship typeCode="SPRT">
<relatedInvestigation classCode="IWVETG” moodCode="EVN™>
<code code="1" codeSysten="2. 16. 840. I. 113883, 3. 989, 2, 1. 1. 22" displayName="iritialReport”/>
<subjectOF? TypeCode="SUBT > )
{controlActBvent classCode="CACT” moodCode="EVN">
{author typeCode="AU{">
<assignedBntity classCodes"ASSEGNED”>
{cada code="C. 1.8.2" codeSystem="2. 16, 840. 1. 113883.3.939. 2, 1.1.3"/>
(4o C.1.8.27 First Sender of This Case -->
{/assignedEntity>
</author>
{/controlictBventy
</ sub joctGE2>
</relatedInvestigationd
</outboundRelationship>
{cutboundRelaticnship typeCode="SPRT">
<relatedInvestigation classCode="TNVSTG” maodCode="EYN™>
<coda nullPlavar="NA"/>
<subject0f2 typeCade="SUBJ™>
{controlActEvent classCode="CACT” moodCode="EVN")>
<id extension="C, 1, 10, r” root="2. 16. 840. 1. 113883, 3.989.2.1.3.2"/>
- G110, 22 I&ent;fzcat1on Number of the Report Which Is Linked to This Report (repeat as necessary) #1 —>
(/controlﬁctEvent)
(/subJect0f2>
{/relatedInvestigationd
{/outboundRelationship>
<outboundRelationship typeCode="SPRT">
<relatedInvestigation classCode="INVSTG™ moodCode="EVN">
¢code nullFlavor="NA"/>
<sih jeatOf2 typeCode="SUBI™>
CecontrolActEvent classCode="CACT" muodCode="EVN">



¢id extension="C. 1. 10, r" root="2, 16,840, 1. 113883, 3,980.2.1.3.2°/>
{3 .1 10.x: Identification Number of the Report Which Is Linked to this Report (repeat as necessary) #2 ~>
{/eontrolActEvent> ’
{/subject0I2>
{/relatedinvestigation?
{/outhoundRelationship?
<subjectdf] typeCode="SUB]">
Ccontrolictivent classCode="CACT™ moodCode="EVN™>
<author typeCode="AUT">
{assignedBntity classCode="ASSIGNED >
Caddr>
{streetiddresslLine>C. 3. 4. 1{/streetaddressLine?
(b= €. 3.4, 10 Sender’ s Street Address ~->
LcityrC, 3. 4. 2</city>
{lew 3.4, 2 Sender’ s City =D
{state>C. 3. 4. 3{/state>
=~ €. 3. 4.3 Sender’ g State or Provinde ——»
</addr>
<assignedPerson classCode="PSN" determinerCode="INSTANCE™>
<name>
<prefix>C. 3. 3. 2¢/prefix>
<l 3,3, 2 Sender’s Title —>
{given>C. 3. 3. 3¢{/given>
¢I-— €.3, 3.3 Sender’ s Given Nawe ——>
{given>C. 3. 3. 4/given>
¢{— €.3.3.4° Sender's Middle Name —>
{Family>C. 3.3, 5<¢/ Family>
e C.3.3.5: Sender' s Family Name ~w>
{/name>
<aslocatedBntity classCode="LOCE™>
<location classCode="COUNTRY" determinerCode="TNSTANCE™
{gode code="C. 3.4.5" codeSystem="1.0.3166. 1. 2.27/>
== . 3.4.8: Sender’ s Country Code —>
{/iocation’
</aslocatedBntity>
{/assighedPerson’
{representedOrganization classCode=" GRG determinerCode="INSTANCE">
<nawarC, 3. 2</name>
(I C.3.2: Sendexr's Organisation ——>
{/representedrganization?
{fassignedEntityd
{fauthord
</contrelictBvent>
{/suh ject{L>
<{subjectOf1 typeCode="SUB]">
{controlActBvent classCode="CACT" moodGode="EYN™>
Cid assigningAuthorityName="C, 1.9, L.r. 1" extension="C. 1. 9. 1. x. 27 root="2. 16, 846, 1, 113883, 3. 989, 2. 1. 3. 3"~
¢ .1,9.1,r.1: Source(s) of the Case Identifier (repeat as necessary} #I -~
{f=~ £ 1.9 Lr 2 Case Identifier(s) #1 —>
</controlictBvent> '
{/svh jectOf 1D
<subjectOf] typeCode="SUB]">
{controlictBvent classCode="CACT" roodCode="EYN">
¢id assigningAuthorityNeme="C.1.9.1.r.1” extension="C. 1. 9. 1. 1. 2" root="2, 16.840. 1. 113883, 3. 989, 2. 1.3.3"/>
==~ £.1.9.1.1.1: Seurce(s) of the Case Identifier (repeal as hecessary) HZ ——>
= €19, L 1. 2 Case Identifier(s) §2 -
<{faontroiAetBvant>
<{/subjectfl >
<subjectOfE typeCode="SUBJ">
<investigationCharacteristic classCode="0BS" moodCode="EVN">
(code code™”1” codeSystew="2, 16, 840. |, 113883, 3, 989, 2, 1, 1, 23" displayName="ichRepoxtType”/>
<value xsiitypes"CE” code="C.1.3" codeSystem="2. 16.840. 1. 113883. 3.980.2. 1. 1.2"/>
<l-- C. 1.3 Type of Report —>
{/investigationCharacteristicd
<{/subjectlf2>
<(subjectDf? typeCode="SUBJ">
(1nve:tlgatloncharacterlstlc classCode="085" moodCode="E¥YN™>
{code code="2" codeSysten="2, 16. 840. 1. 113888, 3. 989. 2. 1. 1. 23" dispiayNawe="otherCaselds”/>
<value xsi:type="BL" value="true”/>
¢l-- . 1.9, 1 Other Case Identifiers in Previous Transmissions ~m>
{/investigationCharacteristicy
{/subjectDf2>
<subjectOf2 typeCode="SUBI">
<investigationCharacteristic classCode="0B5" moodCode="EVN">
{code code"3” codeSystem="2, 16, 840, 1. 113882, 3, 989,2.1, 1. 23" dlsplayNamew mllificationAnendrentCode” />

-§ -



Cvatue xsi:type="CE” code="(.1.11.1" codeSystem="2. 16§40, 1. 133883, 3. 989. 2. 1. 1.5"/>
<l-- €. 1.11 1: Report Nullificatiorn / Amendment ~->
{/investigationCharacteristied
{/subjectOfy
<subjectf2 typeCode=”"SUR]">
{investigationCharacteristic classCode="0BS" moodCode="EVN">
Ccode code="4" codeSystem="2, 16. 840. 1. 113883, 3. 989, 2. 1, 1. 23" displayName="nuilificationAmendmantReason”/>
<{value xsi:type="CE’>
SoriginalText>C. 1. 11, 2</originalText>
{4 . 1.11.2: Reason for Mullification / Amendment —>
{fvalued
</investigationCharscteristic>
{/sub jectQf2>
{stbject0f2 typeCode="SUBJ">
CinvestigationCharacteristic classCode="0BS” moodCode="EVN">
{eode code="1" codeSystem="2. 16, 840. 1, 113883. 3,989, 5. 1. 3, 2. 1. 12" displayNane="BiRIES (BESE) ",
Cvalue xsiitype="CE” code="J2. 1a” codeSystem="2.16. 840. 1. 113883, 3. 98¢. 5. L. 3.2. 117>
<I— 288)2. ta' WBES (BESH -~
<finvestigationCharacteristic>
</subjectOf2>
<subject0f2 typeCode="SUBJ">
<investigationCharacteristic classCodew 0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16.840. 1. 113883, 3. 989.5, . 5. 2, 1. 127 displayNene="$REME A"/
Svalue xsiltype="T8" value="20130107"/>
< @ap)z 2 L0 #UERREE
</investigationCharacteristic>
{/sih ject0f2>
{subject0f2 typeCode="SUB}™>
investigationCharacteristic classCode="085" moodCode="EYN">
(code code="3" codeSysten="2. 16, 840, 1. 113882, 3,989, 5.1, 3. 2. 1. 12" displayName=" S ERBICEY S a2 v H
<value xsi:type="ED">J2.2. 2</value>
3-- 088]12.2.2: WERHACHTE AP —>
{/investigationCharacteristic>
{/subject0f2>
{/investigationEvent>
</subject>
</controlActProcessy
</PORR, IN0O45016UV>
{lww Message 1 >
<l Message H2 ~>
<1~ PORR_INO49016UY ——>
<l~— /PORR_INO4OOI6LY >
{J- Message #2 —
{receiver typeCode="RLV">
{device classCode="DEV” determinerCodes"INSTANCE™
<id extension="}. 1.47 root="2. 16. 840. 1. 112883.3.989.2.1. 3. 14"/>
¢ie- N, 1,4: Batch Recejver ldentifier =y ’
¢fdevice)
</receiver>
<sender typeCode="SND">
{device classCode="DEV” determinexrCode="INSTANCE™>
<id extension="N.1,3" root="Z.16. 840, 1. 113883 3.989. 2 1.3.13"/>
¢f== N.1.3: Batch Sender Identifier —>
{/device> . .
</gender>
</MCCT IN200LG0UVOL>



MLBBRA A& 2 (M EHERE)

{Paml version="1, 0" encoding="UTF-8"7>
<MCCT_EN200100UV01 ITSVersion="YML 1. 0" xsi:schemalocation="urnthl7-org:v3 MCOCI, IN200100UVOL. xsd” xmlns="urn:hl7-arg:v3” xmlns:xsi="http://www. w3, org/
2001/MMLSchema-instance” o _
. 4id extension="N. 1. 2" root="2. 16.840. 1. 113883, 3. 080, 2, 1.3.22°/>
¢le~ N 1.2t Batch Number —> :
{creationTime value="201012141516177/>
¢l-- N.1.5: Date of Batch Transmission —>
(responsedodeCode code="D" />
{interactionld extension="MCCI_IN200100UVOI" roots"2. 16. 840. 1. 113883. L. 67/
(name vode="N. 1. 17 codeSystem="2. 18, 840. 1. 113683. 3. 989.2. 1. L. 1"/>
I #.1. 1! Type of Messages in Batch —>
- Message #1 —>
<PORR_IND490:6UYV>
<id extension="N. 2. 1. 1" root="2.16.840, 1. 113883. 3. 989. 2. 1.3. 1"/>
<d— N. 2, 1.1: Message Identifier ——>
<creationTime value="201012141518177/>
== N.2.r. 4 Date of Message Creation >
Cinteractionld extension="PORR_ING49016UV" root="2. 15,840, 1. 113883, 1.6"/>
{processingCode code="P"/>
{processingiodelode code="T"/>
<acceptickCode code="AL"/>
<receiver typeCode="RCY">
<device classCode™"DEV" determinerCode="INSTANCE™>
¢id extensiom="N.2.r. 3" root="2 16,840, 1, 113883, 3.988.2.1.3.12"/>
¢l-m N, 2,r.3: Message Receiver Ydentifier ~->
“{fdevice>
/receiver?
<sender typeCode="SNI">
{device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N 2.1.2" root="%, 16,840, |, }13683.3.989. 2, 1.3. 11"/
i N.2.r. 2. Message Sender Identifier ——>
<fdevice>
</sender>
<controlictProcess clsssCode="CACT” moodCode="EVN™>
{code code=" PORRMTEOQQOIGUV c’odeSystem—— 2. 16. 840, 1. 113883, 1. 187/>
¢t-— HLT Trigger Event ID -->
CeffectiveTime value="201012141516177/>
A== €. 1.2! Date of Creation =~
Zsubject typeCode="SUBJ™>
{investigationBvent classCode="TNVSTS" moodCode="EVN">
<id extension="C. L. 1" root="2, 18,840, 1, 113883.3.686.2. 1. 3. 1"/>
(=~ C. 1.1 Sender's (case} Safety Report Unique Identifier ——>
<id extension="C.1.8.1" root="2. 16.840. 1. 113883.3.989,2.1.3.2"/>
<lee C01.8, 10 Worldwide Unique Case Identification Number ——>
<id extension="J2. 1b" rootw”2, 16.840.1.113883.3,980.5.1.3.2.3.1"/>
<l gadTe, ib: WERVES (BH) —
<code code="PAT_ADYV_FVNT” codeSystems"2. 16. 840, 1. 113883.5.4"/>
<{text>H, 1</text>
£le~ Y. 1: Case Narrative Incloding Clinical Course, Therapeutic Heasures, Outeome and Additional Relevent Information --3
{gtatusCode code="active”/>
<i-- Q@RJ2. 7.1 BT, RETES —>
{effectiveTime?
{low vaiue="20090101"/>
= C.§. 4! Pate Report Was First Received frem Source -—>
/effectivelined
CavailabilityTine value="200801017/>
1-- €. 1.5 Date of Most Recent Information for This Report —
(reference typeCode="REFR">
{dacument claseCode="DOC" moodCode="EVN™>
<eode code="2" codeSystem="2. 15, 846, 1. 113883, 3, 989, 2. 1, 1. 27" displayName="1iteratureReference”/>
<text mediaType="application/pdf” representation="B64">C. 4. r. 2{/text>
=~ C.4.1.2: Included Documents #1 —>
<bibliographicDesignationText>C. 4 1. 1<{/bibliographichesigrationText>
{I=- C. 4. r. 1 Literature Reference(s) #1 —>
{participation typeCode="AU1">
{assignedfntity classCode="ASSIGNED">
¢representeddrganization classCode="0RG™ determinerCode="INSTANCE">
{asLocatedEntity classCode="LOCE">
<location classCode="COUNTRY” determinerCode="TNSTANCE™>
{code code="J2.15.r" codeSysten="1.0.3168, 1.2.2"/>
<l-— @geeJe. 15, r AFE B —
{/locetion?
</asLocatedBntity?
</representedirganization’
{/assignedEntity>



</participation’
Sdocument>
{/reference>
{reference typeCode="REFR™>
<doctment clagsCode="DOC” moodCode="EVN">
¢sode code="2" codeSystem="2, 16, 840, 1. 113883, 3. 989. 2. 1. L. 27" displayName="literatureReference”/>
Ctext mediaType="application/pdf” representation="BE4">C. 4, r.2¢/textd
(e Codor. 20 Included Documents #2 —3
<bibliographicDesignationText>C. 4, x. 1</bibliographicDesignationText>
(== €. 4.r. 1 Literature Reference(s) #2 -3
{participation typeCode="AUT">
CassignedBntity classCode="ASSIGNED">
{representedOrganization ¢lassCode="0RG” determinerCode="INSTANCE™>
<ashocatedPntity classCode="LOCE™>
<location classCode="COUNTRY” determinerCode="INSTANCE™>
{code code=")2. 15. 1" codeSystew="1, 0. 3166.1.2.27/>
i BRATR. 15, r ZAFEEH 2 -
</location>
{/asLocatedEntity>
</representedOrganization>
{/essignedEntity>
{/participation>
{/document>
{/referenca>
Ccomponent typeCodes”COMP™>
{adverseBventAssessment classCode="INVSTG™ moodCode="EVN">
<subjectl typeCode="SBJ™>
{primsryRole classCode="INVSBI™>
<{playerl classCode="PSN” determinerCode="INSTANCE"/>
(subjectOf] typeCode="SBI">
{regearchSiudy classCode="CLNTRL” mooadCode="E¥N">
¢id extension="C. 5. 3" root="2, 16, 840.1. 113883.3.989, 2. 1. 3.6"/>
<l C.5.3: Sponsor Study Mupber —O>
<code code="C.5. 4" codeSysten="2. 16. 840, 1. 113883. 3. 980. 2. 1. 1.8"/>
¢l— (.5.4! Study Type Where Reactxon(s) / Event{s) Were Observed —>
<titledC. 6. 2</title>
I (. 5.2: Study Name —>
<authorization typeCode="AUTH>
{atudyRegistration classCode="ACT" woodCede="EVN">
(id extension="C. 5. L. r.1” root="2. 16.840. 1. 113883, 3,985. 2. 1. 3 67/
¢l C.5.1.r. 17 Study Registration Number ¥1 -—>
Cauthor typeCode= ”AUT™>
{territorialAuthority classCode="TERR™>
{governingPlace clagsCode="COUNTRY" determinerCode="INSTANCE™>
<code code="C.5.1.1.2" codeSystem="10.3166. 1 2.2"/>
1=~ €. 6,1, 7.2 Study Registration Countzy #I —>
</governingFlace> ’
{/territorialAuthority’
{/author>
</studyRegistrationd
{/authorization>
Cauthorization typeCode="AUTH™>
<studyRegistration classCode="ACT" moodCode="EVN">
{id extensionﬁ'C.E.i.r.i” root="%. 16, 840. 1. 113883, 3,989, 2. 1. 3. 6"/
e €. 5. 1.r. 1 Study Registration Number H2 —>
Cauthor typeCode="AUT">
<territorialAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
¢cade code="C. 5.1.x. 2" vodeSystem="1,0, 3186.1.2.2"/>
<l €. 5, L. 1.2 Study Registration Country #2 ——>
{/governingPlace>
</territoriatAuthority>
<fauthory '
{/studyRegistrationd
{fauthorization?
{/researchStudy>
</subject0f1>
<subjectOf2 typeCode="SB]">
¢organizer classCode="CATEGORY” moodCode="EYN">
<eode code="4" codeSystems”2. 16. 840. 1. 113883, 3, 089, 2. 1. 1. 20™ displayNeme="druginformation”/>
<l G,k Drug(s) Information (repeat as necessary) #1 —> : .
Keompanent typeCode="COMP">
{substanceAdninistration classCode="SBADM" moodCode="BYN™>
<id raot="3c§1bdd5-e039-4a7a-9c30~67671b0e1%04”/>
{eonsumabie typeCode="CSM™>



{instanceOfKind classCode="INST™>
<kind0fProduct classCode="¥MMAT” determinerCode="KIND™>

{code code="G.k, 2. £, 1b” rodeSystem=" TBD-KPID" />
Cimm 6.k, 2.1. 1h: Medicinal Product Identifier OFID) #1 —>

<name>G. k. 2. 2{/nane>

I G.k.2.2: Medicinal Product Neme a5 Reported by the Primary Source #i —>

<asManufacturedProduct classCode="MANU™Y
<subject0f typeCode="SBJ™>

<approval classCode="CNTRCT” moodCode="EVN™>
{1d extension="0.k. 3. 1" root="2 16,840, 1, 113882.3,989.2.1.3.47/>
(e G k. 3.1: Authorisation / Application Number {1 -—>
<aiithor typeCode="AUT">
Cterritorialiuthority classCode="TERR™>
{territory classCode="NAT” determinerCode="INSTANCE™>
Ceode code="G.k. 3.2" codeSystem="1, 0. 3166.1.2.27/>
{— G.k 3.2: Country of Authorisation / Application #1 —>
{Sterzitoryy
{/territorialAuthority)
</author>
<pertinentInformation typeCode="PERT™>
<policy classCode="POLICY” moodCode="BVN">
<eode code="J2.5. k" codeSystem="2, 16,840. 1. 113883.3.880.5.1.3.2. 1. 4"/
A G8J2.5.k: —RABEESEFOV RIESYE 41 >
{/policy>
{/pertinentInformationd
{/approval>
&/subjectOi>
<subjectOf typeCode="SBI">
(characteristic classCode="0BS™ maodCode="EVN">
Ccode code="1" codeSystem="2, 16. 840, 1. 113883, 3. 989, 5, 1. 3.2, 1. 10" displayNeme="SHEREHF ORNZL"/>
<value xsi:type="CE” code="J2. 4. k" codeSystem="2. 16.840. 1. 113883, 3.980.5.1.3. 2. 1.3"/>
Q- @GRF2. 4.k BIRERGORMES #1 —
{/characteristic>
</subjectO

</asManufacturedProduct)

<asSpecializedKind classCode="GEN">
{generalizedifaterialKind classCode="MAT" determinerCode="KIND™>

Ceode
{originalText>J2.12</originalText>
<d-- 882,12 BNMERARE

</rode>
{/generaiizeddaterialKind>

<{/asSpecializedXind

{ingredient classCode="ACTI™> )
CingredientSubstance classCode="WNAT" determinerCode="KIND™>

{code code="§. k. 2. 3. 7. 2b" codeSystem="TBD-Substance”/>

= 6.k 2.3.1. 2b: Substance / Specified Substance Termil #1-1 —>

<name>6. k. 2. 3. T, 1{/name>

<l— .k 2.3.xr. 1 Substance / Specified Substance Name #1- 1 —

</ingredientSubstance>

{/ingredient?

Cingredient classCodex”, ACTE >
{ingredientSubstance classCode="MMAT" determinerCode="RKIND">

<{oode code="G. k. 2. 3. r. 2b" codeSystem="tBD-Substance” />

<l-- G.k. 2. 3. . 2b: Substance / Specified Substance Ternmil #1-2 -

<aeme?G, K 2. 3. v, 1</nane>

d-- G. k. 2.3.x.1; Substance / Specified Substance Name #1~2 ~->

(/ingredientSubstance>
</ingredient>
</kindOfProduct>

<subjectDf typeCode="SBJ"»

(observationBvent classCode="0BS” moodCode="E¥N"> .
Ccodé code="2" codeSystem="2. 16, 840. 1. 113883, 3, 985. 5, 1. 3.2, 1. 10" displayNane="-— 3R E MO AEEIE"
Cvalue x81itype="CE” code="J2. 6. k" codeSysterm="2, 16.840. 1. 113883.3.989.5.1.3.2. 1. 5°/>
(- 08872, 6.k —RAEEROAFER #1 —

{/cbservationfvent> :

</eub jectOf>
</ instance0fKind>
{/consumable>
/substanceAdministration>
</component?
{ferganizer?
</subjectOf2>
<subject0f2 typeCode="SBI">
{organizer classCode="CATEGORY” moodCode="EVN™>



<code code="1" codeSysten="2, 16, 840. 1. 113883. 3, 089. 5. 1. 3. . 1. 11" displayName="FREROBE"/>
<eonponent typeCode="COUP">
{ohservation classCede="0BS" moodCode="EVN™>
{oode code="7" codeSysten="2. 16. 840. 1. 113683. 3,989, 5. 1. 3.2, 1. 10" displovNawme="/B HiEHL"/>
<value xsiitype="INT" value="1"/>
<1— 28872 13.x. 1 BHYEHE #1 —
{/observation>
{/component>
{cotsponent typeCode="COMP™>
{observation eclassCode="0BS" moodCode="EVN">
Seode code="8" codeSystem="2. 16. 840. 1. 113883, 3. 689, 5. 1. 3. 2. 1. 10" displayName="%REB"/,
Cyalue xsi:types"ED7>J2.13. 1. 2¢/ value>
- @48J2.18.x. 20 FHESES #1 >
</observationd
{/uomponent>
{component typeCode="COMP">
{observation ciassCode="0BS" moodlode="BYN">
{code sode="9" codeSystem="%. 16. 840. 1. 113883, 3, 089, 5. 1. 3. 2. £, 10" displayNume="BA3R4R"/>
Cvalue xsiitypes"CE” code="J2.13.x. 3" codeSystem="2. 16, 840, 1. 113883.3.989.5.1.3.2. L.7"/>
1-— @@aJ2. 13.r. 3: PARAR 81 —>
{/observation>
{/component?
<eompenent typeCode="COMP™>
{ohsarvatién classCode="0BS" moodCode="EYN">
{code tode="10" codeSystem="2. 16. 840. 1. 113863, 3. 989. 5. 1. 3. 2. £. 16" displayName="$XI P DIEWOF "/
- {value xsiltypes”BL" value="true”/>
<-- §88J2.13. 1. 4: BETOEROFHE ¥ —
{/observation>
</eomponent>
{/organizer>
</subject0fa>
<subject0f2 typeCode="SBI™>
{organizer classCode="CATEGORY” moodCode="EVH™>
{code code="1” codeSystew="2.16. 840. 1. 113883, 3. 980. 5. 1. 3. 2. 1, 11” displayNowe="TREROPE />
{component typeCode="COMF">
<ohsexvation classCode="0BS" moodCode="EVH"™>
{code code="T" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="J& HIEI%" />
<value xsiitype="INT” value="1"/>
<l— 88872.13.r. 11 SEIEN #2 —
{/observation>
{/component>
{component typeCode="COMP™>
{chservation classCode="0BS" moodCode="EVN">
<cade code="8" codeSystem="2, 16, 840, 1. 113883, 3. 980. 5. 1. 3. 2. 1. 10" displayName="%} A" />
Lvalue xsi:type="ED">J2. 13.t.2¢/value> ’ :
¢~ @B8Y2. 13.1. 2 RHBRM H2 —>
</observation>
</component?
{component typeCode="COMP”>
{ohservation classCode="0BS" moodCode="EVN"> . 7
{code code="9" codeSystem="2. 16, 840, 1. 113883, 3. 889. 5. 1. 3. 2.1, 18" displayName="BlZ84R" />
' {value xsiitype="CE” code="J2.13.r.3” codeSysten="2. 16, 840. 1. 113883.3.989.5.1.3.2. L. 7"/>
<l-- BR8J2.13.x. 31 PRIEAE #2 -~
/observation>
{/component>
{component typeCode="COMP”>
<observation classCode="0BS" moodCode="EVN">
<code code="16" codeSystew="2. 16, 840, 1. 113883, 3. 989. 5, 1. 3, 2. 1. 10" displayNave="RIEF CEROFIE"/,>
¢ralue xsiitype="BL” values"false”/>
- e 88012, 13,1, 4 BRPOEROHE 42 -
{/observation’
</component>
(/organizer>
</sub jectOf 2>
{/primaryRole’
. {/subjectl>
{component] typeCode="COMP™>
<observationEvent classCode="0BS" moodCode="EVN">
Coode code="10" codeSystem="2, 16. 840, £. 113883, 3. 989. 2. 1. 1. 19” displayName="comment” />
<value xeiltype="ED">H. 4</value>
. Chb— H 4i Sender’ s Comments —->
Canthor typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
{code code="1" codeSystem="2. 16. 840. 1. 113883, 5.989. 2, L. 1. 21" displayName="sendor”/?
{/assignedintity>



/authory
/observationEvent>
{feomponentl>
{componentl typeCode="COMP™>
{observationBvent classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2. 16. 840. 1. 113883, 3.989.5, 1.3.2. 1, 10" displayName="RBTIHTH2 AL}
<yalue xsi:type="EB">J2.7. 2¢{/value>
|- 3882 7.2 RFTICHTHHAL b —
{/obgervationEvent>
{/eomponenti>
{compenentl typeCode="COMP™>
<observationBvent classCode="0BS” moodCode="FYN™>
{code code="5" codeSysten="2. 16, 840. 1. 113883, 3.989. 5, 1. 3. 2. 1. 10° displayName="SHOHE"/>
(value xsi:type="ED">J2 10¢/value’
© &l GEAT2. 10 SHBOFL —>
{/observationBvent? -
{/component1>
<compenentl typeCode="COMP™>
{obhservationBvent classCode="0BS" moodCode="EVN">
" ¢eode code="6" codeSystem="Z. 16. 840, 1, 113883, 3. 988, 5, 1,3, 2. 1, 107 displayNeme=" T OB LUHE" />
Cvalue xsiitype="ED">J2, 11</value>
e- QeeJa. 11t TOBNWERYE
{/observationBvent>
{/componently
(component]l typelode="COMP™>
<observationEvent classCode="0BS" moodCode="EVN">
<code code="12” codeSystem="2. 16. 840. 1. 113883, 3. 986. 5. 1. 3. 2. 1. 10" displayName="$R%NENIL" />
Cvalue xsi:type="ED">J2. 16<¢/value>
<1-- @Ear2. 16: MERFOER —
{/vbservationBvent?
</componenti>
{/adverseEventAssessment>
" ¢/component?
<gomponent typeCode="COMP™>
{ohservationBvent ciassCede="0BS” moodCode="EVYN">
{code code="23" codeSyster="2. 16, 840, 1. 113883. 3. 989, 2. 1. 1, 19" displayName="localCriteriaForBxpedited”/>
<value xsiitype=”BL” value="true”/>
1=~ £.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? -
</fobservationBvent>
{/camponent>
<outboundRelationship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG” moodCode="EVN™>
(code code®™i” codeSysten="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 22" displayNeme="initialReport”/>
{subject0f2 typeCode="SUBJ">
{eontrolictBvont classCode="CACT” woodCode="BVN™>
<author typeCodes”AUT >
{assignedintity classCode="ASSIGNED™>
<eode code="C. 1. 8.2" codeSystem="2. 16. 840, I, 113883. 3.989. 2.1. 1, 3"/>
<i— £.1.8, 2! First Sender of This Case ~—>
{/assignedBntity>
{/author>
{/controlActEvent>
</subject0fl>
{/relatedinvestigation>
{/outboundRelationship>
CouthoundRelationship typeCode="SPRT™
<relatedinvestigation classCode="INVSTG™ moodCode="EVN™>
{code nullFlavor="HA"/>
{subjectOf? typeCode="SUBJ™>
<contrelActBvent classCode="CACT” moedCode="EYN">
{id extension="C. 1.10.t” root="2, 16, 840. . 113883, 3, 989,2.1.3.2"/"
<f-- €. 1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary) #1 —>
{feontrolActBvent)
{/subject0f2>
</relatedinvestigation?
</outboundRelationship>
{cutboundRelationship typeCode="SPRT">
<{relatedInvestization classCode="INYSTG” moodCode="BVYN">
Ccode nullFlavor="NA"/>
(subjectOf2 typeCode="SUBJ™>
<controlActBvent classCode="CACT” moodCode="EVN">
{id extension="C. 1. 10.v" root="2, 16, 840, 1. 113883, 3.989,2.1.3,2""
(S €1 10, 13 Identification Number of the Report Which Is Linked to this Report (repest as necesssry) #2 ~
{eontroidctBvent>
¢/subject0Ofz>



{/relatedInvestigation>
< foutboundRelationship?
<subjectOf1 typeCode="SUB]">
CsontrelActEvent classCode="CACT” moodCede="EVN™>
<aythor typeCodes"AUT™>
{assignedintity classCode="ASSIGNED™>
{adde?
{etreetiddressiinedC, 3. 4. 1¢/streetaddressline?
{l-— . 3.4.1: Sender’s Street Address —>
{eity>C, 3. 4. 2{/eity>
L= C.3.4.27 Sender’ s City ~>
{statedC, 3. 4. 3{/stated
<l-= (.3.4, 31 Sender’ s State or Province —>
<faddr>
<assignedPerson classCode="PSN" detarmznerﬂode* TNSTANCE™>
{name>
<prefix>C. 3. 3. 2<{/prefix>
{1— £.3,8 2: Sender’ s Title ~>
{given>C. 3. 3. 3¢/given>
(I— €.3.8.3: Sender’ s Given Name —>
<givendC, 3, 3. 4¢/givend>
<l .3.3.4: Sender’ s Middle Name —>
<Family>C. 3. 3. 6</Family>
¢l— €. 4.3, 6! Sender’ s Family Nawe —>
{/name>
<asLocatedEntity classCodem"LOCE”>
<incation classCode="COUNTRY” determinerCode="INSTANCE">
Loode code=”C, 3. 4, 57 codeSysten="!, 0. 3166.1. 2, 2"/
i €.3,4.5: Sender’ s Country Code —>
¢/location?
. £/aslocatedEntity>
{/assignedPersond _
Crepresenteddrganization classCodas"0RG” determinerCodes"ITNSTANCE™>
<name>C, 3, 2</name>
¢}== C 3.2: Sondor’'s Organisation -~>
{/representedOrganization®
{/assignedEntity>
</authar)
¢feontrolictEventy
{/subject0fi) -
<gubjectGfl typuCode="SUB}">
{controlhctBvent classCode="CACT” moedCode="EVYN">
<id assigningAuthorityName="C. 1. 9.1.r. 1" extension="C. 1.9, 1.r.2" root="2.16, 840.1. 113883.3.989,2.1.3.3"/>
- 0, 1.9.1.r. 1! Source(s) of the Case Identifier {(repeat as necessary) #1 ~->
¢I— C. 1.9 Lr 2 Case Identifier(s) #I-->
{/controlActEvent)
</aubject0fi>
Csub jectOfl typeCode="SURI">
<controlActEvent classCode="CACT" noodCode="EVN"> :
¢id assigningAuthorityName="C. 1,9, 1. x, 17 extension="C. 1.8, 1. r. 2" root="2 16.840. 1 313883, 3,980, 2.1 8. 3"/

2l £, 5,9 1.7. 1 Source(s) of the Case ldentifier {repeat as necessary) #2 —>
¢~ €. 1.9. Lr. 2 Case Edentifier(s) #2 ——)
{/controlactBrent>’
© {/subjectOFL>

<stbject0f2 typeCode="SUBI"> )
' (investigationCharacteristic classCode="0BS" meodCode="EVN">
<coder code=™1" codeSystem="2. 16. 840. 1. 113883, 8. 988, 2, 1. 1. 23" displayName="ichReportType”/>
Cvalue xsiitype="CE” code="C. 1. 3" codeSystem="2. 16,840, 1. 113883, 3.989.2,1.1.2"/>
{l~~ C. 1.3 Type of Report -->
</investigationCharacteristic>
£/sub jectOfa>
<subject0f2 typeCode="SUB]">
CinvestigationCharactexistic classCodes"DBS™ moodCodes " EVN">
{code code="2" codeSystem="2. 16, 840. 1. 113883, 3. 985, 2. 1. 1. 237 dlsplayName— “atherCaselds” />
{value xsi:type="BL™ value="true”/>
{iw- €.1.9.1 Other Case Identifiers in Previous Transmissions —>
</investigationCharacteristic> v
¢/subjectOf> '
<{subject0f2 typeCode="SUB]">
<investigationCharacteristic classCode="0BS" moodCode="EVN™>
<code code="3" codeSystan="2. 16. 840, 1, 113883. 3. 985, 2. }. 1. 23" displayName=" nulililcat1onAmandmentCode ">
© Cyalue xsiltype="CE" code="T. §. 11,1 codeSystom="2. 16, 840. 1. 113883. 3. 989. 2. 1. L.5"/>
I €. 1.11 1 Report Nullification / Amendment -y
</investigationCharacteristic>
{/subjectdf2>



CsubjectOf? typeCode="SUB]™>
{investigationCharacteristic classCode="0BS” moodCodes"EVN™>
Ceodp code="4" codeSystem="2. 16. 840 1. 113883, 3.989. 2. i 1. 23 displayName=" null1flcallonﬁmendmentkeason /)
value Xsiitypes"CE™S
Coriginalfext>C. 1. 1t 2</originalText>
¢l— C.1. 1L 2: Remson for Nullification / Amendment ——>
{fvalued
{/investigationCharacteristic>
{/subjectol2>
Csubject0f2 typeCode="SURT">
{investigationCharacteristic classCode="0BS” mosdCode="E¥YN™>
<code code="1" codeSystem="Z. 16.840. 1. 113883. 3.969. 5. 1. 3. 2. 1. 12" displayNene="SRB07% (WMEHED "/
<value xsi:type— CE” code="J2. 12" codeSystem="2, 16,840, 1, 113883, 3.989.5. 1. 3. 2. L.1"°>
< 26072, Ja: HERIEE (MESED -
{/investigationCharacteristicd
¢/subjectBf>
{subject0f? typeCode="SHBI™>
<{investigationCharacteristic classCode="0BS" moodCode="EVN">
<oode code="2" codeSystem="2. 16, 840, 1. 113882. 3, 989. 5. 1. 3. 2. 1. 12" displayName="$EHA A"/
“<value xsi:type="T8” value="20130107"/>
I 20872.2.1: HSHER —
{/investipgationCharacteristicy
</subjectQf2>
<subject0f2 typeCode="SUB}">
{investigationCharacteristic classCode="0BS" moodCode="EVH">
{code code="3" codeSysten="2. 16.840, 1. 113883. 3. 989.5.1.3.2. 1. 12" displayNene="{REIRR B}'E&“é‘é W R
Cvalue xsittypes"BD"0J2, 2. 2</value>
- 0B322 2 WERFAETSa AV -
{/investigationCharacteristicd
</sth jectOF>
CsubjectOf? typeCode="SUBI">
CinvestigationCharacteristic classCode="0BS” moodCode="EVN™>
Ccode code="4" codeSysten="2. 16. 840, 1. 1138833, 989. 5. £. 3. 2. 1, 12" displayNeme="BNRidR4G 7 5 /7 />
Cvalue xsiitype="CE” code="J2. 3" codeSystem="2, 16,840, 1. 113883, 3,980,5.1,3.2.1.2"/>
I R0y, 3 RIERE TS -
{/investigationCharacteristic>
{/subject0f2>
</investigationEvent>
/subjectd
</controlActProcessy
</PORR_IN048016UV>
- Message #1 —>
(I Message #2 —>
<i~- PORR_IN049016UY -—>
{{== /PORR_INO490LEUV ~>
<l Message #2 —>
{receiver typefode="RCOV™>
<device classCode="DEV” determinerCode="INSTANCE” >
Cid extension="N. 1,4" root="2. 16.840. 1. 113883, 3, 989.2, 1. 3. 14"/>
¢f—- N, 1.4: Batch Receiver Identifier —>
{fdevice>
{receiver>
<{sender typeCode="SND"¥
<device classCode="DEY" determinerCode="INSTANCE™>
<id extension="N. 1.3" root="2. 16. 840. 1. 113883. 3. 989, 2, 1. 3. 13"/>
(I~ N 1.3: Batch Sender Identifier -->
<fdevice> N
{/sender>
</MCCI_INZ00100UVOL>
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.01l@xsischemalocation="urn:hi7-
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e="CACT'][@moodCode="EVNVsubjectl@typeCode="SUBJ'|[1}/investigationEvent
[@classCode="INVSTG' | [@mood Code="EVN'l/subjectOf2[@typeCode="SUBJ llinve
stigationCharacteristic/codel@code='4"ll@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.120{1]/investigationCharacteristicl@classCode="OBS'l[@mood Code="EVN'
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XPath

| IMCCI_IN200100U0V0 @IS Version=XML_1.0"{@xsi:schemalocation="urn'hl7-

orgv3d

MCCI_IN200100UV01.xsd' I/PORR,_IN049016UV{rl/controlActProcess[@classCod |
e='"CACT}H[@moodCode="EVNVsubject[@typeCode="SUBJ'|[1}/investigationEvent.
[@classCode='"INVSTG [@moodCode="EVN')/componentl@typeCode='COMP'}[adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG ] [@mo
0dCode="EVN"//subject 1[@typeCode='SBJ'][1)/primaryRole[@classCode=TNVSBJ'
VsubjectOf2l@typeCode="SBJ'Horganizer/codel@code="4'l [@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'1 1l/organizer[@classCode='"CATEGORY'l[@mood Code="E
VN'Veomponentl@typeCode="COMP'}substanceAdministration/idi{kl/substanceA
dministration[@classCode='SBADM'}[@mood Code="EVN'l/consumable[@typeCode
='CSM'[1}/instanceOfKind[@classCode="INST')/kindOfProductl@classCode="MM
AT'H@determinerCode="KIND'l/asManufactured Product[@classCode="MANU")/su
bjectOfl@typeCode="SBJ'l[characteristicl[1l/characteristiclcode[@code='11[@code '
System='2.16.840.1.113883.3.989.5.1.3.2.1.10[}{1}|@class Code='0BS 1 [@mood Cod
e="EVN/valuel@xsi:type="CE1[@codeSystem=2.16.840.1.113883.3.989.5.1.3.2.1.
3'/@code

HEH BAaEREs,. —BREEELOBESDO Y R 7Ry, EERHNERTEERERLTHD
ZEEFRT, '
R E | BES T ot — FEASBRLUCER T AL,

3




- BRI RS R HEELOBAE, ThEho B HREICoVWT [01=8—H
EIER] b [03=BTfERR] RO [2S=feFS HEER] OBk HER Ui
TBHIL, |

. EHERESEEANSREERROBEIE. TAThOBREREIC VT (04=
HBGLEREERS ) FEETAI L,

T & Al ZAN

WAE | BES B |

XPath /MCCI_IN200100UV01[@ITS Version=XML_1.01[@xsi'schemalocation="urn'hl7-
orgva

MCCI_IN200100UV01.xsd l/PORR_IN049016UVIr}/control ActProcessl@classCod |
e="CACT[@moodCode="EVN/subjectl@typeCode="SUBJI[1)//investigationEvent
[@classCode=TNVSTG'] [@moodCode="EVN'//componentl@typeCode="COMP'][adv
erseEventAssessment)[1)/adverseEventAssessmentl@classCode='INVSTG'l{@mo
0dCode="EVN')/subject1[@typeCode="SBJ'l[1}/primaryRolel@classCode="INVSBJ'
VsubjectOf2l@typeCode='SBJ[organizer/codel@code="4"[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'[1}/organizerl@classCode='CATEGORY'| [@mood Code='E
VN'T/componentl@typeCode="COMP'][substanceAdministration/idl[k]/substanceA
dministration[@classCode="SBADM'l[@mood Code='"EVN')/consumablel@typeCode
='CSM'1{1}/instanceOfKindl@classCode="INSTVkindOfProductl@classCode="MM
AT {@determiner(]odefKIND‘}[asManufacturedProduct[@ciassCode:‘MANU']fsﬁ
bjectOfl@typeCode='SBJ Happrovalll1l/approvall@classCode='CNTRCT'] [@mood
Code="EVN'/pertinentInformation[@typeCode='"PERT'] [1)/policyl@classCode="PO
LICY'|[@moodCode="EVN'/codel@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.
4'}@code

EESE | BEERES—RAEEROBAOAEERETT,

S | BEREES - REEEROBA. TNERO 8 REIC U TRIRES L D i)
7o REE R L TR 5 2 b, | .

F—5E 1A

S Bk 5 2R




XPath

{(value)

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0'll@xsi:schemalocation="urn'hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_ INO490IGUV[r]/controlAct?rocess[@classCod
e="CACTH@moodCode="EVN/subject[@typeCode="SUBJ'{ 1}/investigationEvent
[@classCode="TNVSTG 1 [@mocdCode='"EVNY/component[@type Code='"COMP'} [adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG']i@mo
odCode="EVN'/subject 1 [@typeCode="SBJ'I[1}/primaryRolel@classCode="INVSBJ'
I/subjectOf2l@typeCode="SBJl[organizer/codel@code="4'l[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.207H 1l/organizer[@classCode="CATEGORY 'H@moodCode="E
VN'] /component[@typéCodem'COMP'] [substanceAdministration/id] {k]/ substanceA
dministration[@classCode='SBADM [{@moodCode="EVN/consumable[@typeCode
='CSM'1{1)/instanceOfKind[@classCode="INST'V/subjectOfl@typeCode="SBJ'l/obse
rvationEvent{codel@code='2'1@codeSystem='2.16.840.1. 113883.3. 989.5.1.3‘2.1.10'
IH1ll@classCode="0BST[@mood Code="EVN/value[@xsi: type“'CE'] [@codeSystem
12.16.840.1.113883.3.989.5.1.3.2.1.5'1/@code

| XPath
(null

flavor)

/MCCI_IN200 100UV01{@ITSVersmanML__l.O'] {@xst'schemaLocation="urn:hl7-
orgv3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVItl/controlActProcessi@classCod
e='CACT][@mood Code="EVN'l/subjectl@typeCode="SUBJ'] [1}/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN'/component[@typeCode="COMP'|[adv
erseEventAssessment][1)/adverseEventAssessmentl@classCode=TNVSTG [@mo
odCode="EVN'Vsubject1{@typeCode="SBJ'l{ 1)/primaryRole[@classCode=TNVSBJ'
l/subjectOf2l@typeCode='SBJorganizer/codel@code='4"{@codeSystem="2.16.840.
1.113883.3.989.2.1.1.2011 [ 1/organizerl@classCode="CATEGORY' [@mood Code='E
VN'l/component@typeCode='COMP'][substanceAdministration/id][1)/substanceA

| dministration[@classCode="SBADM][@moodCode="EVN'l/consumable[@typeCode

=CSM"[1)/instanceOfKind[@classCode="INST}/subjectOfl@type Code='SBJ'l/obse
rvationEvent[codel@code="2'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
N1l[@classCode='0BS1[@moodCode="EVN'l/valuel@xsi:type='"CE'l{@codeSystem

='9.16.840.1.113883.3.989.5.1.3.2.1.5l/@nullFlavor

TH H A HEECOWT, RETHRENRETREORSETT,

ERE b #Is’z%%‘ff\% HEOPENFTT L TOARWEST., RETHEE LTHRE T L, &2
B, ETHEERIIHELRBEREAR LEZEEE, WO TRTHREL LTRET D,
HL7 kv EBSNa—FEAVWCRERT2Z &,

5o S Y HL7 =— K 10A |

FEE active== 58T

completed=5&T




XPath

/MCCI_IN200100UV01 [@ITSVersion:'XMLml.O'] [@xsi:schemaLocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'/PORR_IN0490 16UVIr}/controlActProcess[@classCod
e="CACT'] [@moodCodé:'EVN']/subject[@typeCodex'SUBJ 1{1)/investigationEvent
[@classCode="TNVSTG' [@mood Code="EVN'l/statusCode/@code

H H §1 A RETHREOBEE, RETHREOEBETRT,

EHIE L

F— M 10000J

FEE B R

XPath /MCCI_IN200100UV01{@ITS Version="XML_1.01l@xsi:schemalocation="arn'hl7-
org-v3

MCCI_IN200100UV0 l.xsd']/?ORR_INE}ziQO 16UVirl/controlActProcessi@classCod
e='CACTI[@moodCode="EVNVsubjectl@typeCode="SUBJ'|[1}/investigationEvent
[@classCode=TNVSTG [@moodCode="EVN']/component[@typeCode='COMP[adv
erseEventAssessment]{1]/ adverseEventAssessment{@classCode=TNVSTGTI@mo

0dCode="EVN'Vcomponent1{@typeCode="COMP{observationEventlcodel@code='
37[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10l][1}/observationEventi@c
lassCode="OB8'[@moodCode="EVN'/value[@xsi:type="ED'}/text(

SR DB DA

‘-—jﬁol/\;(\ $E

EEHE | B AEAERE SR I S
%,

BT IE BT REEDOS [I=EXNEN) ZRMTLI L,

Fes® | IN 5 |

FEE 1= &3 R

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalLocation="urn"hl7-
orgv3

MCCI_IN200100UV01.xsd'//PORR_IN049016UV(r)/controlActProcess(@classCod
e="CACT' [@mocd Code="EVN/subjectl@typeCode="SUBJ1[1)/investigationEvent
[@classCode="INVSTG' ) [@moodCode="EVN'l/subjectOf2[@typeCode="SUBJ"l{inve
stigationCharacteristic/code[@code="5'1[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12][1}investigationCharacteristicl@classCode='0BSl[@mood Code=EVN'
Ivaluel@xsi:type='CEH@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.6V/@code

EEHBEA | EWEREFRE LR e 1o 15\ T B R/ OB RE 217 5 B
s Th HEER T 5,
R FIE 2L




F— A Bl 10000
A B Hat#k _
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'{@xsi:schemal.ocation="urnhl7-

Ivaluel@xsiztype="ED'Vtext(

orgv3 _

MCCI_IN200100UV01.xsd’'[/PORR_IN049016UVI[r}/controlActProcess[@classCod

e="CACT@moodCode="EVN/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTGH@mood Code="EVNT1/subjectOf2{@typeCode=SUBJ ]linve

| stigationCharacteristic/code[@code='6'H@codeSystem="2.16.840. 1.113883.3.989.5.

1.3.2.1.12'1l[1)/investigationCharacteristicl@classCode='"OBS H@mood Code="EVN'

RUEEPERE DB S, TR 2443 B 6 B AEAR 0306 BEESBHEERSLE
B (TR SS s R BEME T A K T4 2] O—BEEIZ-OWT] ORI (h
WAL ZEPRPES A FI4 ) WL O RENERENELREHT S,

mEHE 2L |

5o S7 B 10000d

A =z

XPath /MCCI_IN200100UV0L{@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn*h17-
orgv3 )

MCCI_IN200100UV01.xsd'/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT][@moodCode="EVN/subject[@type Code="SUBJ'|[1}/investigationEvent
[@classCode="INVSTG ] [@mood Code="EVN'//component[@typeCode= COMPadv
erseEventAssessment) {1]/advgrseEventAssessment[@classCodem—m'INVSTG'} [@mo
0dCode="EVN'/component1[@typeCode="COMP'I[observationEventcode[@code="
4'l[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 1011} 1)/observationEventl@c
lassCode="0BS'l[@moodCode="EVN/value [@xsi:typei'E_D'}/tgxtO |

OEERSIT K B R {EE O

TH H @S W AP I D < HUE & S OXRIT OV CRRE
EE ‘ -

A L

5 2 T 10000J

HARE B B i




XPath

/MCCI_IN200100UV01 [@ITSVersion="¥M1,_1.01[@xsi:schemalocation="urn:hl7-
org-v3d ‘ _ . .
MCCI_IN200100UV01.xsdT/PORR_IN049016UV[rl/controlActProcessi@classCod
e='CACT [@moodCode="EVNT/subject[@typeCode="SUBJ'[1)/investigationEvent
[@classCode="INVSTG'] [@moodCodez‘EVN’]/component{@tybe(}ode;'COMP'} [adv
erseEventAssessment][1}/adverseEventAssessmentl@classCode=INVSTG [@mo -
0dCode="EVN'Y/component 1[@type Code='COMP'][observationEventlcodel@code='
5[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10]][1}/observationEvent[@c
lassCode='OBS'l[@mood Code="EVN/valuel@xsi:type="ED /text(

EEBEH | L OMBE L2 SEEERRT 5,

FEHT R 7L

Falab ki 10000J

HAE H B .
XPath /MCCI_IN200100UV01[@ITSVersion="{ML_1.0'[@xsi'schemaLocation="urn-h17-

orgiva

' MCCI_IN200100UV01.x5d}/PORR_IN049016UVIx}/controlActProcessi@classCod

e='CACT"[@moodCode="EVN'I/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode=TNVSTG H@mood Code="EVNl/component{@typeCode="COMP"I[adv
erseEventAssessmentl[1l/adverseEventAssessmentl@classCode="INVSTG'[@mo
0dCode="EVN'l/component1[@typeCode="COMP'l{observationEvent[code[@code='
6’ [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1. 10T} [1/observationEventl@c
1assCode="OBS'l[@moodCode="EVN/valuel@xsi:type="EDVtext( |

ERBE | RRHEEBCREEL COIRAREETT. _
Bk R BERHEBERRE LTV RWSE I, IBREREEFCRS L TVD B3 — N
_ ERETOZ L, ‘
| 7—&3 70J
FroviE H A
XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'll@xsi'schemaLocation="urn:hl7-
orgva

MCCI_IN200100UV01.xsd')/ PORR, IN049016UVIr)/controlActProcess [@_cléssCod
e="CACT'][@mocdCode="EVN'}/subjectl@typeCode='"SUBJ'|[1}/investigationEvent
{@class Code="INVSTG l[@moodCode="EVNT/componentl@typeCode="COMP']{adv
erseEventAssessmentl[1)/adverseEventAssessment[@classCode="INVSTG[@mo
odCode="EVN/subject {@typeCode="SBJ'][1//primaryRole [@classCode="INVSBJ'

VsubjectOf2l@typeCode='SBJl{organizer/codel@code='4"] [@codeSystem="2.16.840.

8




1.113883.3.989.2.1.1.20'1][1})/organizer[@classCode="CATEGORY 'l{@moodCode="E

VN'/componentl@typeCode='COMP'l[substanceAdministration/idl/substanceAd

ministration[@classCode="SBADM' [@mood Code="EVN{consumable/instanceOf
Kind/kindOfProduct/asSpecializedKind/generalizedMaterialKind/code/originalTe
xt][1)/consumablel@typeCode='"CSM1[1}/instance OfKindl@classCode="INST'|/kin

'd0fProductl@classCode=MMAT' [@determinerCode="KIND')/asSpecializedKind{

@classCode='GEN'I[1V/generalizedMaterialKind[@classCode="M ATl [@determiner
Code="KIND'l/code/original Text/text()

EESE | BRI, BB EREORBHERERIKT S,

|l FE | BRIEREARHLUTVWRVESICE, LT3,

T4 | 2N

HAE BALIRP

XPath /MCCI_IN200100UV01[@I'TSVersion="XML_1.01@xsi:schemalocation="urn:hl7-
org:v3

MCCIL IN200100UV01.xsd' J/PORR_IN049016UVIr)/controlActProcess(@classCod
e="CACT'l[@moodCo de#'E'VN'] /subjectl@typeCode="SUBJ'1[1)/investigationEvent
[@classCode="TNVSTG'] I@moodCode=‘EV_N‘]/component[@typeCodem’COMP‘]'[a'dV
erseEventAssessment][1]/adverseEventAssessmentl@classCode="INVSTG H[@mo
0dCode="EVNVsubject1{@typeCode="SBJ'1[1]/primaryRolel@classCode="TNVSBJ'
V/subjectOf2[@typeCode="SBJ'l [organizer/code[@code='11[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1. 111 [x}organizerl@classCode='"CATEGORY'] [@mocd Code
—‘EVN']/component{@typeCode—’COMP‘]/observation[@classCode:’OBS'-] [@mood
Code="EVN'l[codel@code="7"] [@codeSystem“'z 16.840.1.113883.3.989.5.1.3.2.1.10'
llivaluel@xsitype=TNT/@value :

HEHE | BRI, BEHERECRHSI TV ANBEBYRERT S,
SR | BRRETERES RN LTV ABAICE. ERAEBT S ENRTED, i, BB
| FERERRE L TOAVSAE, WREEHEEICERL TV INBREBEERT S
b, R—-OBREEHEE COBROKRBERRLTHHAE, v TRY> TR
WTAZ L, |
F— SRl 1000J
| FAE | EHR#E
XPath /MCCI INZOOlOOUVO1{@ITSVersmn””'XML 1. 0][@X81 schemaLocatmn nrn:hi7-

org-v3
MCCI_IN200100UV01.xsd'lV/PORR,_ ING490IGIN[r]/controlActProcess[@class'Cod
e='"CACT'][@moodCode="EVN'/subjectl@typeCode="SUBJ'|[1)/investigationEvent

[@classCode="INVSTG'[@moodCode="EVN1/componentl@typeCode='"COMP]{adv
. _




erseEventAssessment]{1]/adverseEventAssessment[@classCode='INVSTG[@mo

. 0dCode="EVN"V/subject1[@typeCode="SBJ'1[1)/primaryRolel@classCode="TNVSBJ'
VsubjectOf2l@typeCode='SBJllorganizer/codel@code='1TI@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'1] [r}/orgamzer[@ciassCode—’CATEGORY'}[@moodCode
="EVN'l/component{@type Code*“COMP']/observatmn{@classCode*‘OBS'] f@mood
Code="EVN'{codel@code='8][@codeSystem="2.16.840.1. 113883 3.989.5.1.8.2.1.10'
lIivaluel@xsitype="EDVtext()

TH B # A RRHERFCER SN TV IHEEBERT,

Eins A ake= IRREEENELRE LTS *2%/\ i, R AMTA I LA TE S, 2B, A%RE
BEEHFRL L TWRWESIT, %‘f?ﬁ& 5 & V@t = - FIEE &R L Ciedd 5 =
& ' '

5 & IN

FAE B 5 218

XPath MCCI_IN200100UV01@ITSVersion=XML_1.0'l[@xsi:schemalocation="urn:hi7-
orgv3

MCCI_IN200100UV01.xsd'I/PORR_IN049016UVIrl/controlActProcessi@classCod
e="CACTH@moodCode="EVN]/subject[@typeCode="SUBJ'1[1)/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN')/component{@typeCode="COMP'|[adv
erseEventAssessment][1)/adverseEventAssessmentl@classCode=TNVSTG'l[@mo

0dCode="EVN/subject1[@typeCode="SBJ'}[1}/primaryRole[@classCode="INVSBJ'
V/subjectOf2l@typeCode='SBJ'llorganizer/codel@code="11[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1. 11'll[x)/organizer[@classCode='"CATEGORY']{@mood Code
='EVNY/component[@typeCode='COMP')/observationl@classCode="OBS'1[@mood

Code="EVN'llcodel@code="9'l{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1. 10"
ivaluel@xsi:type="CE'll@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.71/@cod

€

T Ry ——

IE B %88

EE Wakea s BT 2 7 A B TS ERVBHEAIE True=H ) &, VWRVEEIT
[False=1) Z®RNTHZ L

T FE 7= 10A

AR true="H
false =%
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XPath

/MCCT_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemal.ocation="urn’hl7-
orgv3 '
MCCI_IN200100UV01.xsd'}/PORR_IN0490 16UVIr}/controlActProcess|@classCod
e='CACT][@moodCode="EVN'/subjecti@typeCode="SUBJ'|[1}/investigationEvent
[@classCode="INVSTG'[@mood Code="EVN'l/component[@typeCode='"COMP'] [adv
erseEventAssessment]{1]/adverse EventAssessment[@classCode=TNVSTG[@mo
odCode="EVN/subject1[@typeCode="SBJ'[[1}/primaryRole[@classCode="INVSBJ'
l/subjectOf2l@typeCode="SBJ Horganizer/code|@code=" 11[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11'l] [r}/organizer[@classCode='CATEGORY ' [@mood Code
=EVN"/component[@typeCode='COMP')/observation[@classCode="OBS'l{@mood
Code="EVN'[code[@code="10"}[@codéSystem="2.16.840.1.113883.3.989.5.1.3.2.1.1

0'll/valuel@xsiitype="BLl/@value

= BE,

RROBE . M E OBIERS M EREEEE S LT TE 2 b0 Th HBAR

15 B #tH
‘ Sekn, F OMOBEIIEER &+ 5, ICSRER O Ei.2.1b BlfEA,/AEFR (MedDRA

= F) L REE-ST B, BWERSIRA - BERmE M 5T 5, (FRIROMBFEE.,
AFHBED (8. FOMOBBEERSHEIRLUCOEESE; © (1) 2387
BT kL)

EHiFE | - FEMDBIRLUTRET LI L,

F—F% | 1IN '

B A{E 1=3£40
2=BE5n

XPath | /IMCCI_IN200100UV01[@ITSVersion=XML_1.0'[[@xsi:schemal.ocation="urn:hl7-

| erseEventAssessmentl[1]/adverseEventAssessmentl@classCode="TNVSTG[@mo

orgvd

MCCI_IN200100UV01.xsd' l/PORR,_IN0490 16UV{r]/controlActProcess[@classCod
e='CACTH[@moodCode="EVN1/subject[@typeCode="SUBJ'|[1VinvestigationEvent
[@classCode="INVSTG@moodCode="EVN'V/component[@typeCode="COMP'}{adv

0dCode="EVN'/subject 1l@typeCode="SBI'[1}/primaryRolel@classCode=TNVSBJ’
l/subjectOf2[@typeCode='SBJ observationlidlcodel@code='29"][@codeSystem="2.
16.840.1.113883.3.989.2.1.1.1911][i}/observation[@classCode='0BS H@mood Code=
"EVN/outboundRelationship2l@typeCode="PERT'] [observation/code[@code="11'}{
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2. 1. 10][1)/observation{@classCode=
'OBS [@moquode_ﬁ'EVN’]Nalue{@xsiitype='CE'] [@codeSystem='2.16.840.1.11388
3.3.989.5.1.3.2.1.8/@code

s RS EBERRE 5 T, BB TRENENAR ST 3 BE.

NREEITRT,
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s | EHa— F‘yb:%ﬁ@jf;mw FEBRIRLTER TS &,
WoeiRs 0EE ., MEF/SOREE S ORI, %Eﬁﬁﬁ%%ﬁ)@%naﬁﬂ“é &,
. %@W*‘%‘%ﬁmﬁ)% . EBAToEEEREE TS L, |
BERFICROT, EEEOHNYRICL > TR—OHBER R EEE, 1 20O#H
L LTHELTELIZARY, ToORICIREREL 1 FRICRE L, BV IELER
HALT, ZBHLUBILZOMOARERTHT DO &,
%E, B—oEBIME TR S EESIE., SEAREICYVWTEBIERET 5,
DERTIE, ﬁﬁ%&%@?&@:’mfféﬁMu]aa.*éﬁﬁ;@étﬁl%*a@ﬁ“/“’ ko MR %&m
AEENEEH DEEITEREVRELEFBTSZ
R, EEOHBARSRRIBEE. E'J%ﬁ%&“ﬁ“éi &,

e 7 2A ‘ '

HFAE ISO 8166-1 TA7 7-2 DE=— K

XPath /MCCI_IN200100UV01{@ITSVersion="XML_1. O]{@xm schemalocation="urn:hi7-

orgv3a
MCCI_IN200100UV01.xsd' l/PORR_ 1No49016UV[r]/contmlActProcess[@classCod
e='CACT") [@moodCode="EVN'V/subjecti@typeCode='"SUBJ I[1]/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN']/reference[@type Code="REFR[docu
ment/code[@code="2"] {@codeSystem=42. 16.840.1.113883.3.989.2.1.1.27][x)/docum
entl@classCode="DOC][@moodCode="EVN I/participation[@typeCode="AUT"l/assi
gnedEntity[@classCode—'ASSIGNED']!representedOrganization[@classCodeﬂ'OR
Gl@determinerCode="INSTANCEV/asLocatedEntityl@classCode='"LOCE1/locatio
nl@classCode="COUNTRY'l[@determinerCode=INSTANCEV/codel@codeSystem=
'1.0.3166.1.2.2'/@code

o

et R A EHERE OB E. %“3/?%}3 DORIEDOE R er“r'ﬁ‘

IR L

F—sH 500

A =REEGE 19 ' _

XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'll@xsi:schemal.ocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'//PORR_IN0490 1BUV[r]/controLActProcess{@classCod
e='"CACT}H@mood Code="EVNY/subjectl@typeCode="SUBJ'][1]/investigationEvent
[@classCode="INVSTG T [@mood Code=EVN'/component[@typeCode="COMP'l[adv
erseEventAssessment][1)/adverseEventAssessmentl@classCode=INVSTG[@mo

0dCode="EVN'l/component1[@typeCode="COMP"}[observationEventlcode[@code="
12)[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10']1[1)/observationEventl@
classCode="0BS [@moodCode="EVN'l/valuel@xsitype="ED'/text(




EESH | HRBKEOEE. TEERRER ) L THERRRME B ORlERT,
st Wk R O '
75 1IN
A 1=BRER SR, ST
2= R SR, W5
XPath /MCCI_IN200100UVO01[@ITS Version="XML_1.0'][@xsi’schemalocation="urn’hl7-

orgv3 ‘ ‘
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVir)/controlActProcess[@classCod
e='CACT][@mood Code="EVN'l/subjectl@typeCode="SUBJ [ 1)/investigationEvent
[@classCode="INVSTG{@moodCode="EVN/referencel@type Code="REFR'] [docu
ment/codel@code='2"][@codeSystem='2.16.840.1.113883.3.989.2.1.1.27']][r)/docum
ent{@classCode="DOCH@moodCode="EVN'|/title/text()

IE H A ICSR M EEE OMBA Z =T,
| sedorE | BSTBOE A B S ERERR AN L BB 5,
F—Z% | 100J |
A SRR 7
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'] [@xsi‘schemaLocation="urn‘hl7-
org:v3

MCCI_IN200100UV01.xsd'[/PORR_IN0490 16UV[3?] lcontrolActProcess[@classCod
e='CACT H@moodCode="EVN'|/subjecti@typeCode="SUBJ' ][ 1}/investigationEvent
[@classCode="INVSTG'| [@mood Code="EVN'l/subjectOf1[@typeCode='"SUBJ Hcont
rolActEvent/primaryInformationRecipientl{1}/controlActEventl@classCode='CAC
T'l@moodCode="EVN'l/primaryInformationRecipient[@type Code="PRCP'}/assign
edEntityl@classCode='ASSIGNED /represented Organization[@classCode="ORG']
[@determinerCode=TNSTANCE/mame/text() '

TH E #iH ICSR ODZRIEEDEEXETRT,

Rk WaReA HEE SR T 5,

T Bl 100d -

FrAE B R

XPath /MCCI_IN200100UVO01[@ITS Version=XML_1.0'l[@xsi'schemal.ocation="urn:hl7-
org'vd '

MCCI_IN200100UV01.xsd'I/PORR_IN049016UV[rl/controlActProcessl@classCod
e="CACT][@moodCode="EVN/subject{@typeCode="SUBJ'{ 1}/investigationEvent
[@classCode="INVSTG'l[@moodCode="EVN'V/subjectOf1 [@typeCode="SUBJ'l [cont
rolActEve nt/primaryInformationRecipient][1)/controlActEvent[@classCode='"CAC
T[@moodCode="EVN/primaryInformationRecipient{@typeCode="PRCP')/assign
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edEntity[@classCode='"ASSIGNED V/assignedPersonl@classCode="PSN'l[@determ
inerCode="TNSTANCE'l/name/prefix|1}/text(

EHME | ICSR OZEFOEETRT,

BHHE | BROEREOE LR 5,

F— 5 100J

A E B R .

| XPath MCCI_IN200100UV01{@ITSVersion=XMIL_1.0'] [@xsischemaLocation="arn:hl7-
org:v3

MCCI_IN200100UV01.xsd' /PORR_IN049016UV{r}/controlActProcessl@classCod
e='CACT][@moodCode='"EVN'l/subjectl@typeCode='"SUBJ'][1}/investigationEvent
[@classCode="TNVSTG'] [@moodCodew'EVN'}fsubjectOfl f@typeCode='"SUBJ Hcont
rolActEvent/primaryInformationRecipientl{1}/controlActEvent{@classCode='CAC
T'l[@moodCode="EVN')/primaryInformationRecipient[@typeCode="PRCP']/assign
edEntityl@classCode='ASSIGNEDV/assignedPersonl@classCode="PSN'l[@determ

inerCode='INSTANCE'l/name/family[1]/textO :

EEHH | ICSR OREFOLETFT,

T s BHOBEROL EZTERT D,

7 100J

FFAE B B , :
XPath /MCCI_IN200100UV01[@ITSVersion=XML,_1.0'l[@xsi:schemalocation="urn:hl7-

| MCCI _IN2001000UV01.xsd'l/PORR_IN0490168UV(rlcontrolActProcessl@classCod

org-v3

e="CACT'] [@moodCoéem'EVN'}fsubject[@typeCodew'SUBJ'}.[l]linvestigationEvent :
[@classCode="INVSTG'][@moodCode="EVNY/subjectOf1[@typeCode="SUBJ}[cont
rolActEvent/primaryInformationRecipient][1}/controlActEvent[@classCode="CAC
T@moodCode="EVN'l/primaryInformationRecipient(@type Code="PRCP')/assign
edEntity[@classCode='"ASSIGNED')/assignedPerson[@classCode="PSN'l[@determ
inerCode=TNSTANCE'/name/givenl1]/text()

HE A FfE B

s 2L

Ak | 10000J

FrAE El B BT

XPath | MCCI_IN200100UVO01[@ITSVersion="XML_1.0'l{@xsi:schemaLocation="urnhl7-

org-va

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcessl@classCod
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e="CACT'l{@moodCode="EVNl/subjecti@typeCode="SUBJ'|[1)/investigationEvent
[@classCode="TNVSTG[@moodCode="EVN'] /component[@typeCode='COMP'}_[adv
erseBventAssessment][1)/adverseEventAssessment(@classCode="TNVSTG'][@mo
odCode="EVN")/component1[@typeCode='"COMP'[observationEvent[code[@code="
131[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 1011} [1}/observationEvent(@
classCode='"OBS'l[@moodCode="EVN'l/valuel@xsi:type="ED"/text(

T ER

TH B LA

A IE 7L

7 & Bl 10000dJ

HRE ERERbun

XPath /MCCI IN200100UV01{@ITSVersmn—'XML 1. 0][@xs1 schemaLocation="urnh17-
org'v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr)/controlActProcessi@classCod
e='CACT1[@moodCode="EVN'/subjectl@typeCode="SUBJ'][1]/investigationEvent
[@classCode="INVSTG[@moodCode="EVN')/component [@typeCode='COMP[adv
erseEventAssessmentl[1]/adverseEventAssessmentl@classCode="INVSTG'][@mo
| 0dCode="EVN'//component1[@typeCode='COMP'] {observationEventlcode[@code='
147[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2. 1. 10T 1l/observationEventl@
classCode="'OBS'H@mood Code="EVN"}/value[@xsi:type="ED'l/text( -

H B THER

SRR IE 7wl

F—&% | 10000J

FFAE H B ek ,

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi:schemalocation="urn:hl7-
orgva

MCCI_IN200100UV01.xsd l/PORR_IN049016UVIx}/controlActProcessl@classCod
e='CACTN@moodCode="EVN/subject[@typeCode="SUBJ'l[ 1})/investigationEvent
[@classCode="TNVSTG] [@moodCode="EVN/componentl@typeCode="COMP|[adv
erseEventAssessment][1l/adverse EventAssessmentl@classCode=INVSTG [@mo
0dCode="EVNY/component1[@typeCode='COMP"|[cbservationEventlcode[@code="
15'[@codeSystem='2.16.840.1.113883.3. 989.5.1.3.2.1.10']]][1]/obsewauonEvent{@ B

H H @A TEEH
FLET I L

—rs

10000J
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HRE SRk
XPath !MCCI_IN%OlOOUVOl[@ITSVersion#'XMLml.O'_} [@xsi:schemal.ocation="urn’hl7-

org'v3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV{r)/controlActProcessl@classCod
e='CACT'[@mood Code="EVNV/subjectl@typeCode='"SUBJ][1)/investigationEvent
[@classCode="INVSTG' [@moodCode="EVN"/componentl@typeCode="COMP'[adv
erseEventAssessment][1]/adverseEventAssessmentl@classCode="TNVSTG'l[@mo
0dCode="EVN"/component1[@typeCode='COMP{observationEventlcode[@code=' -
16'H{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1. 10711[1//observationEventl@
classCode="OBS ] [@mood Code="EVN'I/valuel@xsi:type="EDl/text()
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